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Q.No: 1 Which of the following will form ion-bond?
2407564

(i) Pairof two atoms, with electronegativity difference=1.3
(i) Pair of two atom with electronegativity difference=0.8

(iii) Pair of two atoms with electronegativity difference = 1.9

frofofed & § S 9 smae-sy Fe?

(i) TOCHA FOMcHSAT 3R & T G RATIHT T IFH = 1.3
(il) TAET FOTcHeRCT 3T & T2 &1 SATUT &1 I8 = 0.8
(i) Tz FoTcHeaT 3a¥ & T &1 AT &1 ZIH == 1.9
Only (i)

»ad (i)
Only (ii)

Had (i)
Both (ii) and (iii)

T (i) 8MR (iii)
Both (i) and (ii)

QT (i) 3R (ii)
Correct Ans : C

Subject : Chemistry

Q.No: 2 Choose the wrong statement regarding resonance and its characteristics.
2407582

SFATE IR 3! RSt & Tay W TTad By BT 997 BRI

There exists equilibrium between different canonical forms.

fafim Fifred = $ 9 9 Aeg @

Canonical forms do not have any real existence.

PP U BT DS IRAAP SfRTT T8 &

C Only resonance hybrid has the real existence.
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Fad IATATE YPT T IRANAS AT B

Bond lengths in a molecule becomes equal because of resonance.

TG b PHRUT (U] A §¢ P} AaTg IR & oIl

Correct Ans : A

Subject : Chemistry

Q.No: 3
2407583

Which of the following is correct regarding bond order?
I. Bond order does not change in molecules or ion exhibiting resonance.
II. Bond order changes in case of molecule exhibiting resonance.

III. Bond order changes in case of ions exhibiting resonance.

Frofifad & @ $F 1 9y fRufq & Ty 7§ et 82
1. 3HTE YeRid B arar Sfujafl ar o & s fRufy 1t s 1
I1. 3] TS UeRid 7 & 7ma ¥ dy R sgorar &

111, 3TE ekl B3 ard et & Ame & sy Ry sea o g1
Only II

»ad II
Both (I) and (III)

(1) 3R (1II1) 3=F
Only I

»ad I

Both (II) and (III)

(I1) 3R (III) Y

Correct Ans : D

Subject : Chemistry

Q.No: 4
2407588

Choose the correct order of force.

4 BT HG! HH I

Electrostatic force = hydrogen bond = vander waal’s force.

feRdega oo > g53ITe 941 > ais<ard ad|

hvdrogen bond > Covalent bond > vander waal’s force.

TISaIod de> gadisls ael> disidard ad |

Electrostatic force > covalent force = hydrogen bond.



SoFCI [eah ol Teadlas g = gI5slald g

vander waal’s force = covalent force = hydrogen bond.

aisdld dcl > gadiaich gl = gIegiald ae]|

Correct Ans : A

Subject : Chemistry

Q.No: 5  Choose correct statements regarding to sp-hybridisation.
2407595

(i) one s” and one ‘p’ orbital belonging to same main shell of an atom mix-together to form two new
equivalent orbitals.

(ii) Each hybrid orbital formed has 50% S-character and 30% - p character.

(iii) Each hvbrid orbital formed has 40% S-character and 60% p-character.

(iv) Itis called diagonal-hybridisation.

Td-EEEERH ¥ Yey § TE HYH g

(i) U IRAT] & UF &1 H{ET HIeT F Hafeld T 's' 3T v 'p' Fas 3799 A Hea af A0 gAded

FaTd gl B
(i) SeTey OTel Tcdich Hah haTdh 3 50% s-avof 3T 50% - p AT giaT ol

(iii) IS Uceh G FhaTdh # 40% s-ao7 HR 60% p-aoTgidT o
(iv) 59 faFol-daurasd 61

(i), (ii) & (iv)

(i), (ii) 3R (iv)
(i), (iii) & (iv)

(i), (iii) 3R (iv)
(i) & (iv) only

Fad (ii) 3R (iv)
(i) & (iv) only

Fad (i) 3R (iv)
Correct Ans : A

Subject : Chemistry

Q.No: 6 Example of compound/molecules having & bond-pairs and 1-Lone pair, and 4-bond pair and 0-Lone
2407596 . . -
pair will have shape and respectively.

8 T YA 3R 1 U A arer Ale 310031 & 3em6R0T 3R 499 ZeA 3R 0-vawa g H &
HTHR AU 3R grami

Tetrahedral, Trigonal pyramidal.

egrega, R fvifrs

B Trigonal pyramidal, Tetrahedral.



Freifiy firifis, Sesa

Trigonal bi-pyramidal, Tetrahedral.

Frepivfty f3-frifirs, eeRea

Tetrahedral, Trigonal bi-pyramidal.

erega, Baivha -frifrs
Correct Ans : B

Subject : Chemistry

Q.No: 7  Which of the following is strongest base?

2407709
FrafifEd & § B Yo Aoed &R 87
NH;
A
NH:
OH-
B
OH-
Oy
C
Oy
Sz
D
S,

Correct Ans : A
Subject : Chemistry

Q.No: 8 Find the pH of the final solution when equal volumes of 0.2 M NaOH and 0.02 M of HCI are mixed?
2407711

3ifa faer &7 pH 1T HIT ST 0.2 M NaOH 3R 0.02 M HCl & SRIeR Hd- fAam S €2

17.0
A

17.0

19.2
B

19.2

12.95
(o}

12.95

16.98
D

16.98

Correct Ans : C

Subject : Chemistry



Q.No: 9 Which of the following pairs will make a buffer?

2407713
Fufafad & & $H-91 g IR FAe?
NaOH and NacCl
A
NaOH and NacCl
HNO: and NH4NO:
B
HNO; and NH4,NO:
HCI and KCI
C
HCI and KCI
HNO; and NaNO;
D

HNO; and NaNO;

Correct Ans : D

Subject : Chemistry

24%07:71‘35 What is the AH value for an endothermic energy change-
FeATYT FSAT Gad= & oI AH A =7 §
Always negative
A
A BUTEHD
Always positive
B
A YATHS
Could be positive and negative
Cc
YT 3R BUTHD & Ahal &
Depends on the potential energy of reactant
D

fieRe $ Rufw S w ik sear

Correct Ans : B

Subject : Chemistry

Q.No: 11 In a face-centered cubic arrangement, how many octahedral and tetrahedral holes are there per unit cell?
2407976

Th Hod-Higd o7 TR F, U 318 HIRIHT § fhe swhasia R agupae ™ % g 82
1,5



3,3
c
)
4,8
D
4,8

Correct Ans : D

Subject : Chemistry

.No: 12 . . L. .
2407978 What is the sodium coordination numberin Na,O ?

Na,0 # OIfZTe goeay &A1 FAT8?

6
A

6

4
B

4

8
Cc

8

2
D

2

Correct Ans : B

Subject : Chemistry

Q.No: 13 The angular momentum of the electron present in the 3s and 3p orbitals is:
2408427

3s 3R 3p Her! H IURG Fed HT HIUT T 3!

2R |'ﬁ

4 ’\4'21:

= [
am r_‘I m



—h

(13— /5 —

v 2m’ 2
D

—h — h

(3— /5 —

v 211"\' 2

Correct Ans : B

Subject : Chemistry

Q.No: 14 Which of the following gives a suffocating gas when treated with dilute HCI?
2409093

9 & § HF go0 a9 HCl & 1Y fhaT 3 R T crdig 719 &l 92

Carbonate
A

FIEHE

Sulphite
B

HepIge

Sulphate
Cc

|ethe

Borate
D

ke

Correct Ans : B

Subject : Chemistry

24'\(')‘;01,_._,58 AgCl react with NH3 forms a complex —
AgCI, NH, % Trer T < U Sl F11% J7dT 2 ol g -
AgNO3
A
AgNO3
Ag NH>Cl
B
Ag NH>Cl
Ag (NH3)2Cl
c
Ag (NH3) Cl
Ag mirror
D

Ag =T



Correct Ans : C

Subject : Chemistry

Q.No: 16 Lead sulphate is soluble in which solvent

2409102
S e g # I B e # e g 3-
Ammonium acetate
A
sifram wiRe
Conc. HNO3
B
#iz HNO3
Ammonium hydroxide
C
ST FTEgTRIES
Conc. HCI
D
|ig HCl

Correct Ans : A

Subject : Chemistry

Q.No: 17 e i ;
5409108 ‘> Black sulphide is formed by the action of H)S on -

H,s 18§ T food o 1Y fobd Hb PIell YehI3S ST 6-

CuCly
A

CuCly

CdCly
B

CdCly

ZnCly
C

ZnCly

Nacl,
D

Nacl,

Correct Ans : A

Subject : Chemistry

Q.No: 18 T
3400115 COCly is



CoCl, BTG -

Pink
A

et

Black
B

et

Green
Cc

I

Colourless
D

RUGIE]

Correct Ans : A

Subject : Chemistry

‘224'\(‘)%21291 An organic compound contains 40%C, 6.66%H and rest oxygen. Its empirical formula is:

U e AtfiiE A 40%C. 6.66%H 3R 9 sifariisiear g1a1 8 | ST sigsasiea qA b:

CH,
A
CH,
CH,0
B
CH,0
CHO
C
CHO
CHO,
D
CHO,

Correct Ans : B

Subject : Chemistry

24'\&‘;22207 An aliphatic carboxylic acid of moleuclar formula C,H,0, on reaction with PCl; gives a compound Y. Y
when heated with sodium salt of the acetic acid produces

C,H, O, FTITEA Th T WieTthi <o el |19 (oo 57+, PCl, o |19 ST AT HL ATND Y 2aTgl Y 5l
TET T 375 o AT % 979 TH FLd ¢ Al o7 gl e

Ethyl acetate

o thike



Ethyl ace’oacetate

B
e qRretRie
Methyl methanoate
c
Ay AATE
Ethanoic anhydride
D

&P TTeTsSISS
Correct Ans : D

Subject : Chemistry

Q.No: 21 Succinic acid is a functional group isomer of
2409256

Flafes 3w fpaiee 9Hg THEEd! B
Tartaric acid
A
TRERS o BT
Lactic acid
B
AfFes st &1
Glycol diacetate
c
RSP SIFURICT BT
Dimethyl oxalate
D

AR SifRde &1
Correct Ans : D

Subject : Chemistry

Q.No: 22 The general formula of dicarboxylic acid is
2409267

SEPTEIGYTeD 3% BT YA G &

(COOH),
A
(COOH),
(CH,),(COOH),
B
(CH,),(COOH),
(CH,),_, (COOH),
C

(CH,),,_; (COOH),

P (CH,),,_4 (COOH),



(CH,),_4 (COOH),

Correct Ans : B

Subject : Chemistry

Q.No: 23 Blue litmus can be turned to red by the compound-:

2409281
A Rrera @) o1 1 & seaq aran 9ifte ?:
ROH
A
ROH
RNH,
B
RNH,
RN*H,OH-
c
RN*H;OH-
RN*H;CI
D
RN*H,CH

Correct Ans : A

Subject : Chemistry

Saou=  When nitrobenzene is heated with -fuming HNO; and conc. H,S0, the product would be -
EEIRIEE T YA AT IeH 7 T4 A% H,S0, T 91 L T6d1 STam 2 a7 a7 2
T.N.T.
A
T.N.T.
T.N.B.
B
T.N.B.
D.D.T.
c
D.D.T.
T.EL.
D
T.E.L.

Correct Ans : B

Subject : Chemistry

Q.No: 25 Select the reaction in which diphenyl thiourea is formed as the product :
2409294



Sefefed & STethfal yriigfean & arelt sifiifsan 1 = Sife:

CgHgNH, + S
A
CgHgNH, + S
CgHeNH, + KpS
B
CgHeNH, + KoS
CgHzNH, + CS,
(o)
CgHzNH, + CS,
CgHeNH, + NH,HS
D

CEHSNHE + NH4HS

Correct Ans : C

Subject : Chemistry

Q.No: 26 With carbonyl chloride, aniline forms the product :-.
2409297

Preie RIRZS P WY Yl et 2
(CgHsNH),CO

(CgHgNH),CO

CgHeNC

CgH:NC

CgHzCN

CgHzCN

CgHzCNO

CgH:CNO

Correct Ans : A

Subject : Chemistry

QNo: 27 The derived name of the compound CH3 - C=C-CH3 is
2409407

AMf#fid CH3-C =C-CHj &7 gcdeed o § -

A B-butyne



p-=geTsa

Unsymm, dimethyl acetylene

B
SAfT STERfda Thifed=
o-methyl propyne

C
o-HTHe WIaTSel
Dimethyl acetylene

D

STEARE TRifeed=

Correct Ans : D

Subject : Chemistry

Q.No: 28 0
2409410

Il
The [UPAC name of compound CH sCH;OCCH,CH,CH, is:

0
I
wifrs CH,CH,O0CCH,CH,CH, @ upACamT £ -

Propyl propanoate

A
Wt wiee
Ethyl butanoate
B
Tie sgeHige
Propyl butanoate
c
Nt sge=iee
Ethyl propanoate
D

T YiHe

Correct Ans : B

Subject : Chemistry

Q.No: 29 Trivial name of 2,3-dihydroxy butanedioic acid is
2409411

2, 3-STE TR FAST 3N5H T T F¢ TH § -

Malic acid
A
afere s
Tartaric acid
B

TR v

C Citric acid



WHifew sra

Lactic acid

AfFes e

Correct Ans : B

Subject : Chemistry

‘224'1(;43304 The maximum number of acyclic isomers for an alkene with molecular formula C4Hg is -

CqHg §F aﬁuﬁa%aﬁwwmﬂ’ra’rﬂﬁ%-

2
A

2

3
B

3

a4
(o]

a4

5
D

5

Correct Ans : C

Subject : Chemistry

Q.No: 31  How many structural formula are possible for C5H11Clis :-

2409438
CsH11Cl & forder SXaacAs TATTAdT g g -
6
A
6
8
B
8
10
C
10
12
D
12

Correct Ans : B

Subject : Chemistry



Q.No: 32 The number of geometrical isomers in case of a compound with the structure CH3-CH = CH-CH

2409440 — CH-C,Hs is -
CH3-CH = CH-CH = CH-CHs arel diffies & foraey sanféde gamaadr @og ¢ -
4
A
4
3
B
3
2
Cc
2
5
D
5

Correct Ans : A

Subject : Chemistry

Q.No: 33 The raw material used in the Solvay process for the manufacture of sodium carbonate comprises of
2409582

Jied v 7 AfsaH Frae & fin § o= uard & w9 # wh 5 S g -

Sodium chloride and carbon dioxide

A
JNEAH FARSS TYUT BT ST TS
Ammonia and carbon dioxide
B
ST aUT P 3T SifTaTES
Sodium chloride, limestone and ammonia
(o)
AfEa FARIgS, T BT U/ a7 AT
Sodium chloride, limestone and carbon dioxide
D

TfETH FARIZS, T BT URR TUT BT STS-ATHIZS

Correct Ans : C

Subject : Chemistry

Q.No: 34 Which of the following is wrong?
2409585

Frofeiad & @ e oy Tad § -

Reducing character of alkaline earth metals increases from Be to Ba

aTRIT Hel OTg3il & HU=e 0T Be & Ba ddh Aghdl adlel 1 ydid =edl &

B Be(OH); is amphotoric in nature



Be(OH), afa & Femgeradf ¢

The solubilities of sulphates and carbonates decrease with increase in atomic number of

alkaline earth metals

AT Hel 91g3il & GAY] HHG deol & AUA-A Sk Hethe duAl @lderel ol faeadr gedr #

BeCly has much higher mp and insoluble in organic solvents

BeCly 1 Telelieh 3= glal & A2l J§ Sleicieh [derdenl A Hgeraaie 8

Correct Ans : D

Subject : Chemistry

Q.No: 35 When chlorine water is added to an aqueous solution of sodium halide in the presence of chloroform, a violet colouration is obtained. When more of
2409605 (horine water is added, the violet colour disappears and solution becomes colourless. This confirms that sodium halide is -

TR @1 SufRifa § Tifsan Femgs & el e & qaRF Sfd fyam R ST 31 9971 21 ST i Hr § 9aRiF Sfd fyard § df fiags S S e 8 o § 3R

forerer T €1 el & FE < § o Wiea garss -
Chloride
A
RINTES
Fluoride
B
TYHRTES
Bromide
C
EIL IS
Iodide
D

STASTZS

Correct Ans : D

Subject : Chemistry

Q.No: 36 Astatine is the element below iodine in group VII A of the periodic table. Which of the following statements is not true for astatine?
2409607

3Tad IRUt & 7 VII A TRfed, mdH & - fya €, Fafofaa & o oy teefeq & ol 9t & & -

It is less electronegative than iodine

A

g AASH | F9 fggasol §

It will exhibit only - 1 oxidation state
B

TP Pad - 1 ATRIHT AT

Intermolecular forces between the astatine molecules will be larger than between iodine molecules
c

TR ¥ sRaNnfUas aa IS 3u] &Y rde ifis &

D It is composed of diatomic molecules



Tg fFRmfvas v s § |
Correct Ans : B

Subject : Chemistry

Q.No: 37 The substance used in the thermite process for reducing metal oxide is -
2409646

B yerf BT TN UTg SES F Suhe F yHise UHH § a1 9T 8-

Aluminium
A
Tyt
Thorium
B
4ifva|
Heated Pt gauge
c
T #1 7 Pt U
Carbon
D
EacE!

Correct Ans : A

Subject : Chemistry

Q.No: 38 The aim of addition of flux along with the ore during smelting is -
2409647

TATEH %GR 3% &b 91U e (flux) B e &1 329 2-

To reduce the melting point of metal

A
HTg & TAAID B HH BT
For increasing the boiling point of metal
B
UTg & YIS B TgHT
To make ore porous
c
3P B! Bfga (Porous) ¥9 T
To remove the impurities
D

Il BT gR HA
Correct Ans : D

Subject : Chemistry

Q.No: 39 Which of the following statement is correct regarding the slag obtained during the extraction of a metal like copper or iron?
2409654

g & P BYF B uTg S BIR T 3MRA & o1 & SRA U 41gAd (slag) & G A AT # -

The slag is lighter and has higher melting point than the metal

YT B g | UTGHS ol qUT TUPT Te-iP I gial 2



The slag is lighter and has lower melting point than the metal

HTg B g1 B UTGHS BT qUT THPT IS $4 gl g

The slag is heavier and has higher melting point than the metal

Tg B gaT B UTgad U qUT SAPT TA-ih 3o giaT

The slag is heavier and has lower melting point than the metal

Tg Bt ga B UTgHe U TUT SHBT TS HH giar 2

Correct Ans : B

Subject : Chemistry

Q.No: 40
2409697

When the same amount of Zn is treated with excess of H50, and excess of
NaOH separately, the ratio of the volume of hydrogen evolved is -

@ Zn T TATS FTAT T H;S0. o AT 70T NaOH o 3TTEe I Jeleh-geh
5T i AT B, A Had §1gsiaie & 3TIde &l HIdTd g1eT-

1:1

3]
[

3]
[

9:-4

Correct Ans : A

Subject : Chemistry

Q.No: 41
2409700

In a transition series, as the atomic number increases, paramagnetism -

Tepnur oft §, AT FHG 96 & A STEH@-

Increases gradually

M- aeard

Decreases gradually

N-N aear

First increases to a maximum and then decreases

g SHH qP dgaT & e vear &

First decreases to a minimum and then increases



g Py 9% vear & R Tear @

Correct Ans : C

Subject : Chemistry

Q.No: 42

3409772 The compound CsH,00 can show thefollowing isomerism:

I. Metamerism
II. Functional isomerism

III. Positional isomerism

i C4H1p0 e vFR Fir FETEEaar guiar ¢ -

1. HeATagadn
11. forarete Wg SHaaaar

111. R oragaan
Only II

Had IT
Both (I) and (III)

(1) 3R (111) =Y
Both (I) and (II)

(1) 3R (11) S=F
All (), (II) and (III)

[t (1), (II) and (III)
Correct Ans : D

Subject : Chemistry

Q.No: 43 Only 2 monochloroderivatives (isomeric) are possible for -
2409773

FHad 2 TF FaR! ufarird ( garendh) e ol ane ge

n-butane
A
n-sge
2, 4-dimethyl pentane
B
2, 4-STEAMYE 9T
benzene
Cc
ERCiE]
2,2-dimethylpentane
D

2, 2-SEARE =
Correct Ans : A

Subject : Chemistry



Q.No: 44  What will be the wavelength related to an electron moving with a velocity of 108 cm/s?
2746267

U Soldgl= 108 THNHS o 99T I 31T & 16T & SIS TFaierd adaT e & T grai?

728 A
A

728 A

6 A
B

6 A

89 A
C

89A

9.28 A
D

5.28 A

Correct Ans : A

Subject : Chemistry

Q.No: 45 If there is a loss of mass equivalent to 0.01864amu in a nuclear reaction, how much energy will be emitted?
2746295

& et sififhar # 0.01864amu & TAJET So0wH I B it B, df IaRid Sott @ gnft

931 MeV
A

931 MeV

186.6 MeV
B

186.6 MeV

17.36 MeV
C

17.36 MeV

460 MeV
D

460 MeV

Correct Ans : C

Subject : Chemistry

Q.No: 46 What type of alcohol is glycerol?
2746391

RIRIT 5 UBR &7 Teblgd 82

Primary alcohol

WS Tepigd

Monohydric alcohol



HHIETEEE twpied

Secondary alcohol

o Tepiga

Trihydric alcohol

TRETRIS® Tedigd

Correct Ans : D

Subject : Chemistry

Q.No: 47 Which of the following is industry prepared by passing ethylin into hypochlorous acid?
2746392

TR F griieeRy o § aTed gRT g # @ $H oifelfie TR W ST S 82
Ethylene glycol

A
TRt T
Ethylene oxide
B
o sifawres
Ethylene dinitrate
c
TRt sTETRee
Ethane
D
DL

Correct Ans : A

Subject : Chemistry

Q.No: 48 Sodium aur potasium salts of higher fatty acids are called-
2746411

JR I G F QST a1 U RIGH 790 FEA §-

Soap
A
g
Terpenes
B
qARGA
Sugars
C
T
Alkaloids
D
Taddiss

Correct Ans : A

Subject : Chemistry

Q.No: 49 Ammonium acetate reacts with acetic acid at 110°C to form-
2746412



HAITTH videc &1 viafes 3rer & @ner 110°C 9 37 foraT ATT ar aadar -

Acetamide
A
HECEIES
Formamide
B
BRAATES
Ammonium cyanate
c
S AT
Urea
D
i

Correct Ans : A

Subject : Chemistry

Q.No: 50 The number of atoms in the cyclic structure of D-fructose is-
2746413

S-1peeiel BT THIY T H URAIY Bl T 8-

5
A

5

4
B

4

6
Cc

6

7
D

7

Correct Ans : A

Subject : Chemistry

Q.No: 51 The Government has set ......... per cent blending target for mixing ethanol with petrol by 2022 & ......... per cent blending target by 2030
2405851

WHR A 2022 & Uerd § AT e &7 ......... U= $iR 2030 T ........ wfa=ra i dea Fuffa faman g1

5,10
A
5,10
10, 20
B
10, 20
15, 30
c

15, 30



20, 40

20, 40
Correct Ans : B

Subject : Agriculture

Q.No: 52 The share of agriculture and allied sectors in Gross Value Added (GVA) of the country at current prices is per cent for the year 2019-20. (based on
2405852 provisional estimates of national income released by CSO on 29th May, 2020)

9 2019-20 ¥ frE Aeer Bl W A F Gba Ged aftia (Sdle) F HiY R Gog & F R@ed vl 1
(29 7%, 2020 T YTHSH GRT IR AT ST F SR STAM & MR W)

17.8
A

17.8

16.8
B

16.8

16.6
C

16.6

17.6
D

17.6

Correct Ans : A

Subject : Agriculture

Q.No: 53 is currently the only approved GM technology seed in India-
2405854

T B YR & THHE Wied Shed Wit b 8-

Bt potato
A

i 3

Bt cotton
B

té pure

Bt brinjal
c

Eicicuc]

Mushroom
D

HIR=H

Correct Ans : B

Subject : Agriculture

Q.No: 54 Green revolution was launched in five year plan.
2405855

R wifd BT gosma GerasTa dror & g8 ot

A Fourth



First
B
ugdr
Third
c
T
Second
D
il

Correct Ans : D

Subject : Agriculture

Q.No: 55 Sweet revolution is related to which of the following?

2405857
it wifa fFafared & @ fray ¥efia 32
Honey cultivation
A
[ES B |
Fruit cultivation
B
Tl ot Wt
Sugar cane cultivation
c
T FT @t
stevia cultivation
D

wifear a5t @t

Correct Ans : A

Subject : Agriculture

Q.No: 56 Which of the following is not correct in reference to fertilisers?
2405859

IRe! F dou # Fafifed § 3§ o @ w71 82

They are rich in one nutrient.

A
3 T N 9 @ WER g B
They are produced in factories.
B
3 FREF A I g F
Urea, potash and ammonium sulphate are some example of fertiliser.
c
i, e iR I Wekhe IWRE & T IS B
Excessive use of fertilisers doesn’t reduce soil fertility.
D

IRP F i ST | Frgh Y dar w0 78 @ 2



Correct Ans : D

Subject : Agriculture

Q.No: 57 When was the Health Card Scheme launched by the government of India?
2405860

HRA PR GRT WA FTS Ao Ha JE B Tg A2

2013
A

2013

2014
B

2014

2016
C

2016

2015
D

2015

Correct Ans : D

Subject : Agriculture

Q.No: 58 What is the name of the portal launched by Government of India for marketing organic products?
2405861

S Iaret % fAUuH & RT YR IR gRT L& T T8 GIéd &1 A1 71 32

indiaorganic.in

A
indiaorganic.in
organicIndia.in
B
organicIndia.in
jaivikkheti.in
C
jaivikkheti.in
indianseed.in
D

indianseed.in
Correct Ans : C

Subject : Agriculture

Q.No: 59 Which is the following is the objective of Pradhan Mantri Kisan Mandhan Yojana (PM-KMY)?
2405862

Fofifed § B uue 9 Rewe A Qo (Rr-$unars) ST 3oy 87

To provide electricity subsidy to farmers

framt @t foereht wfrst wem w37 & frg

B To provide loan to Small and Marginal Farmers (SMFs)



B 3R HHid fFaF) (THTHTG) B BT UGH $39 & g

To provide health insurance to Small and Marginal Farmers (SMFs)

Bie IR Wi fFaFl (THTATE) ' Wred 41 YeH Her

To provide old age pension to Small and Marginal Farmers (SMFs)

Bt R Wi fFAFT (THTATE) F FEERIT T UM A & forg
Correct Ans : D

Subject : Agriculture

Q.No: 60 In which of the following places in India is the Seed Research Centre located?
2405865

uRd # Frafiied 3 9 fow v W 9 sy Fs fRud 82

Varanasi
A

RO

New Delhi
B

7% feeeht

Chennai
Cc

EES)

Kanpur
D

PR

Correct Ans : A

Subject : Agriculture

Q.No: 61 What is sodium chlorate?

2405866
Wfsam 3dike 7w &2
Herbicide
A
TG
Pesticide
B
DA
Manure
C
drq
Insecticide
D
Plea=s

Correct Ans : A

Subject : Agriculture



Q.No: 62 The milk fat content of coffee cream is %, which produces unstable foam
2406340

P B T Y S a9 B A % Bl B, S SRR 9T I Bt §
20

20
30

30
33

33
36

36
Correct Ans : A

Subject : Agriculture

Q.No: 63 The temperature of the cream at which neutralizer is added should preferably be
2406341

g # R Fgarger fdmn S § IuHT aumE S g9 e

15-20°C
A

15-20°C

29 - 32°C
B

29 - 32°C

32.~37°C
C

32~ 37°%C

37 - 40°C
D

37 - 40°C

Correct Ans : B

Subject : Agriculture

Q.No: 64 Fermentation of cream is referred to as

2406342
P F fHuad B Fe1 o §
Neutralization of cream
A
P BT deRABIT
Standardization of cream
B

I BT AFD B0

C Ripening of cream



I BTGB

Churning of cream

W BT HYT
Correct Ans : C

Subject : Agriculture

Q.No: 65 The milk fat in table cream varies between
2406343

9 B T gU & a9 B AE H e e 8
20 - 25%

20 - 25%
30 - 40%

30 - 40%

40 - 50%

40 - 50%
50 - 60%

50 - 60%
Correct Ans : A

Subject : Agriculture

Q.No: 66 Percentage of SNF in cream can be calculated as
2406344

P T TS $ Ufd=Id BT UM 39 GBR BT S Jeball §

100 + % fat in cream  x % SNF in milk
100 + % fatin milk

100 + % HHE A TAT x % G H THUATH
100 + % g # aar
100 - % fatin cream x % SINF in milk

100 - % fat in milk

100 - % hIA A TAT  x % G H THUATH
100 - % & & gr

100 + % fatin milk x % SNF in milk
100 - % fat in cream

100+ % G H GET  x % ¥ A THTATH
100 - % shTH 3 4T

D 100 - % fatin milk x % SNF in milk
100 + % fatin cream



100 - % T & GHIx % G & THUATH
100 + % 1 7 F&r

Correct Ans : B

Subject : Agriculture

Q.No: 67 Plastic cream contains fat content in the range of

2406345

®Re B T G B A ... F e F At B

10— 15%
A

10-15%

20-40%
B

20-40%

30-35%
C

30-35%

75— 85%
D

75— 85%

Correct Ans : D

Subject : Agriculture

Q.No: 68 Growth of proteolytic bacteria in cream, leading to casein breakdown may lead to
2406346

P § NAAE® SRl B 9ig, TR &9 & BRU 8 Gobdl &

Bitter flavour

A
DET H|iq
Barny flavour
B
i w@g
coarse acid flavour
Cc
FRCY S BT WG
cheesy flavour
D

TR &1 w@rE
Correct Ans : D

Subject : Agriculture

Q.No: 69 Which of the following is used as a preservative in butter
2406347

e B ufRed & w0 & Fefifed § § feger Suan fear e 8

A Common salt



HHET THD

Sugar
B

Cicii

Sodium Bicarbonate
c

[NfEgH TEPEAe

Calcium Hydroxide
D

P sEgiTEs
Correct Ans : A

Subject : Agriculture

Q.No: 70 In accordance with the PFA (1976), the minimum fat% in butter should be
2406349

HUHT (1976) F TIR, HHRET H AT ..o % I B AfeT
60

60
70

70
80

80
90

90
Correct Ans : C

Subject : Agriculture

Q.No: 71 The diacetyl content required in butter to give a mild flavour is
2406351

TaE H gewh! WG & & Y SMaxas SgeRd A 3

0.2 to 0.6 ppm

A
0.2 9 0.6 HidiwH
0.5 - 1.8 ppm
B
0.5 - 1.8 Uifiun
0.7 - 1.5 ppm
C
0.7 - 1.5 thfiey
1.5 - 2.0 ppm
D
1.5 - 2.0 fifiew

Correct Ans : A



Subject : Agriculture

Q.No: 72 Gritty’, a defect in butter is due to excess of
2406352

TR H T I, i fohge! sifiidr & R gl 82

moisture
A
0
fat
B
qar
colour
c
Eul
salt
D
JHD

Correct Ans : D

Subject : Agriculture

Q.No: 73 The temperature for commercial cold storage of butter is
2406353

THeRg & qIfvoue d HSRU BT Iuged dIgHM §
-239C to -299C

A
-23°C ¥ -29°C g
-15°C to 20°C

B
-15°C ¥ 20°C &
20°C to 23°C

C
20°C §23°%C d&
23°C 10 25°C

D

230C ¥ 25°C d&h
Correct Ans : A

Subject : Agriculture

Q.No: 74  The minimum % of fat in ghee is

2406355
T A T R AdH % 8
80

A
80



90

99.8
C
99.8
99
D
99

Correct Ans : C

Subject : Agriculture

Q.No: 75 The proportion of permitted antioxidants in butter oil or ghee in India is
2406356

R # Hae aa a1 ff 7 TéefaiiSe &1 ofgad U §

0.01%
A

0.01%

0.02%
B

0.02%

0.03%
C

0.03%

0.05%
D

0.05%

Correct Ans : B

Subject : Agriculture

Q.No: 76 Heating of ghee prevents hydrolytic rancidity by destroying the enzyme
2406359

g B T HAT . TSTSH & I8 B TUP GISSIAed SR &Y Advdl §

invertase

TaeH

lipase

B

lipoxygenase

RratefioRw

protease

s

Correct Ans : B

Subject : Agriculture



Q.No: 77 The recommended temperature for the storage of ghee is
2406360

o & HeRU & A SRR aowE §
-50C

10 °C
15°C

15 0C
210C

21°C
Correct Ans : D

Subject : Agriculture

Q.No: 78 The most suitable neutralizer for ice cream is
2406362

SR % RIT T TG gaEoR &
Calcium Carbonate
A
Fiexraw e
Ammonium Bicarbonate
B
A FgHTEe
Magnesium Carbonate
c
WHifrm Fee
Sodium Bicarbonate
D

WfEH aEPHEAe
Correct Ans : D

Subject : Agriculture

Q.No: 79 ‘Soggy’, the body defect in ice cream is caused due to
2406363

g A TR A, e fFEP SR gl &

high sugar content

I A arEht

low sugar content

w9 9+ wrh



low over-run

wY aR-3

low stabilizer content

HH RIAgerR IRl
Correct Ans : C

Subject : Agriculture

Q.No: 80 Horticulture word is derived from

2406503
e (I o) Weg el & feran 7/ &
Latin word
A
dfe wg
French word
B
Eakic
Greek word
Cc
e g
English word
D
EPEIRE

Correct Ans : A

Subject : Agriculture

Q.No: 81 Indian institute of Horticultural Research is located at
2406506

Lucknow

qGTSH

Bangalore

EUGIH

Delhi

Punjab

LIS

Correct Ans : B

Subject : Agriculture

Q.No: 82 Marmalade is a product that is prepared from
2406507



TR 3G fFa dgR foran o 8

Bael
A

EG

Citrus
B

Rrggw (Freg-am)

Mango
C

3

Aonla
D

3figer

Correct Ans : B

Subject : Agriculture

Q.No: 83 Art of training plants into different shape is known as
2406509

el BT S-S SHHR H ST A P} Hell B T gl oIl &

Hedge
A

EE

topiary
B

<ifed

edge
c

Ly

Bonsai
D

g

Correct Ans : B

Subject : Agriculture

Q.No: 84 High density planting first time practiced in
2406514

I U AUV UBH IR P fpar T o

Europe
A

Lol

India
B

HRd

China
c

9=

D USA



EUSLY
Correct Ans : A

Subject : Agriculture

Q.No: 85 Modified stem of Banana is

2406541
A BT TS T S
Sward sucker
A
WIS B
Rhizomes
B
eI
Water suckers
c
gfex "%
Corm
D
Eat]

Correct Ans : B

Subject : Agriculture

Q.No: 86 Runners are the plant material which is used for propagation of
2406542

IR I8 Uy Al § S fopads aeeafa oo # Ted @1 ol 82

Banana
A
Far
Strawberry
B
e
Pineapple
c
STAH
Ber
D
w

Correct Ans : B

Subject : Agriculture

Q.No: 87 Guava is planted through the medow orcharding at the spacing of
2406544

et gt TP SRS b1 U P AT F T S B

Ix3 m?

3x3 m?



2x1m?

B
2x1m?
4x3m?
Cc
4x3m?
3x2 m?
D
3x2 m?

Correct Ans : B

Subject : Agriculture

Q.No: 88 Which of the plant growth hormone is mostly used during the vegetative propagation?
2406545

FTGRI-USHA & SR HIF °T UGy g 81 SHdaR Ugad faar S 82

GA3
A
GA3
Auxin
B
Siffea
Ethylene
Cc
RG]
ABA
D
ABA

Correct Ans : B

Subject : Agriculture

Q.No: 89 Which of the following soil is required for the Mango crop?
2406546

3 B HIA & e & F P B A B sravawar g 72

Black Soil
A
et forgt
Alkine Soil
B
&g firgt
Mix of Black and Alkine soil.
Cc
FTelt 3R &g frgh a1 fgyo
Sandy Loam soil
D

ags drwe fgh

Correct Ans : D

Subject : Agriculture



Q.No: 90 Inarching is also known as
2406547

e By seT Bl 5T g A I off ST ST ®

Side grafting

A
HIgS AR
attached grafting
B
e TR
tounge grafting
c
wedge grafting
D

e wfREaT

Correct Ans : B

Subject : Agriculture

Q.No: 91 Chicken tongue disorder mostly found in
2406548

Rrep1 & fegaiis iR fad urar ST @

Mango

3H

Litchi

o

Apple

Aonla

e

Correct Ans : B

Subject : Agriculture

Q.No: 92 Micro propagation is mostly done in
2406549

A o SHfAIpaR fered g &
Mango
A
amm
Banana
B
Far

Cc Apple



Guava

T
Correct Ans : B

Subject : Agriculture

Q.No: 93 Mound layering is also known as

2406551
I8 T HY 37 b g § o ST S
Stool layering
A
g aafar
Chinese layering
B
EIERIE R IR
serpentine layering
c
| aafear
tip layering
D
feu dafer

Correct Ans : A

Subject : Agriculture

Q.No: 94 Development of embryo without fertilization is known as
2406630

8= & fomT Yo &1 fasra o= S §
Parthenocarpy
A
rdreTdf
Parthenogenesis
B
AR
Apomixis
C
TR
Polyembryony
D

T
Correct Ans : C

Subject : Agriculture

Q.No: 95 Hard wood cutting is mainly done to propagate
2406633

TS g8 BT IRA TU ¥ ! awfa-us- & & o 31 ot §



Mango

A
S
Pomegranate
B
SR
citrus
c
KiLEEA
Ber
D
w®

Correct Ans : B

Subject : Agriculture

Q.No: 96 There are major branches of horticulture
2406636
o i SR  [-c | L
2
A
2
3
B
3
a4
c
a4
5
D
5

Correct Ans : B

Subject : Agriculture

Q.No: 97 Vegetable production for local consumption is:
2406637

T @ud F R esht Iure 1 gl &
Market gardening
A
TR FEET
Home gardening
B
W SREr
Truck gardening
C

TP FEEHL

D Vegetable forcing



afSeaa wikfn
Correct Ans : A

Subject : Agriculture

Q.No: 98 Papain is mainly obtained from

2406638
OO e = 9§ fud U b o §
Papaya
A
Tdfiar
Jackfruit
B
hced
Bael
C
I
Aonla
D
3fiqelt

Correct Ans : A

Subject : Agriculture

Q.No: 99 Central institute of Arid Horticulture is situated at
2406640

P T AR SR el W UG 3

Lucknow

qEGTSH

Bikaner

EicgEr

Punjab

Delhi

et

Correct Ans : B

Subject : Agriculture

Q.No: 100 Central Potato Research Institute (CPRI) is located at
2406641

HET 3o 3THYH IR (CPRI) Hel R 3

Agra



Varanasi

B
TRTOTH
Shimla
C
e
Delhi
D
feweit

Correct Ans : C

Subject : Agriculture

Q.No: 101 Which of the following fruit has maximum export from India to Foreign countries
2406642

Profafad 3 3 by v & yRd 3 B § efiewdw Frafd g @

Grape
A

IR

Mango
B

3

Banana
c

Far

Walnut
D

TR

Correct Ans : B

Subject : Agriculture

Q.No: 102 Which one of the following fruit products has maximum export from India
2406643

fafifEd 7 ¥ 59 va Iae &1 YRd J Faifte Fafa g 22

Mango pulp
A

A uey

Mango pickle
B

3TH T AR

Cashewnut
c

DI

Potato chips
D

3 & e

Correct Ans : A

Subject : Agriculture



Q.No: 103 Term viticulture is used for

2406644

fafeepeer wea fbwds fog wrge foan iren &

Mango cultivation
A

ST B Wt

Grape cultivation
B

SR A AR

citrus cultivation
c

WECH BT WA

Litchi cultivation
D

R @t @

Correct Ans : B

Subject : Agriculture

Q.No: 104 Multistorey cropping system, involving fruits and spices, is practised in
2406646

el 3R ATE! Bl AT B gU TG e JulTeht T SUANT Hel fpar oirar §

Bihar & Uttar Pradesh

A
faErR ok W ww
Karnataka & Kerala
B
Feled R FRa
Punjab & Gujrat
c
e 3R TeRTd
Madhya Pradesh
D

e W

Correct Ans : B

Subject : Agriculture

Q.No: 105 Which of the following system of training of grapes has high cost benefit ratio
2406647

AR T ¢ @t Fofiea & ¥ 5w yoneh & ard Y ogud 3= §

Bower
A

CIGHN

Head
B

L]

C Kniffin



st

Trellis

afr

Correct Ans : A

Subject : Agriculture

Q.No: 106 Mangosteen is widely propagated through

2406740
FIEH ®! forw fafy J oo w0 4 waa o it 82
Grafting
A
e
Seed
B
i
Budding
C
af&a
Layering
D
aafer

Correct Ans : B

Subject : Agriculture

Q.No: 107 T - budding is also known as

2406744
A-TETB v % & § oft T S B
Forkert budding
A
BIHE FrET
Chip budding
B
g afé
Ring budding
Cc
o afEa
Shield budding
D

<hes afém
Correct Ans : D

Subject : Agriculture

Q.No: 108 In North India grape pruning is done a year for its better growth and fruit setting
2406746

IR URT & R 3} Fers af & P ST § A 3P JER IS B IR WA T W |



Once

A

TP IR

Twice
B

FIR

Thrice
c

= ar

4 times
D

IR R

Correct Ans : A

Subject : Agriculture

Q.No: 109 Guava is commercially propagated through
2406747

3FREC Bl AEEIe w0 9§ by &l & yanfa fvar o g2

Air layering
A

TR Fafer

Grafting
B

iR

Stooling
C

e

budding
D

i

Correct Ans : A

Subject : Agriculture

Q.No: 110 Litchi is commercially propagated by
2406748

GRS ¥ A o< BT UgR g &R grI fean S 82

Root cutting

A
FC BT
Air layering
B
TR AT
Seed
c
e

D Mould layering



Hies dafar

Correct Ans : B

Subject : Agriculture

Q.No: 111 The best time for ber pruning

2406789
R FeR F oY Ta 30T TWI B W 87
Summer
A
Hrera
Spring
B
qHd

Rainy season

AT BT {99

winter season

Tdl &1 9|

Correct Ans : A

Subject : Agriculture

Q.No: 112 Farming on Dry Land Cultivation of crops is done in areas receiving how much rainfall?
2406855

T Y R et o auf arer &5 § wuet B Al B e 27

less than 750 mm

A
750 fnft. @ v
above 750 mm
B
750 firfl. @ FWR
above 1250 mm
Cc
1250 firft. ¥ FW
above 550 mm
D

550 finft. @ W

Correct Ans : B

Subject : Agriculture

Q.No: 113 Rice and Bajra are the example of which type of cropping?
2406856

el IR SR 59 UHR B U b I 87
Mixed Cropping

ffta waa



Augmenting crop

B
B FerT
Mono-cropping
C
HH-wad
Parallel Cropping
D

JHHIR BHA
Correct Ans : C

Subject : Agriculture

Q.No: 114 Crops such as ragi, bajra, moong, gram and guar (fodder crops) grows in which types of farming?
2406857

IfY, STRT, T, =41 3R WR (IR ) Ot B 69 TR b1 Bt § IE o €7

Dryland farming

A
T oy St
Wetland farming
B
amdyfr
Rainfed farming
C
IR Wt
Parallel farming
D

JUHR Wt
Correct Ans : B

Subject : Agriculture

Q.No: 115 Which of the following is not the type of mulches?

2406858
fuffaa § & SH-91 Hed B UBR e 82
Soil mulch
A
gt it w0
Stubble muich
B
W Hed
Straw muich
c
k)
Spray mulch
D
et o

Correct Ans : D

Subject : Agriculture



Q.No: 116 In crop rotation deep rooted crops should be succeeded by which type of crops?
2406860

B T H T SIS arell Bl & 91C fHY TSR B B I =iee?

Shallow rooted crop

A
Iyl s AT wEA
Dicot rooted crop
B
v s areht woa
Grains rooted crop
c
3T B OIS aTelt BId
Foliage rooted crop
D

TRGR WS arelt B

Correct Ans : A

Subject : Agriculture

Q.No: 117 Which one of the following is considered to be the immediate economic benefit of crop rotations?
2406861

fFafafad # 3 53 wud 9% &1 depiae sife Ty JmFT o 82

Improved Yields

A
IgR YR
Crop Yields
B
a1 dgaR
Soil Fertility
c
TaT I
Socio-Economic Condition of farmers
D

foramt @Y armfres-anfie Ry
Correct Ans : A

Subject : Agriculture

Q.No: 118 Which of the following is the reason for marginal leaf drying in rice?
2406869

Frofafed & 9 o1 9aq & dHid T & g 3T SR g2

sulphur deficiency

JABY B HH

potassium deficiency

weRrw Ft

C nitrogen deficiency



ATgieH Bt Bt

iron deficiency

3MRA &1 HH

Correct Ans : B

Subject : Agriculture

Q.No: 119 How much water is required for rice crop (Agricultural Crop) in Surface Irrigation Methods?
2406870

gag! Rarg AR & ar9d ot vaa (PR vaa) F o B it 3 srazawan gt 82

1000 mm
A

1000 3t

1250 mm
B

1250 &t

900 mm
C

900 fipft

500 mm
D

500 fipft

Correct Ans : B

Subject : Agriculture

Q.No: 120 ‘Whip tail’ in cauliflower occurred due to which nutrient?
2406871

parmht § ey 2o [y dives da & SR T 872

Magnesium deficiency

A
Wik 3 w0
Molybdenum deficiency
B
Tiferss @t Fit
Potassium deficiency
c
ureRrw #t FHt
Zinc deficiency
D

foiw @t o
Correct Ans : B

Subject : Agriculture

Q.No: 121 Which tree is known as “King of Trees"?
2406872

5T U5 1 "UST BT IS FET Sl &2



Teak

A
&iw
High Fertility of Soils
B
frdt Y 3= Sdvar
Late onset and early cessation of rains
c
R A = B oIk T F St g
Inadequate and uneven distribution of rainfall
D

Tt @1 rvafe 3R SR faavor

Correct Ans : A

Subject : Agriculture

Q.No: 122 Which of the following is not the principles of organic agriculture?
2406873

a3 B a1 Siae i o1 Rigid T 82
Principle of health
A
TRy o1 R
Principle of care
B
@ 1 fria
Principle of fairness
c
Freagrar @1 Rrgia
Principle of Inadequate and uneven distribution of rainfall
D

qut & qaie iR FH fyawor &1 Rigia

Correct Ans : D

Subject : Agriculture

Q.No: 123 How much percentage of rainfall in India is received during monsoon period?
2406876

HRA & aui BT RedT U= HYH S & e ST 82

60%
A

60%

75%
B

5%

80%
C

80%



30%
Correct Ans : C

Subject : Agriculture

Q.No: 124 are unwanted and undesirable plants which interfere with the utilization of land and water resources and thus adversely affect human welfare.
2406877

faifesd SR e dd § S yffr 3R o Jene b U F &7 STerd & 3R 9 YR HIMd Bedlul W Hidge THIE Sed g

Nutrient
A

Hv®

Weed
B

ERUAAR

Irrigation
Cc

Riarg

Tillage
D

g

Correct Ans : B

Subject : Agriculture

Q.No: 125 The tropical sugarcane region consists of sugarcane agro climatic zone includes how many peninsular zone in the states of Maharashtra, Andhra Pradesh,
2406878 Tamj| Nadu, Karnataka, Gujarat, Madhya Pradesh, Goa, Pondicherry and Kerala?

SR T & T T B Taarg & W 2 R TRy, Sy Uew, aiarg, e, TR, T Yaw, T, Uit ofR R st & fran uragidta e i ¥

5
A

5

4
B

a4

3
Cc

3

7
D

7

Correct Ans : B

Subject : Agriculture

Q.No: 126 Which of the following is the main cereal crop in India?
2406879

i & ¥ $F YRd H T A 3T HUd 32

A Sorghum



Maize
B

HEPT

Wheat
(o)

g

Rice
D

EICK)

Correct Ans : C

Subject : Agriculture

Q.No: 127 Soyabean + maize, or finger millet (bajra) + cowpea (lobia) this is an example of which of the following?
2406890

T + HaobT, I1 SIoRT (SToRT) + aifedr (Aifsan) g Feiifed § ¥ feaer Iaeu 82

Inter-cropping

A
FER-ITRT
Multi-cropping
B
9g-pad
Animal Husbandry
Cc
LBICINE]
Poultry farming
D

PIPC UTS
Correct Ans : A

Subject : Agriculture

Q.No: 128 What is the share of marine products export to the total agricultural exports of the country?
2408181

20 P oo Y Fafa 7 T Iaret & Fafa o fewn feaT 22

10%
A

10%

13%
B

13%

15%
Cc

15%



17%
Correct Ans : D

Subject : Agriculture

Q.No: 129 What is India's world ranking in terms of forest and tree cover?
2408182

T 3R geff & 3R & AWA H HRT BT Ay IH w7 @2

S‘Lh
A

Sth

’?th
B

’?th

Sth
C

Sth

10t
D

10t

Correct Ans : D

Subject : Agriculture

Q.No: 130 Which state Legislature recently passed a Land Reform bill related to the ownership of the farmlands?
2408183

BT & & forw v & fayrded 3 By yft & Wit § Teifta 4ty guR fadge wiia s g2

Bihar
A

faer

Karnataka
B

iy

Andhra Pradesh
c

ST v

Madhya Pradesh
D

T U

Correct Ans : B

Subject : Agriculture

Q.No: 131 Recently GOI has sanctioned a loan of Rs. 3,971 crores at a subsidised interest rate under micro-irrigation Fund (MIF) to which Indian state?
2408185

B € H YRd PR 7 {5y URAT o9 &) e R SIv (MIF) F ded Ramd & @R R 3,971 HRIS 393 &1 B Wigd fbar g2

A Karnataka



PAled

Andhra Pradesh

B
STy
West Bengal
c
ofim s
Tamil Nadu
D

aftrerArg

Correct Ans : D

Subject : Agriculture

Q.No: 132 The area has sown under Kharif crops reached at , an all-time high in 2020?
2408187
% waal & dgd ST T & R UgE T 8, S 2020 T € qF $T IATH TR §
?

102.5 million hectares

A
102.5 faftrA IRW
105.7 million hectares
B
105.7 ffemA 3RW
108.2 million hectares
(o}
108.2 fafer FRW
110.6 million hectares
D

110.6 AT FRW

Correct Ans : C

Subject : Agriculture

Q.No: 133 Which state leads with Minor Forest Produce (MFP) procurement of 20,270 tonnes worth Rs 52.80 crores in 2020?
2408188

B TT AT 2020 F 52.80 HRIS IUT &F 20,270 T BT AT a7 IUS (TATHTY) TS b Y 3T §2

Odisha
A
siifE=m
Chhattisgarh
B
ERIER
Jharkhand
C
IRES

D Madhya Pradesh



e Y

Correct Ans : B

Subject : Agriculture

Q.No: 134 The safest method of disposing off the left over pesticide is, disposal by

2408575
9 §U PICARD B U BT Fod GRidd i R fuer g1
pouring in the drain
A
areft § s
pouring in a pond
B
qreTs & STeT
pouring in a moving stream
c
Teredt URT A STAAT
burying in the soil
D

forgy & e
Correct Ans : D

Subject : Agriculture

Q.No: 135 Which of the following types of manually operated sprayers are suitable for spraying 4 to 5 metre tall plantations?
2408577

FEfid & I H I THR F Hged TU I I VIR 4 ¥ 5 Hex SI JeRI0 & fysoa & oy Suge 82

Hand compression sprayer

A
g1y ftes TR
Foot sprayer
B
Pe VR
Rocking sprayer
c
AHT VR
Foot and Rocking sprayer
D

Pe 3R BT B

Correct Ans : D

Subject : Agriculture

Q.No: 136 How many mango trees will be accommodated with a spacing of 5.0 m 5.0 m in an area on Hectare?
2408579

T& gacdR H 5.0 Hiex 5.0 Wex & g8 W e oM & Us T SIE?
400 tree/ha

400 95 / SRW



750 tree/ha

B
750 ¥5/FRW
800 tree/ha
C
800 U5/3RW
850 tree/ha
D

850 U5/3RW

Correct Ans : A

Subject : Agriculture

Q.No: 137 Which one of the following pairs is correctly matched?

2408581
fafefed & & o a1 7w a9 gafea 82
Common cost - Cost associated with variable resources
A
T ARTE - GRad-g St 8§ 98t anra
Average cost - A study of returns and costs
B
3ia anTa - e iR @ @1 Uw s
Marginal cost - Additional cost to produce an additional unit of output
(¢
Wi anT - ITeT $Y U sifafkad 391 & Sare & g sifafRe amma
Prime cost - Cost related to fixed resources
D

U ARTd - e SreET @ et ana
Correct Ans : C

Subject : Agriculture

Q.No: 138 Which one of the following pairs of NOT correctly matched?
2408582

frafefed & & o a1 gw adt gafea et 2

Elasticity of greater than unity - State II classical
A

TPl ¥ S & @ - I 1T AR

Negative marginal product - State III of classical
B

BUTHS AT IeTG - ARAG BT 3794 111

Negative elasticity production - State III of classical
c

BUTHS T IATGT - AN PT I 11T

Average product decreases but is production function State II of classical
D

3N ST Tedl & AP ST Bad § AR BT AT 1T
Correct Ans : A

Subject : Agriculture



Q.No: 139 Concept of social control was introduced in the year”
2408583

TSR FRI0T Y AU Y 98 | U= faar T ur

1974
A

1974

1894
B

1894

1971
C

1971

1990
D

1990

Correct Ans : B

Subject : Agriculture

Q.No: 140 Insects with the sucking type of mouth parts need which of the following groups of insecticides for effective control?
2408584

A I HE F S I PIST B yuredt R F fow SteAmret & FHufofed ¥ 3 few T #Y saxgswsar gt 8?2

Stomach poisons

A
e WeY
Systemic poisons
B
TOTTSTe T8
Contact poisons
c
HUS STeY
Fumigants
D
wfreH

Correct Ans : B

Subject : Agriculture

Q.No: 141 Which one of the following stages of insecticides is under integrated control system is applied
2408585

THIgd FH=0T Jonelt & d8d Plerre! & Hufeiad wol & § 1= ar ar] fear s g2

General equilibrium level

AR o WX

Economic threshold level

e gaeliel W

C Economic injury level



e &fty o1 wR

Total loss level

P I ®R
Correct Ans : B

Subject : Agriculture

Q.No: 142 WWhich one of the following is the richest source of Vitamin “A™?
2408586

Tafafed § T EertaT A &7 999 995 90 2?7

Banana
A

Far

Wheat
B

E

Rice
c

CICE)

Mango
D

3N

Correct Ans : D

Subject : Agriculture

Q.No: 143 “Aphids’ in mustard can be controlled by the use of:
2408587

W A Trg &l ...l ¥ W I Fafa fhar o S 21

Malathion
A
Bt
Vitavex
B
[ECEES]
Thiram
c
iR
Bithane-Z
D
faum-ss

Correct Ans : A

Subject : Agriculture

Q.No: 144 The colour of the healthy root of rice is:
2408588



White
A
g
Bluish grey
B
== 3
Reddish brown
c
T AT
Green
D
=

Correct Ans : A

Subject : Agriculture

Q.No: 145 Maize-toria-wheat -moong rotation is termed as a system of :

2408589

TSBT-ARAT-TG-T ACIA BT ... gunelt & ¥ § ST ST B

mixed cropping

A
fafia v
relay cropping
B
fa waa
multiple cropping
(o]
qg W
intercropping
D

BT
Correct Ans : C

Subject : Agriculture

Q.No: 146 Origin of brinjal is:

2408591

T B AR B

Africa
A

SBIPT

India
B

HRd

China
Cc

9=

D South America



gféror st

Correct Ans : B

Subject : Agriculture

Q.No: 147 The devastating pest Hypothenemus hampeiis responsible for heavy economical loss to which of the following plants?
2408595

7 A I g 1 B 4 o JHar & T RARer Fe sRudnhy g ferR &2

Cotton plant

A
FUNE BT Rl
Tea plant
B
T FT W7
Brinjal plant
c
T BT R
Coffee plant
D

PG wie
Correct Ans : D

Subject : Agriculture

Q.No: 148 Which of the following animals exhibit Polyestrous?
2408596

i & @ o1 91 TR uiciued velifa &= 82

Cattle
A

wash

Swine
B

LIRS

Goats
c

it

Cattle and Swine
D

waeh ok T

Correct Ans : D

Subject : Agriculture

Q.No: 149 The Kashi Sudha variety represents improved variety of which of the following crops?
2408597

Hrft gur frw Fafifed & 3 fow wad 31 I9d fhet o1 ufafifia st 32

Cow pea

P13 HSY



Pigeon pea

B
fire weR
Green Pea
c
plE kA
Garden Pea
D

MEA HeR

Correct Ans : D

Subject : Agriculture

Q.No: 150 The temperature zone in which the birds are able to keep their body temperature constant with the help of physical heat regulation is known as
2408600

R qrowe 87 § ual Wifde au Fae &1 gerdr ¥ 30 TR & aigHH Bl RR @ § a1 8§, S8 ., & =Y § S S 2

Lowest Critical temperature
A

rAAH Hgequl qreA

Highest Critical temperature
B

Faaw TR arETE

Critical temperature
Cc

iR are=

Thermoneutral zone
D

yAfged S
Correct Ans : D

Subject : Agriculture

.No: 151 .
(224004849 £3C; +3C4=1Cy, then n =?

gfe sc; +8Cy =2Cy, dln =2

8
A

8

4
B

4
(¢

9

6
D

6

Correct Ans : C



Subject : Maths

Q.No: 152

2404852 If nP4 = 7920., then find nC4.

gfe =p, = 7920, @l *C, T DI

165
A

165

330
B

330

495
C

495

660
D

660

Correct Ans : B

Subject : Maths

Q.No: 153 In how many ways can ten students be seated around a circular table so that three students always sit together?
2404855

& JAIGR B & IRI 3R <9 el & fba aliet 3 Sorm o @ § & 3 faemdf 9= we w982

7!
A

7

7131
B

7131

2.7!
C

2.7!

3(7Y)
D

3(71)

Correct Ans : B

Subject : Maths

Q.No: 154

2a0asss If C(2n, 3) =12C(n, 2), then n is:

gfe c(2n, 3) =12C(n, 2), A n &:

4



5
B

5

6
C

6

8
D

8

Correct Ans : B

Subject : Maths

Q.No: 155 In how many ways can 5 prizes be given away to 3 boys when each boy is eligible for one or more prizes?
2404859

3 TSH $) 5 RIBR fba Tl A T o Yobal € Wl T Tseh! T a1 s BRI $ g ot 82

53
A
53
35
B
35
5Py
C
5Py
5C5
D
5C5

Correct Ans : B

Subject : Maths

(224'\1'{)0;8165(? A set ‘A’ has 6 elements. In how many ways can the elements be divided into 2 groups?
@ W A T 6 WG §| @l &l o UHR 2 TRl §iel o 9@l o7
62
A
62
31
B
31
52



52
32

32
Correct Ans : B

Subject : Maths

Sreiao? If =1C5++1Cy>C;, then the least value of n is:

Gl 1Cs4m1C,>"Cs, ol n BT ATH HIH B

3
A

3

4
B

4

7
Cc

7

8
D

8

Correct Ans : D

Subject : Maths

Q.No: 158 1
2404918 1 \[= [E
0

1
1] and X =2 . Then find the value of lim,__,(M)"X .
1

T i, M= E :‘iJ aﬁ?x=2 a1, lim,_ ,(M)"X &1 011 31d BIoTg |
H
H
H

H
-



H
H
H

Correct Ans : A

Subject : Maths

Q.No: 159 5 6 7
2404920 IfA=|11 14 1?‘='Ihenf'1ndthevalueof|AdjAdedede|=?
2 6 10
5 6 7
IlfcrA=‘11 14 1?‘=EfT|Adededede|3)—fII'l:Tiﬂﬂﬁl
2 6 10
1
A
1
2
B
2
0
(o]
0
5
D
5

Correct Ans : C

Subject : Maths

Q.No: 160

2404921 " x* e
Find the determinant of the matrix [_xz 0 logx ] 5

ge* —logx 0

0 x? e
aﬂaqfr[_xz 0 logx]ai'ﬂﬁﬁﬁiﬁwml
e* —logx 0
0
A
0
e}(
B
eX



18

XlS

Correct Ans : A

Subject : Maths

Q.No: 161 0 2b ¢
2404922 1.4 A= {a b —c] . then the value of (ATA)! is
a —b ¢

0 2b ¢
H‘Iﬁ'?ﬁ'ﬁi’&,AZ[a b —c] T, (ATAY T ATT 21
a —b ¢
- 1 -
= 2ab ac
1
ab m —bc
1
ac  _p
L b 252
A
_ 1 .
v 2ab ac
1
ab F —bc
1
ac  _p
b 262'
1 -
Py 0 0
-1
0 e
0 2
L O 3!:'.'2'
B
- 1 -
2t 0 0
-1
0 w2 ©
1
10 o 322
2¢2  2b ¢
a  2b? —¢
a —h 22
C
2a’ 2b ¢
a 2p2 —¢
a —h 2c2
0 2b ¢
a —b 0
D
0 2b ¢
a —b 0

Correct Ans : B

Subject : Maths



Q.No: 162

2408923 1ea- I T 0 & .B=[ Y 15 & |suchthat A= B, Find x
-4 =2 1 -18 2 -19
-1 2 0 =7 2
qﬁa=| 1 0 6.B=[x -13 8 ]g‘qgﬂmm:g_xaﬂﬂﬁ‘gﬂml
-4 =2 1 -18 2 -19
-20
A
-20
-17
B
-17
-15
C
-15
-21
D
-21
Correct Ans : D
Subject : Maths
24'\(',‘29126: I;ig.)dthevaluc of x, if the area of the triangle is 10sq. units with vertices A(2,x), B(3.-4) and C(-
x @ M FId DI, afe By &1 &a%d 10 T 33715 & o 2 A2.x), B3.4) AR C(5.0) €1
-6
A
-6
-14
B
-14
-8
C
-8
-20
D
-20

Correct Ans : A

Subject : Maths

34'\:)‘29126: Find the value of x, if the area of the triangle is 17sq. units with vertices A(1,-1), B(2.6) and C(x.-2).

x @1 JH J1d DIWIY, Tie B & &A% 17 F 3bls o g 2 A(1,-1), B2.6) AR C(x.-2) B

A -8



-10

-10

-4

-4

-14

-14

Correct Ans : C

Subject : Maths

Q.No: 165
2404929

2a b ¢
Leta, b, ¢ €R such that no two of them are cqual and satisfy |° Z 29| = 0, then equation 24ax? + 4bx + ¢ =0 has :
ic 4]
20 b ¢
AH T, 2, b, c € RITUDR & [ ITHADE M A GAR TR G SR b ¢ 20| =0 DT UG¥ el
&. ol GHID0 24ax2 + 4bx + c = 0 D UH c 2a b

. 1]
At least one root in [DE |

[Q%]ﬁﬂ)‘-ﬁ@aﬂt@ﬁlﬂ

. 117
At least one root in [—55 |

BHEEZEL R

2°21

At least one root in [-1, 0]

1. 0] H A Y HH UD o

At least two roots in [0, 2]

0.2 HAY B TA

Correct Ans : A

Subject : Maths

Q.No: 166
2404930

a, +bw aw’+b, c +bWw
If wis a complex cube root of unity, then value of A=|a,+bw aw’+b, c,+bw|-

a,+bw aw"+b;, c;+bWw



2 . —
a,+bw aw +b ¢ +bw

P P 2 _
TF w GHH &1 0 wifed g e, o & =(% oW aw’ +b ¢+ o gy

a,+bw aw +b, c;+bW

(]
A

()

-1
B

-1

2
C

2

6
D

6

Correct Ans : A

Subject : Maths

34'\&:913617 If a, b, ¢ are positive and are the p, q¥ and r't terms, respectively, of a G.P., then
loga p 1
A=|ogh g 1|is
loge r 1
loga p 1
TG 2. b, ¢ YITHD & R [l GP. & PHMpt g+ AR = UG e, al A=logh ¢ 1| §
loge r 1
()
A
()
log (abe)
B
log (abe)
—pta+tD
C
-ptqto
pta+rn)
D
(pta+rn)

Correct Ans : A

Subject : Maths



Q.No: 168 rlI_'n+1_'|

2404932 T X ~
if & =ar-1 ¥ n’ ,thmﬁ.\,:?
n(3n-1) =
Ir—2 z 3
~ a(n+l)
e g
afg a=fx-1 vy ' | §Xa=9
e b3 n(3n-1)
2
1
A
1
V]
B
0
2
C
2
n
D
n
Correct Ans : B
Subject : Maths
Q.No: 169 r < T
2404933 | cos— sin— r 1
fp=| 6 6l.a=| '|andQ=PAP’ thenPTQ!IP =?
-—sin:[ cosj LO=
L6 6.
[ n ., =
COSE Slng '1 1‘
qﬁt P= A =; |‘3h? Q=PAP’ Emp"rqmnpz?
—sin— cos— Lo Ll
| 6 6

0 1



£ 2014
2
Lo 1]
C
£ 2014
2
Lo 1]
(V3 1]
2 2
| 0 2014
D
NI
2 2
| 0 2014
Correct Ans : B
Subject : Maths
Q.No: 170 5
2404938 : & @+l
= 2@ @(w=1) (@+]1)@ .
If w = e’=, the value of - e is:
3e(w-1) @le-1)je-2) (e+l)e(e-1)
1 @ @+1
o o = eﬁ?’f a 2 (w=1) |+]1)@ fﬂIIFIEﬂTHI
 Pe(e-1) ele-1)e=-2) (e+l)e{w-1)
0
A
0
-1
B
-1
1
C
1
3
D
3

Correct Ans : A

Subject : Maths

24"329137; Find the area of the triangle with vertices A(3.2), B(-1,1) and C(1,5).

T AG3,2), B(-1.1) 3R ¢(1,5) a1t BYS &1 &% Fid Piforg|

A 9 sq. units



o T 5PTE

7 sq. units
B

7 9 5918

11 sq. units
c

11 T 51E

19 sq. units
D

19 Tif 3H1E

Correct Ans : B

Subject : Maths

Q.No: 172 =
3404940 2a a+b a+c

If p+a -2b b+c|=g(a+b) (b+c)(c+a)=0then ais equalto:
ct+a b+c -2c

-2a a+b a+c
T |b+a -2b btc=ala +b) (b+c)(c+a)2 0 Tl o« UG GAT
cta b+c -2c

a=4
A
a=4
a=12
B
a=12
a=-4
C
o=-4
a=§
D
a=§

Correct Ans : A

Subject : Maths

Q.No: 173

Faoaoaq 1f the equation, X’ + bx + 45 = 0 (b € R) has conjugate complex roots and they satisfy |2+1|=2410 ,
then:

afe @ fwTor, X* + bx + 45 = 0 (b € R) & dgesht wfews w7 & aiv & 1211210 =t

A b2—b=30



b>—b=30

b2+b=72
b2+b=72
b?—b=42
bt—b=42
b2+b=12
b2+b=12

Correct Ans : A

Subject : Maths

Q.No: 174 Tf3%¥ = 4 = 127 thenz =7

2404949

afg 3 =47 =

X+y

X+y

xy

Xy

I+Yy

Xy

I+Y
iy

X+y

Xy

I+y

Correct Ans : D

Subject : Maths

Q.No: 175
2404952

Leta=1Im

Ais equal to:
AHla-1m 127

%: 2iz
(-1 E 1)

1+2%)
dz |

127, @rz=2

, where z is any non-zero complex number The set A ={a:lz|=1and z = =1} and

|, 51z Bl YRR A TSN 1 AT A = {a:|z|=1 and z = =1} AR A TR



('13 1)

[1.2]
B

[1.2]

[0. 1)
C

[0. 1)

¢-1,0]
D

¢1,0]

Correct Ans : A

Subject : Maths

No: 176 ; . g s < —1
(224004953 Suppose Z,.Z,.Z; are the vertices of an equilateral triangle inscribed in the circle|z/=2 . If Z,;= 1+i3.

then values of Z; andZ, are respectively.,

M A 2,.2,.2; G |z =2 H 3ifba Uob wHaTg By & ¥ 81 3% z,=1+i3. a1 Z; 3R Z2 & AF B9 )
2,143

A
21443
2,143
B
2.1+i4f3
1+iyf3.-2
C
1+i3f3.-2
1+iy/3, -1
D
1+i43, -1

Correct Ans : A

Subject : Maths

24'\(')‘2915747 If cosa + cosP + cosy = sina + sinP + siny = 0 then cos3a + cos3p + cos3y equals to

Tic cosa + cosp + cosy = sina + sinf + siny =0 Tl cos3a + cos3p + costaiaTl—GW%

A 0



0

cos{a+ B+ )

B
cos(a+ B +7)
3 cos(o.+ B +7)
(o)
3 cos(a+ B +7)
3 sin(a+ B +7)
b

Isin(fe+pB+7y)

Correct Ans : C

Subject : Maths

Q.No: 178 g . o)
. -l . e
2404955 e value on[ Slll? *ICOSTJ is
=1\

i[ sin 2 +1C0s sl

\

-1
A

-1

1
B

1

i
C

i

-i
D

-i
Correct Ans : D

Subject : Maths

QNo: 179 If x = cosf + i sind and y = cosp +i sing, then xBys + x=y® i lto:
2404956 X cos 181N and y COsQ 51nQ@, en X7y X7y T 18 equal 1o ]

i x = cosh + i sind Gﬁ—\‘y=coscp+i sincp,t_‘ﬁxmy“-FX'm}rnafW%Z.

cos(mb +no)
A

cos(mb +ng)

cos(mf —no)
B

cos(mb —ng)



2cos(mb +no)

2cos(mb +no)

2cos(mb—ng)

2cos(mb—ng)
Correct Ans : C

Subject : Maths

No: 180 e =
(2240(;957 Let z and w be two complex numbers such that |z|< 1, |w|< land |z+1w|=|z-1w|=2 .

Then z is equal to

T z 3R w G Y G E S [z 1, |wi= 1 3R [z+iw|=|z-iw/=2 |
Az R T

lori

19Ti

ior-i

P91 -i

lor-1

19r-1

ior-1

iar-1
Correct Ans : C

Subject : Maths

Q.No: 181 5z, . . 2z, +3z, |, ]
2404958 Iszg is a purely imaginary number, then —221_322 is equal to:
5 - 2z,+3
7 22 gt e & Feales aEaT e, At | 2| s d:
Tz, ™ 22,3z .
5/7
A
5/7
7/5
B
7/5
25/49
Cc
25/49



1
Correct Ans : D

Subject : Maths

%‘1’\329?12 What is the Modulus-Amplitude form of the complex number 6 + 6i ?

[iHY T=T 6+ 61 D AUIG-HEH ¥ 3187

G(COSE +isin E)
3 3

A
6(005£+fsin£)
3 3
6~f§(cos£—fsiﬂ£)
3 3
B
6«f§(cos£—f5iﬂ£)
3 3
6«}’5. COS— —[5in —
(cos”; ~isin )
C
6«,5. COS— — St —
( 4 4
612 cos’ +isin -
(cosT +isin )
D
6«4'5 COS— + I8N —
(cos +15in%)

Correct Ans : D

Subject : Maths

24'\(',(291:23 What is the Modulus-Amplitude form of the complex numberl+-/3i?

[ W= 1+ /31 BT ATUIG- M FY T7 57

4(cos z + isin E)
3 3

A
4(cos z + isin E)
3 3
2(cosE+z’sm£)
3 3
B
2(cos£+isiﬂ£)
3 3
C

2(cos——1sin =)
3 3



T . &
2(005%—;5111’—)

3

2(cos—+isin—)
4 4

T ..
2(cos—+isinh—)
4 4

Correct Ans : B

Subject : Maths

34%29?; What is the Modulus-Amplitude form of the complex number5: ?

Y TWAT 51 BT AUG-TH Y T 87

5(cos z +isin E)
3 3

A
T . .7
5(cos— +isin—)
3 3
5(cos——isin—)
3 3
B
5(cos——isin—)
3 3
5(cos—+isin—)
2 2
C
5(cos—+isin—)
2 2
T ..
5(cos=—isin=)
2 2
D

Z ..
5(cos——isin—)
2 2

Correct Ans : C

Subject : Maths

.No: 18 2 .
(224'\1)(:19165 What is the a+ bi form of the complex number(%+z’§)+ (%—zé) 7

. 2 4
ﬂﬁﬂﬂ@[%ﬂ%ﬂ%—i%) @ a+bi TYHATE?



B
—+2i
1—23
9

C
——2i
7
——1
9

D
7
——1
9

Correct Ans : D

Subject : Maths

Q.No: 186 . X . 1 N
2404965 What is the a+bi form of the complex number(5+£§)(2—£g)?

Tffy g (5+%)(2—;%) @ a+bi FUHRE?

187 .31
18 6
A
187 .31
18 6
187 31
- 4+
18 6
B
187 31
_ 4+ —
18 6
185_1_31
18 6
C
185 .31
18 6
18?_1_31
12 6
D
18?_531
12 6

Correct Ans : A
Subject : Maths



Q.No: 187 Tl - - - - s . -
340496 'V hich of the following is true if (p+ig)is the conjugate of (x+ 1)) ?

PR ¥ U sH-a g g Uie (p +ig), (x+iy) ST UGHE?

p=x,9=-y

A
= x:g =—},

p=-X.g=-y
B

P:—x’rq ==Y

p=xq=y
Cc

p=xg=y

p=-xg=y
D

p=-Xxg=y

Correct Ans : A

Subject : Maths

24%‘29168: Which of the following is true about the nature of the term z, —z, where z and z, are two

conjugate complex numbers?

FOfaRad ¥ SH-UT R 2, -z, I P & IR § Tl & 96l z AR z, & GGFTd AEy

. o %?
Positive Integer
A
HRIAS YUIidH
Real
B
s
Imaginary
C
PIeUD
Negative Integer
D

BUTHS UIH
Correct Ans : C

Subject : Maths

Q.No: 189

>a04970 Lhe conjugate of the complex number z = 5 +7i can be given as:



ATy GBI z=5+7i BT HTH 38 UBR fGa1 o 9ol &

—5-—-7i
A

—5-—-7i

—5+7i
B

—5+7i

5—-7i
C

5—7i

5+7i
D

5+7i

Correct Ans : C

Subject : Maths

Q.No: 190 The sum of two complex numbers, Z, =7 + 9i and Z, = 8 — 61 is
2404971

ol s @, z, = 7 + 9 ARz, = 8 — 6i DITMA H

-15—3i
A

-15—3i

15 + 3i
B

15 + 3i

15 —3i
C

15 —3i

—15+ 3i
D

—15+ 3i

Correct Ans : B

Subject : Maths

QNo: 191 ... e
2404975 Smplify 12+ (14 —71) — (5 —3i).

12 4 (14— 7i) — (5 — 3i) B DIIC|
A 21+ 4i



—21+4

—21—4i
B

—21—4i

21 —4i
c

21— 4i

21 +4i
D

21 +4i

Correct Ans : C

Subject : Maths

Q.No: 192 The total number of parts a complex number has ,
2404973

e ity ST F W B oa den BN,

Two
A

a

Three
B

Gik

One
C

TP

Complex number does not exist
D

aftry e dieg T 8
Correct Ans : A

Subject : Maths

Q.No: 193 Which of the following represents a pair of straight lines?
2405107

frfafaa & @ &, Wa @rsl e g ) e o 82

x—xy—xt=1

x—xv—xt=1

—xtxy —vi=1

—xl+xy —vi=1

c 4x! —dxv+vi=4



4l —dxy +yr=4

x+yi=4

w2+yi=4

Correct Ans : C
Subject : Maths

24'\:)05 110984 If the equation Ax? + 2¥? — 3xy + 5x — Ty + 3 = 0 represents two straight lines, then the value of A will
be:

afe AT, Ax2 + 232 — Sxy + Sx — Ty + 3 = 0 & &<el (@i & Owlg &<ar §, a9 L &

AT A gE ?

2
A

2

3
B

3

-8
C

-8

8
D

8

Correct Ans : A
Subject : Maths

Q.No: 195 Twg lines represented by x2 +xv+v2 =0 are

2405109
x+xy+yi=0gdRT foreita 2 aver vt % :
Imaginary

A
FTAAS
Coincident

B
A
Parallel

c
JUHAR

Mutually perpendicular

YR Hdq

Correct Ans : A

Subject : Maths



34'\(')05 111906 Which of the following represents a pair of straight lines passing through origin and having gradient 3 and
1

3°

frafafa & ¥ #i7, Fgfaeg & o awl @ 3 T@ - SavTET TE arel e et &
oA @ efd #ar &

3vi+8xy —3x2=0

A
32+ 8xy — 3x2=
3x2+ 8xy — 3y =0
B
3x2+ 8xy — 3vi=
3x2+ 8xy+3x2=0
C
3x2+ Bxy+3x2=0
3y? —8xyv+3x2=0
D

3y? — 8xy+3x2=0

Correct Ans : B
Subject : Maths

%‘1’\(‘)05:111917 If one of the lines represented by 6x? - xy + 4cy? = 01is 3x + 4y =0, then value of cis:

Tfg 6x2-xy +4ey? = 0 Z@RT TA%0d (@B 7 F T 3x+4y=0 §. 99 & #AA § ¢

-1
A

-1

1
B

1

-3
C

-3

3
D

3

Correct Ans : C
Subject : Maths

Q.No: 198 The perpendicular distance of the straight line 12x + 5y = 7 from the origin is :
2405112

WA 12x + 5y = 7 P Jd fog I Tad g & :



12
13

12
13

Correct Ans : C

Subject : Maths

Q.No: 199 The distance of the point (-2, 3) from the line x-y = 5 is :
2405113

ﬁ'—g(-z, 3)Hﬁ§ETx-y=5@f§\Pr%:

2 \."'g
A

2 \."'_

3 \."E
B

35

W2
(o}

542

3
D

53

Correct Ans : C

Subject : Maths

Q.No: 200 The length of perpendicular from (3, 1) on the line 4x + 3y + 20 = 0, is :
2405114

g (3, 1) AW 4x + 3y + 20 = 0 W 1A T T P! T @ :
6



5
C

5

7
D

7

Correct Ans : D

Subject : Maths

Q.No: 201 Pependicular distance of origin from g—‘:{ =1is:

2405115
r oy _ .
;- =19 AF foeg & Frgad gl ¢ ¢
4=
A
42
3
22
“s
B
22
5
3=
C
3l
3
32
3
D
32
5

Correct Ans : B

Subject : Maths

Q.No: 202 The equation of the base of an equilateral triangle is x+y = 2 and the vertex is (2, -1). Then the length of the side of triangle is
2405116

TH THAIE AU BT YR x+y = 2 8, AT M (2, -1) 31 99 YT 3} Yo 3} TS &

V2



s
\2
Correct Ans : C

Subject : Maths

Q.No: 203 The acute angle between the lines v =3 and y=+/3x + 9is
2405118

@t y=3 3R y=3x+9F &=, 7gF FT

300
A

300

900
B

900

600
(o}

600

450
D

450

Correct Ans : C

Subject : Maths

Q.No: 204 The lines 2x + 3y = 7and 2x + 3y -5 =0 are :
2405119

[W@W2x +3y =73R2x+3y-5=0%:

Perpendicular to each other

A

TROR I &

Parallel to each other
B

TR FHRR &

Inclined at 45° to each other
Cc

TREAY 450 9T FH §

D Inclined at 60° to each other



TRE 60° 9 FHA §

Correct Ans : B

Subject : Maths

Q.No: 205 For what value of k, the lines 2x + 3ky - 1 = 0 and 3x + 4y + 1 = 0 will be mutually perpendicular?
2405120

k& g 91 & R [ 2x + 3ky - 1 = 0 3R 3x + 4y + 1 = 0 TRER TFad gHi?

0
A
0
_1
2
B
1
2
1
z
c
2
D
2

Correct Ans : B

Subject : Maths

Q.No: 206 1 1 I x ¥ _ x ¥y _ .
2405121 IfE—I— P 0, then lines . + i 1 and o + = 1 will be

Hﬁ%+%=0jﬁi@ Q §+§= lmd§+§=lfﬁjﬁ:

ab ba

Parallel to each other

A

TR FHHTR

Perpendicular to each other
B

TRER o dd

Inclined at 30° to each other
C

LEIR 300 9X ST

Inclined at 60° to each other
D

9TETR 60° TT SThT

Correct Ans : B

Subject : Maths



24'\(1)05:122027 The angle between the lines x cos 30°+ vsin 30°=3 and x cos 60° + v sin 60°=51s :

TYeT TET3T % cos 309 + ysin 30% =3 3T x cos 609+ y sin 600=5 & &I 0T § :

90°
A

90°

no
B

no

60°
C

600

300
D

300

Correct Ans : D

Subject : Maths

Q.No: 208 If the linesy = 3x + 1 and 2y = x + 3 are equally inclined to the liney = mx + 4, then m = ?
2405124

IRy =3x + LR 2y =x + 3, WA y = mx + 4 T TAH P R B 31 d m = ?

1+34/2

Correct Ans : D

Subject : Maths

Q.No: 209

) ) 2 2 B ) _ —_— .
3405126 Equation of normal to the circle x= + y* - 3x - 6y - 10 = 0 at the point (-3, 4), is:



&g (-3, ) WA X + y? - 3x - 6y - 10 = 0 F 3 B THSWE :

2x + 9y -30=0

A
2x+9y-30=0
9x -2y +35=0
B
9x -2y +35=0
2x-9y +30=0
C
2x-9y+30=0
2x-9y-30=0
D

2x-9y-30=0
Correct Ans : A

Subject : Maths

Q.No: 210 The equation of normal at the point (0, 3) of the ellipse 9x* + 5y* = 45 is :
2405143

_ﬁﬁ’ﬂ’q_cvl9x2+5y2:45$ﬁ7§(0, 3) W Sifice &1 THie §

x-axis
A
x-3{&
y-axis
B
y-31&
y-3=0
c
y-3=0
y+3=0
D
y+3=0

Correct Ans : B

Subject : Maths

Q.No: 211 = 7 o =, T
2405191 @-b)x(3+b)=

(E-B)x(3+B) =

2(3 xb)

2(3 x b)

B ixhb



~
axhb
az_bz
C
al—p?
2a
D
2a

Correct Ans : A
Subject : Maths

QNo: 212 ye volume of the parallelepiped whose edged are represented by —12i + ak, 3i— k and 2i +j — 15kis
2405202 546 hen o =

afg TF FHEK GChAd, SR FR AW —12i+ak 3j— k 3R 21+ - 15k garr Eefa
gt &, 1 Hae 5468 99 o=

3
A

3

2
B

2

-3
C

-3

-2
D

-2

Correct Ans : C

Subject : Maths

o,
ok
Il
-3
|
Sty
+
b
Lol
-
=d
n
B
il
ol
x
i
S
Il

QNO:213 7162 _ 92 12 _ T h—= i
2405203 Ifa=21+j-kb=1+2j+k

6
A

6

10
B

10

12
C

12



24

Correct Ans : C

Subject : Maths

Q.No: 214
2405207

(B+b).(b+)x(E+b+9) =

(B+b).(b+)x(E+b+9) =

57
57
2[35 ]
2[5
[F5{
[F5Y
1]

0

Correct Ans : A

Subject : Maths

Q.No: 215
2405212

Ifi=2i+j+k b=1+ 2~ K and a unit vector ¢ are coplanar, and 2 is perpendicular to 3 then & =

3=21+j+kb=142— k3N v aEs e coaaea &, dw ¢, 3 & oegadq § d9

—3



FG+-8

Correct Ans : A

Subject : Maths

24'\‘:')05:42215 For what of K, 6x2 + 11xy — 10y? + x+ 31y + K =0 represents a pair of straight lines:

K& Faam $ @ 6x2+ llxy - 10y2 +x+ 31y + K= 0 Tl Y@BT & 0F Z7A & @60 axar g ©

-15
A
-15
-10
B
-10
-4
C
-4
6
D
6

Correct Ans : A

Subject : Maths

Q.No: 217 The straight lines represented by 4x2 + 12xv + 9v2 =0 will be -

2405426
4x2 + 12xy + 9y2 = 0 E@RT TIwTd aer W@ gl :
Real and coincident
A
Idfa® T HAE
Real and different
B
arafas wd =
Imaginary and different
c
HTeuf® Td i
Imaginary and coincident
D

HTU® Td JHH
Correct Ans : A

Subject : Maths

Q.No: 218 - ' — e
Y aoss0 Iff(x) = log,(logx). then f'(x) at x = eis



I £(x) = log,(logx), dd x =e W {'(x) B :

e
A
e
!
=]
B
1
e
1
c
1
0
D
0

Correct Ans : B

Subject : Maths

2409506

Q.No: 219 d (secx+tar1x)
dx

secx—tanxy

d (secx+t;mx) _

dx \secx—tanx

2cosx

(1-sin x)?

2cosx

(1—sin x)?

COSX

(1-sin x)?

COSX

(1—sin x)*

2Zcosx

(1—sin x)

2Zcosx

(1—sin x)

cosx
(1+sin x)2

cosx
(1+sin x)*

Correct Ans : A

Subject : Maths

Q.No: 220 1,0 dy
Ify = cot then — =
2409510 1LY = cot™ (x°), then dx



d
ey = cot™  (x2), a9 d—f: =

2x
1+x*

2x
1+x*

2x

Y 1+at

2x

Y 1+at

—2x

1+x*

—2x
1+x*

—-2x

y1+xt

—2x

Vi+at

Correct Ans : C

Subject : Maths

Q.No: 221 _ ) (I
3409513 If f{x) = cosx cos2x cosdx cos8x cosl6x, then f (4)

e f(x) = cosx cos2x cosdx cos8x cosléx, dd ' (g)

V2

ale W

S =

<<
(o8]

[y

< -
Sk

1

w

v3
2
Correct Ans : A

Subject : Maths

Q.No: 222 _ ( E) - dy _
2409514 Ifx=a f:os‘l:—l—log't::m2 .V asmt,thend“ _____



?‘Jl'ﬁ:x =a (cost—I— logtan%} v = asint, dd ﬂ’_

dx 7

cott
A

cott

-cott
B

-cott

-tant
c

-tant

tant
D

tant

Correct Ans : D

Subject : Maths

Q.No: 223
2409515

d
Ify = sin(2sin™'x), then d—f =

d
Iiey = sin(2sin~1x), dg d—f =

2+4x?

W1-x2

Correct Ans : B

Subject : Maths

Q.No: 224 — a2 .
2400516 [fy = %»"az +x%+ a?log{x +Vx2 + a?}, then - ..

dx



e — 2 — dy
aigy = %Vaz + x° +%log[x +Vx? + a2} dd £=
VxZ +a?

VxZ+al

1

Vx?+al

ViE+at
2Wx2+ at
2Vx2+ a?
Vi +at
2
W

Correct Ans : A

Subject : Maths

Q.No: 225 3
2409517 Ifxe*¥ =y + sin’x, thenatx =0, d—f =k
afg xe"y=y+sin2x,a—el' x=10 Eﬁg= ________
-1
A
-1
1
B
1
2
Cc
2
-2
D
-2

Correct Ans : B

Subject : Maths

Q.No: 226
2409518

dy
Ify = x**%, then = =
¥ -4 =i dx

d
L _Y —
Ty =x ST



.UZ

x(1+ylogx)

42

x(1+ylogx)

42

x(1—ylogx)

2

x(1-ylogx)

v

x(1+ylogx)

¥

x(1+vlogx)

v

x({1-ylogx)

¥y

x(1—ylogx)

Correct Ans : B

Subject : Maths

Q.No: 227 . dv
2400519 Ifx = e¥+e thcna'is

afgx = er+e tary

x
A
1
x
1-x
x
B
1-x
x
x
1+x
Cc
x
1+x
X
D
X

Correct Ans : B
Subject : Maths

3

Q.No: 228 The points on the curve v = 12x — x” at which gradient is zero are:

2409520



% y=12x — X’ W a5 fdeg ST61 9aoral =4 & &:

(0, 2), (2, 16)

A
(0, 2), (2, 16)
(2, 16), (-2, -16)
B
(2, 16), (-2, -16)
(0, -2), (2, -16)
C
(0, -2), (2, -16)
(2, -16), (-2, 16)
D

(2I '16)1 ('21 16)
Correct Ans : B

Subject : Maths

Q.No: 229 . P . A _1 . .
2409521 Ifthe law of motion in a straight line is 5 = EVT’ then accelaraion is:

ﬂ‘ﬁ':.*s%vtwwmﬁmﬁwﬁﬂﬁﬁaﬁm’a‘:

Proportional to t

A
t & uTTR
Proportional to v
B
v & FHTUT
Proportional to s
C
s & FHUR
Constant
D
3R

Correct Ans : D

Subject : Maths

Q.No: 230 . 3 3 . —2
At what point on the curve x° — 8a“y = 0, the slope of the normal is —
2409522 p ¥ P 3

= -2
it - - S
amx’ — 8a’y o,ﬁwmwm#mgﬁ.'

(a, a)
A
(a, a)
(2a, -a)
B
(2a, -a)

(o} (2a, a)



(2a, a)

(-a, -a)

(-a, -a)
Correct Ans : C

Subject : Maths

Q.No: 231

: 5_ g 4 I g
2409523 The function x 5x* + 5x 1is:

Tl x° —5xt45xi—1%

Maximum at x = 3 and minimum atx =1

A
x = 3 W ARIHAH TUT x = 1 W FAdH
Minimumatx =1
B
x = 1 TR gAdH
Neither maximum nor minimum atx =0
C
X = 0 TR 1 &Y 3w 3R =1 & =gaaw
Maximum atx = 0
D

x = 0 W Hfwan
Correct Ans : C

Subject : Maths

Q.No: 232 The sum of the two non-zero numbers is 4. Then the minimum value of the sum of their reciprocal is :
2409526

3 S TSN BT GNT 4 B, T I7b SGehH &b TNT bl YeAqH T &:

e |

| o

| o

(1]
Correct Ans : C

Subject : Maths



Y4092 For which Interval the function f(x) = 2x3 — 9x? — 12x + 1 is decreasing ?

forer T 7 wore f(x) = 2x3 —9x® —12x + 1 EEAT L 2

(=2, o)
A

(=2, o)

(—2,-1)
B

(=2,-1)

(-0, —1)
C

(—o0,—1)

(-0, —2) and (-1, )
D

(—co,—2) and (—1, )

Correct Ans : D

Subject : Maths

.No: 234 . . . .
(22409528 The function y = 2x% — 9x2 + 12x — 6is monotonic decreasing, when

Felol y = 2x% —9x2 + 12x — 6 Ueh fE% GHAHAM ¢,

l1<x<2
A

1<x<2

x> 2
B

X =2

¥<1
C

x<1

2<x<l1
D

2<x<l1

Correct Ans : A

Subject : Maths

Q.No: 235 . . _ 2.
2409520 On theinterval (1, 3) the function f(x) = 3x + SIS



FHea (1, 3) W Feld f(xj=3x+§%:

Strictly decreasing

A
@ s
Strictly Increasing
B
R gt
Decreasing in (2, 3) only
c
Fad (2, 3) # AN
Neither increasing nor decreasing
D

1 & aefaE, =1 e EE
Correct Ans : B

Subject : Maths

Q.No: 236 Cox : ;
2409530 The function x* is increasing, when
Wolel x* a9HE &, o4
1
X > —
e
A
1
K= —
e
1
X< —
e
B
1
=D —
e
x<0
C
XxX<0

for all real values at x

x ¥ ot arafas wel & o
Correct Ans : A
Subject : Maths

Q.No: 237 dx o
2409725 V2t a2 -
J‘ dx _
i

A

R 2 —
%v‘xz + az-l-a?lcg (x +vx2 + a?)+¢



- 2
%v‘xz + az-l-a?lcg (x+vx2 + a)+¢

%log[xz +a¥)+ec

B
%lag[}(2 +a¥)+c
log(x +vx2 + a?) +c¢
c
log(x +vx2 + a?) +c¢
log(x —vx% + a%) +c¢
D

log(x —vx% + a?) +c¢

Correct Ans : C

Subject : Maths

Q.No: 238 The Karl Pearson’s coefficient of correlation for the values of x and y, given in the table is :
2409804

x | 4| 78134
v]| 5| 8]6[13]5

qifereT & 8 T x quT y & THT & R PTel R &1 a0 &

x| 4|7 [ 8[3 4
v]| 5| 8]6[13]5

63
V94 x 66

63

63
Correct Ans : A
Subject : Maths



Q.No: 239 xg+nh

2409813 Approximate value of y dx by Trapezoidal rule 1s -
]
®g+nh
WW%WI ydx & T A &
X0

h
5 [(yo +¥n) + 2(v1 +y2 + ¥z + -+ ¥n-1)]

A

h

3 [(yo +¥n) + 2(y1 +y2 + ¥z + =+ ¥n-1)]

h

g[(b’n +yn) + 2y +ys+ys t o Yao1) F 22 F Vet o+ Va2l
B

h

g[(}’n +yn) + 4y + ¥+ Vs o+ yao) F 2y H Ve + o+ Va2l

h

E[(Yn +yn) 2y + Y3+ Vst yaa) F 4 F Vet F Yao2)]
Cc

h

Z[(Yﬂ +yn) 2y +yatys ot yna) AV H Ve + o+ Y2l

h

E[(Yu +ye+Vat oo+ 200 s +ys o+ Yool
D

[(vo+yza+vat+—+y) +20y1+ya+ys + - +yn1)]

[SSY =2

Correct Ans : A
Subject : Maths

Q.No: 240 A river is 80 meter wide. Its depth d meter and corresponding distance x meter from one bank is given in the table. Then the approximate area of cross-
2409814 gection of river by Trapezoidal rule is:

x| 0| 10| 20|30 | 40| 50| 60| 70 | 80
d| 0] 4 7 9 12115 ) 14| 8 3

T e} 80 Hiex NS 7, TP eI d Hiex quT T R § Wi g8 x Hiex aifrest F 7€ § q9 A} b SR BIe 1 Alipe A, FHerE FEH A

x| 0| 10| 20| 30 | 40| 50| 60| 70 | 80
d| 0| 4 7 9 12115 ) 14| 8 3

705 sq. m.
A

705 aif .

750 sq. m.
B

750 T .

730 sq. m.



730 o i,

710 sq. m.

710 o .

Correct Ans : A

Subject : Maths

Q.No: 241 A root of the equation x* — 3x — 5 = 0 lies between 2 and 2.5, its approximate value, by applying
2409818 pjsection method 3 times is ©

THGIOT x° —3x—5=0 @& oI 2 2.5 & dra Ry § FAcias==1 @ & &= a”
SN & alg 59 el & Hleeihe A § :

2.0625
A

2.0625

2.3725
B

2.3725

2.3125
(o}

2.3125

2.4225
D

2.4225

Correct Ans : C

Subject : Maths

Q.No: 242 &
2409819 By Simpson’s one third rule value of | x dx on dividing, the interval into five equal parts, 1s :
1

-]
mﬁﬁﬂwmﬁ#ﬁmaﬂﬂimﬂﬁiﬁﬁﬂémﬁjxdxﬂ
AT 5 *

17.5

17.5

17

17
16.5

16.5
16

16
Correct Ans : A

Subject : Maths



Q.No: 243 5
2409820 By Trapezoidal rule, the value of ofj x? dx on dividing, the interval into four equal parts is -
1

5
mﬁmmmﬁ#ﬁmmwmﬁaﬂﬁj x2dx & AT G :
1

42
A
42
41
B
41
40
c
40
41.3
D
41.3

Correct Ans : A

Subject : Maths

Sroeah The value of \/12 correct to 3 decimal places by Newton-Raphson method is -

e Yha fafer & gudAcd & e I deh 12 & A §

3.462
A

3.462

3.467
B

3.467

3.463
C

3.463

3.217
D

3.217

Correct Ans : C

Subject : Maths

24'\3)982:35 The maximum value of p = 3x + 4v, under the conditions x + vy = 40,x + 2y = 60,x,y = 0 is:

Ofeaeel x+v = 40,x+ 2y = 60,%,y = 0, & 3T 1 = 3x + 4y, T TEERTH AT §

40

40
B 140



140

120
C

120

130
D

130

Correct Ans : B

Subject : Maths

Q.No: 246 The minimum value of z = 2x, + 3x, under the conditions 2x, + 7x, = 22,x, + X = 6,5x, + X, =
2409844 45 4y X)Xy 2018

gfdaeedl 2x, + 7x, = 22, x, + x5 = 6, 5x, 4%, = 10 T x,,x; = 0 & IANA z = 2x, + 3x,
& hATH HA §

16
A

16

10
B

10

20
o

20

14
D

14

Correct Ans : D

Subject : Maths

Srousae The maximum value of z = 3x+5y under the conditions x +y < 40, x+2y < 60, x>0, y = 01is

gfdaeel x+y <40, x+2y <60, x>0, y >0 & IHdd z = 3x+5y & Afdhdd A ¢ :

140

140
120

120
160

160
100



100
Correct Ans : C

Subject : Maths

Q.No: 248 8 coins are tossed simultaneously. The probability of getting at least 6 heads is:
2409846
8 9% Us WY ITTA W 7, FH A HH 6 [T (3S) U I BT Wb &:

229
256

229
256

57
64

57
64

37
256

37
256

Correct Ans : D

Subject : Maths

Q.No: 249 The mean and variance of a Binomial distribution are 6 and 4. Then parameter n is :
2409847

S RUCTTI S AIH IR IR 648 dd n PIAFR

9
A

9

10
B

10

12
C

12

18
D

18

Correct Ans : D

Subject : Maths



Q.No: 250 The mean and the variance of a binomial distribution are 4 and 2 respectively. Then the probability of 2 success is:
2409848
faue faaRur &7 me 3R YRR HHR: 4 3R 2 71 Al 2 Aohadrei Bt uidiedr &

128
256

128
256

219
256

219
256

37
256

37
256

28
256

28
256

Correct Ans : D

Subject : Maths

Q.No: 251 . . L _ RT a .
2407485 LEpressure of CO; (real gas) in a container is given by P = P then the mass of the gas in

container is-

aﬁwmﬁcojwm(ﬁaﬂﬂWP=ZEh—$ﬁ%mm ar deax F g a1
FEIHAT §-

11g

11g
22 g

22 g
33g

33g
44 g

44 g
Correct Ans : B

Subject : Physics 01



QNo: 252 1f the phase difference between the two waves is 21 during superposition, then

2407670
the resultant amplitude is-
ARG & SR & addlt & &l delia] 2T &1 ar IRomAT 3TH 8-
Maximum
A
SdH
Minimum
B
fFreraw
Maximum or minimum
C
Foaaw a1 fFean
Half
D
STYT

Correct Ans : A

Subject : Physics 01

Q.No: 253 In radio therapy x-rays are used to:

2408692
ey R ff, x-fpvof It % -
Detect bone fractures.
A
TI1 1 R Ugar 31 (SiEd ¥)
Treat cancer by controlled exposure
B
i TeIUeR & WY FIR BT 39
Detect heart disease
c
Te9 9 A S 3
Detect fault in radio receiving circuits.
D

Yea ffifan afbe & wiee wtadt 81
Correct Ans : B

Subject : Physics 01

Q.No: 254 Hydrogen atom does not emit x rays because

2408693

BISSIoH TRATY x-fhv0l Ieafofd e #d §, Fifes

Its energy levels are too close to each other.
A

THS il TR TP GER | TEA P 8!

Its energy levels are too apart.
B

TS Foll TR TH g & 95d g1 ¢!



It is too small in size

g PR # 9gd BT 81

It has a single electron

TP U TSI 3

Correct Ans : A

Subject : Physics 01

Q.No: 255 X rays were discovered by
2408694

x - Tl & @l &1 B

Becquerel
A

Iva

Roentgen
B

e

Marie curie
c

a8 T

Von Lave
D

CIEkC

Correct Ans : B

Subject : Physics 01

Q.No: 256 What is the difference between soft and hard x-rays?
2408699

TR (H7e) 3R BAR (BTS) x-[xul § a7 3R 72

Velocity
A

EU|

Intensity
B

GIEGH

Frequency
C

s

Polarization
D

Yyadr

Correct Ans : C

Subject : Physics 01

Q.No: 257 Current provided by a battery is maximum, when
2409002



TP 9 gR1 <) T 4R S=ad B ], 9

Internal resistance equal to external resistance

A
SRS ufekiy, STed wfeRiy & aRIeR gaT @
Internal resistance is greater than external resistance
B
3r=af¥e uferie, STedt uferty & eiftre ghar @1
Internal resistance is less than external resistance
C
i ufeRiY, aTedt ufadiy & S g o
Can’t say anything
D

TS HFT TG o FHan
Correct Ans : A

Subject : Physics 01

Q.No: 258 A galvanometer can be converted into an ammeter by connecting.
2409004

TP Ve HIeR Bl THieR H gRafda foar o Jovar 8, 399 sied R

Low resistance in series

A

o ufety 9ot &

High resistance in parallel.
B

I YfoRIY FHMTR

Low resistance in parallel.
(o]

o ufty s &

High resistance in series
D

I uferiy goft &
Correct Ans : C

Subject : Physics 01

Q.No: 259 A potentiometer wire is 100 cm long and a constant potential difference is maintained across it. Two cells are connected in series first to support one
2409006 gnother and then in opposite direction. The balance points are obtained at 50 cm and 10 cm from the positive end of the wire in the two cases. The ratio
of emf is is:

TP TiefRmEeR &1 arR 100 1 e B 3R T fRR fAHarR uhi #es §: 3 3 &) 3ot ¥ ugd U ¥R & WeR iR a1 # faudid f3zn & o o @1 i uRfRufa # ar
¥ TcD R Y Tga farg 50 I7ft 9k 10 I R e 31 S faggd aIes 9d $T U 3

5:1
A

5:1

5:4
B

5:4



3:4
3:2

3:2
Correct Ans : D

Subject : Physics 01

(234'\(1)090206: The shunt resistance required to allow 4% of the main current through the galvanometer of resistance 48
Qs

T O & 4% FT 48 Q G & Aed=Ae & TR & o 3 oe afdia &

10
A

10

20
B

20

30
C

30

40
D

40

Correct Ans : B

Subject : Physics 01

Q.No: 261 The accurate measurement of emf can be obtained using
2409011

forgeT ST X U We fIgga a6 S AT S W

Multi meter

A
et Hex
Volt meter
B
diee Wiex
Volta meter
Cc
Jieer Hiex
Potentiometer
D

wRefRme

Correct Ans : D

Subject : Physics 01

Q.No: 262 With a potentiometer null point were obtained at 140 cm and 180 cm with cells of emf 1.1V and one unknown X volt. Unknown emf is:
2409031



T UrefREeR & 7d tige 140 It oiR 180 ¥t W, &Y fagyd ae® 7 1.1 v IR 3F1d X diee ¥ U B1d ! SR faggd a6® 9 § -

1.1V
A

1.1V

1.8V
B

1.8V

24V
C

24V

141V
D

141V

Correct Ans : D

Subject : Physics 01

Q.No: 263 In the wheatstones bridge (shown in figure) X = Y and A>B. The direction of the current between ab will be
2409058

I I
1" L

From a to b.

A
a ¥ b @R
From b to a
B
b ¥ a Pt 3R
From b to a through c
c
bﬁaaﬁmcﬁﬁﬁ@
From a to b through c
D

aﬁb,cﬁ?ﬁg‘a

Correct Ans : B



Subject : Physics 01

Q.No: 264 A tuning fork of known frequency 256 Hz makes 5 beats per second with the vibrating string of a piano. The beat frequency decreases to 2 beats per
2409854 5econd when the tension in the piano string is slightly increased. The frequency of the piano string before increasing the tension was-

TF ST B [T T1d MR 256 T & U 9ahUs | Ol 3 aarfen K & 9y 5 de s 71 e [ & oier o1 R o1 foar v o, die smaf 2 s ufy
AFS B HY 8 el 31 9 & g7 & ugd g &t [ safar -

256 + 5 Hz
A

256 + 5 Hz

256 + 2 Hz
B

256 + 2 Hz

256 - 2 Hz
C

256 - 2 Hz

256 - 5 Hz
D

256 - 5 Hz

Correct Ans : D

Subject : Physics 01

Q.No: 265 A heavy body of mass 0.50 kg is suspended from the ceiling by a string. Calculate the force exerted by the string on the body.
2746462

TH U GEEE 0.50 fHamm &1 fivg, gd W ¢l SR gRT Tt o 81 S gRT fug W @Y 71T & &1 TTuFT Sifvn|

9.8 N
A
9.8 e
49N
B
4.9 e
4N
C
4 e
19.6 N
D
19.6 e

Correct Ans : B

Subject : Physics 01

Q.No: 266 An objectis movingin a circle ofradius 100m with a constant speed of 31.4 ms'l. What will be its
2746463 zverage speed after making one complete revolution?

Us 9 31.4ms! 1 fad =rer & 100m = % 99 7 95 W81 v gl a0 e
& dI¢ 3HHT Fad At =T e

Zero



RIS

31.4m/s
B
31.4 W./9.
3.14 m/s
Cc
3.14 W./9.
V2 x314m/s
D

V2 x 314 AT

Correct Ans : B

Subject : Physics 01

Q.No: 267 The momentum of a body is increased by 20%. By what percent will its kinetic energy increase?
2746472

T S &1 WA 20% ¢ TG 71 3D A Soit # e wfowrd i grite

20%

A
20%
44%

B
44%
66%

c
66%
88%

D
88%

Correct Ans : B

Subject : Physics 01

Q.No: 268 The spring constant of a spring is k when the spring is stretched by 1 cm its potential energy is U. If the spring is stretched by 4 cm, what will be the
2746473 potential energy of the spring?

T BT &1 B fRRI k 8 oa B &1 1 I d Wi oran 8, O 39! fRufast Foit u 31 3 B & 4 Joit oo T o, o 1B 31 Rufost 3if @ gifte

4u
A
4u
su
B
su
16U
C
16U
2U
D

2U



Correct Ans : C

Subject : Physics 01

Q.No: 269 Two bodies of 0.25 kg each are moving at 3 m/s. and 1 m/s. move towards each other with speed, collide with each other and stick. then find the final
2746474 velocity of the bodies?

0.25 Tar Yedieh FeAHAA & &) faUs 3 #/A. 7T | #L/E 9170 & 6 vk g a6 T ged &, 3T A
TR & 3N Faew s | Avst & 3if5e 3w s

0.5 m/s
A
0.5 #t./3.
2m/s
B
2 #./3.
1m/s
c
1 #t./9.
0.25 m/s
D
0.25 #./3.

Correct Ans : C

Subject : Physics 01

Q.No: 270 What will be the distance of geostationary satellite of radius Re (Re = 6400 km) from the surface of the earth?
2746487

Y-RITE IUUE &I 2t B Wag ¥ BT Re (Re = 6400 forddh) @t g8 et gnfte

1376 R,
A

13.76 R,

10.76 R,
B

10.76 R,

6.56 R,
(o}

6.56 R

256 R,
D

2.56 R,

Correct Ans : C

Subject : Physics 01

Q.No: 271 Ifthe diameter of marsis 6760 km and massis one-tenth that of earth. The diameter of earthis 12742

2746488 L Ifacceleration dueto gravity on earth is 9.8 ms-2.then what is the acceleration due to gravity on
mars?(approx.}



afe, FeTer o eATH 6760 el & AN GegarT Jedt &7 gaal B & | Jedl o1 = 12742 et 81 918
AT 9T TECdT fatoT 9.8 ms? §, & FeTel 9 FEear ca{oT o 4T 57 (approx.)

34.8 ms?
A

34.8 ALY

2.84 ms?
B

2.84 HILI2

348 ms™?
(o}

3.48 ALI2

28.4 ms?
D

284 HLI2

Correct Ans : C

Subject : Physics 01

Q.No: 272 The orbit of geostationary satellite is circular, the time period of satellite depends on-

2746489
Y-RITE IUTE BT H&T TAPR Sl 8, IUIE BT qrarafy frg w Rk ot 3-
mass of the satellite
A
IUUT F FHIAH
density of the earth
B
quft & T
radius of the orbit
Cc
P& Bt e
height of the satellite from the surface of earth
D

gt A TaE | SR P SAE
Correct Ans : D
Subject : Physics 01

Q.No: 273 A particle is executing simple harmonic motion with an amplitude A and time period T. What is the displacement of the particle after 2T period from its
2746523 jjjtjal position?

TH HU TP M A AR THG 3af T & Y IRA M1ad Tia &Y (a2 @1 31 3o uRMS fRufy @ 2T oafy & a1 Hur o7 faime a1 82

A
A

A

4A
B

4A



8A

Zero

T
Correct Ans : D

Subject : Physics 01

Q.No: 274 A particle of mass m executes simple harmonic motion with amplitude a and frequency v. What is the average kinetic energy during its motion from the
2746524 equilibrium position to the end?

ST m BT TH HUN AFH a R AT v & Y TR SHTad T Bl FHOid Fa1 31 Ggar Bt UM § 3id I 9! 1 & SRA 3igd 7t St 37 82

rma’v?
A

mma’v?

1,

—ma-v-
B

1,

—ma-v-

4

4’ ma®v’®
C

arima’v?

2 %ma’® v’
D

2w “ma” v
Correct Ans : A

Subject : Physics 01

Q.No: 275 A particle performs linear simple harmonic motion with an amplitude of 2 cm. When the particle is at a distance of 1 cm from the mean position, the
2746525 magnitude of its velocity is equal to its acceleration. Then what is its time period in seconds?

TH HU 2 A F A F 1Y WS WA M19d S AT 81 5T BT A1 RURT T 1 I B g W G § A SUS I 7 URAT I9F RN F RIS el g1 A 5B




Correct Ans : C

Subject : Physics 01

Q.No: 276 The velocity of a wave in a stretched string is 2 m/s. Standing waves are formed in the string. Whose nodes are at a distance of 5 cm. What will be the
2746535 frequency of vibration of the string in Hz?

forelt o+t g8 SR & a1 &1 v 2 Hi/Ads 71 SN F et o wcht ¥1 o fde 5 3 gl W B1 SN & Su @t sgfy g & @ g

30
A

30

40
B

40

10
C

10

20
D

20

Correct Ans : D

Subject : Physics 01

Q.No: 277 In Young's experiment, the width of the fringe is 4 mm. Find the distance of the third dark fringe from the central fringe.
2746536

1 3 v & st ) et 4 Breh 31 Bt fbwr & gt s Bt Y g T IR

5 mm
A

5 faeft

7 mm
B

7 it

10 mm
c

10 firft

2 mm
D

2 fadt

Correct Ans : C

Subject : Physics 01

Q.No: 278 Which of the following does not show any interference pattern?
2746537

frofafad # 9 S-S Afdsor Yo A e 32
A Soap bubble



[T & gagd

Excessively thin film

B
i aelt fred
A thick film
C
TP Al fben
Wedge Shaped film
D

Tl AMHR B fbeT
Correct Ans : B

Subject : Physics 01

Q.No: 279 A monochromatic light source is used in a Young's double slit experiment. What will be the size of the interference fringes received on the screen?
2746544

F 4 & fgfete vt & ueaull ueTr Sid wied fodr o § | e R U afaenon el BT SR & gir?

Straight line
A

Hreht

Parabola
B

R

Hyperbola
[¢]

SforRaea

Circle
D

qd

Correct Ans : C

Subject : Physics 01

Q.No: 280 A virtual image/jpg of a size larger than the size of an object can be obtained by
2746562

ol a%g & SMPR F TS ATHR BT TR Tfafss e R e fvar S gevar 31

Plane mirror

A
Hoaa giur
Concave mirror
B
Sfaad gyor
Convex mirror
c
I guor
All mirror
D
w+ft gfor

Correct Ans : B



Subject : Physics 01

Q.No: 281 What is the linear magnification of the image/jpg formed by a concave mirror?

2746563
Sade U0 gRT § TRIfSE 1 XMW amae o S 82
1
A
1
More than 1
B
19 ofte
Less than 1
Cc
1359
All of the given options
D

fow e @l fawew

Correct Ans : D

Subject : Physics 01

Q.No: 282 The distance of the near point from the eye to a person suffering from hypermetropia is 50 cm. What will be the power of the lens using which the
2746564 person can clearly read a book placed at a distance of 25 cm?

BRURACI =} dv | Wiy v oufea & o T3 § Fipe fig @1 @t 50 I 31 ST A B &maT 1 gRft Rt SUTT 98 i 25 9t # gt W H g B WY =Y
 Ug adT 82

2D

2D
3D

3D
4D

4D
1D

iD
Correct Ans : A

Subject : Physics 01

Q.No: 283 Magnifying powers of the objective and evepiece of a compound microscope m; and m; respectively
2746578 what will be the magnifying power of the microscope?

U e A & HTHETE Ud ATAHI Sl ST GHAT S my HR my Feaeal H
ST &TAT &7 G

A m; T My



m; T My

m; -my
B

m;) - m;

My X m;
C

mj; X m;

m; -+ ms>
D

m; ~ Ml

Correct Ans : C

Subject : Physics 01

Q.No: 284 A person suffering from hypermetropia requires which type of spectacle lenses?
2746579

TRWACE ¥ fifid e &) 6T TeR & T & oG FY gDl gidl 87

Concave lens

A
Sqqd oF
Plano-concave lens
B
Q- Sadd ad
Convexo-concave lens
Cc
Id-faad dF
Convex lens
D

Iaa A9
Correct Ans : D

Subject : Physics 01

Q.No: 285 What is the radius of smallest orbit of a hydrogen atom?
2746593

ETSSIoT URAIY b1 T BIST bafl B1 FHodT a1 82

6.3 %100 m
A

6.3 x 10-10#T

53 %10 m
B

53 x 1011 #T

3x10m
C

3 x 101 HT

43%10%m
D

4.3 % 1097



Correct Ans : B

Subject : Physics 01

Q.No: 286 According to Bohr’s atomic model, the radius of the orbit is directly proportional to?
2746594

TR F WA WS & IIUR H& P o frgds s gyt 82

n2
A
n2
1
n
B
1
ni
1
n
C
1
n
n
D
n

Correct Ans : B

Subject : Physics 01

Q.No: 287 A nucleus has 6 protons and 6 neutrons. What is the volume of the nucleus in (fermi)*? (given Rg
2746601 = 1 3 fermi)

T SATTHE A 6 Wiele 3 6 7ggie a1d o | ()3 3 A1 F Faaa #are? (Ram g Ro= 1.3
et

25.0
A

25.0

110.4
B

110.4

101.35
C

101.35

125.5
D

125.5

Correct Ans : B

Subject : Physics 01

Q.No: 288 Find the ratio of nuclear radii of tungsten isotope 74W'8% and iron isotope 2¢Fe5¢?
2746602



TaTEE AHECITAE 7oWies AR oilg TRefa 2sFese T aTfaTehTar Pissil & sigura A hifses

1.491
A

1.491

2.002
B

2.002

3.149
Cc

3.149

4.125
D

4.125

Correct Ans : A

Subject : Physics 01

Q.No: 289 The half life of a radioactive element is 30 days, then what will be the remaining amount after 90 days?
2746603

s Al da 1 s sita 30 37 7, R [ ik 90 R F a1 7@ gnfe

1
8

44
566

44
366

sle
6518

516
6518

|

Correct Ans : A

Subject : Physics 01

Q.No: 290 What is the electrical conductivity of a intrinsic semiconductor at 0 K?
2746616

0 K R T 9 3fefarass o fagyd araddl 1 gt 82

Zero

T
B Infinity



1
c
1
107
D
107

Correct Ans : A

Subject : Physics 01

Q.No: 291 In how many ways can three identical capacitors be grouped so that the effective capacitance is different?
2746675

T T gHE GuIRE @) fban TR & IR fbar Sff Yebar §, dlfce GHId emia s oied 817

8
A

8

6
B

6

4
C

4

3
D

3

Correct Ans : D

Subject : Physics 01

Q.No: 292 10 identical capacitors are charged up to V potential by connecting them in parallel, now if they are connected in series, then what will be the potential of
2746676 thjs combination?

10 U UM YRG! &1 GHR H T Siedr V [aHg de Ml #3d § 3/ 5% 4uiied d oie 24 §, O 39 Falo &1 favag o1 gnme

\"
A

\"

io0v
B

io0v

5V
C

5V

2V
D

2V

Correct Ans : B

Subject : Physics 01



Q.No: 293 Two resistors of 6€) and 90 are connected in series to a 120 V source. What is the power
2746691  opcimed by the 6Q resistor?

6Q 72T 9Q & ar ufeTeres Aof 3 3 120 dree & A1 I I3 §1 6Q TR ZaRT 39T
$ras afga s d?

384 W

384 dic
576 W

576 dic
1500 W

1500 dic
1200 W

1200 dic
Correct Ans : A

Subject : Physics 01

Q.No: 294 Two electric bulbs rated P, watt Vvolts and P, watt V volts are connected in parallel and
2746692 vy \qlts are applied to it. what will be the total power?

P, dic Vdlet odT P, dic, Vdlec o ol Tefell o dedl & AN HH 37 FAlsH V
dioedl TR TENAT ST T del Wi 4T gy

P, + P, watt

P, + P, ac

+/ Py P> watt

—
JPiP, ate

PP
P, +P,

watt

PP
P1 + P:

P, +P,

P,P,

watt

P1 + P: E'TE
PP

Correct Ans : A

Subject : Physics 01

Q.No: 295 The ratings of two electric bulbs A and B are 60 W and 100 W respectively, if they are connected in parallel with the same source, then-
2746693



&l faggd 9e5 A Td B F AT HHR: 60 W TUT 100 W T I 3 U & W F 1Y THRR HH H S d6-

Both draw the same current

A
BH § A YRT T30
A draws more current than B
B
AT B # g ¥ 3iftrew uwT I3l
B draws more current than A
(¢
B A & o & iR uRT FRei
Current drawn are in the ratio of their resistances
D

T wfeRiel & srgura ® yRT St
Correct Ans : C

Subject : Physics 01

Q.No: 296 In a moving coil galvanometer, the number of turns in the coil of effective area A is N, current I flows through it. The magnetic field is B. What will be the
2746708 torque acting on the coil?

% 99 $USH YR H guTdt &7 A 3 Husdl H BRI 3t G N gl 7, SUH 1 URT YaTRd il 81 Ge1d 89 B §IPUSTH R HRIRA ot S0l T GTT?

NAZB?I
A

NAZB?I

NABI?
B

NABI?

NZABI
C

NZABI

NIAB
D

NIAB

Correct Ans : D

Subject : Physics 01

Q.No: 297 Which of the following is the correct relation between voltage sensitivity (o) and
2746709 cyrrent sensitivity (o;) of a moving-coil galvanometer (where G = resistance of
galvanometer)

UF Ge-Fsd aNAd F diees gEledr (o) @ 9T gARAT (o) # AT &
PIA-TT EFaT TET & (TET G = GNTAMST 7 JicTe)

aj _
= 0,



=0

fle =l

Cc
— -
oy
G
—=a,
oj M
D
G
—=a,
g

Correct Ans : A

Subject : Physics 01

Q.No: 298 In a galvanometer whose coil resistanceis 100 €, full scale deflection is obtained when a current of
2746710 1mA flows through it. Calculate the resistance required to convert it into an ammeter of 1 A range?

Uay RTATUT # FSTEehl 5ol @1 TToRIg 100 Q § . 1mA &1 €IRT Yalgd $¢el U) qoT Tohel TaaTq
ATC E1cT & 59 1 A TR & HTex # giafdd ster & fore sraeaes GToRTer & aor=r SifeHr

019
A

019

10
B

1Q

10©
C

10©

100 ©
D

100 Q

Correct Ans : A
Subject : Physics 01

Q.No: 299 The current passing through a wire of self inductance of 2mH changes at the rate of
2746717 20mAs L. Find out the value of induced electromotive force in the coil?

2mH & TE-9Rcd & Teh OR F TeRel Grell URT 20mAs ™ &7 &1 F Feerdl o | Foser
# YR faega ags ao &1 Al A Hfad?

10 uv
A

10 uV

40 UV
B

40 uv

(e 10 mvV



10 mvV

40 mV

40 mV

Correct Ans : B

Subject : Physics 01

Q.No: 300 What is the self inductance of a straight conductor?
2746718

T WY e BT WIRD & il 87

Zero

RS
Very large

vgd wt
Infinity

3d

Very small

9gd Bidt
Correct Ans : A
Subject : Physics 01

Q.No: 301 Phyllotaxy is the arrangement of-

2405024
ot T SR 2-
flower buds
A
qu il Bt
branches
B
et
veins
Cc
et @5t
leaves
D
ufvrat

Correct Ans : D

Subject : Biology

Q.No: 302 The tissue responsible for translocation of food material is:
2405027



s Tarlf & VAR & IR S &-

sieve tube
A
T Aferet
vessels
B
EULECYS
parenchyma
C
g Hdd
fibres
D
=

Correct Ans : A

Subject : Biology

Q.No: 303 Which of the following is an epidermal cell containing chloroplast?
2405028

9§ I PH-I1 FORIRE Jod TR BIIBT 82

stomata
A

I

guard cell
B

&P PIAMDT

hydathod
c

SRy

lenticels
D

RS

Correct Ans : B

Subject : Biology

Q.No: 304 Stomata in grass leaves are

2405029
o @1 ke & 9 g §-
oval shaped
A
3BHR
heart shaped
B
TATPR
dumb - bell shaped
(o]

T & PR BT

D kidney shaped



qIDPTDPR
Correct Ans : C

Subject : Biology

Q.No: 305 Vascular bundle is closed, when-
2405030

96T SHF 95 T 8, Ta-

cambium is absent

A
iRy srguferd g 8
cambium is present

B
SiRmam Sufkm@ gar €
only phloem present

C
Faa FIgH SURRId giaT 8
only xylem present

D

Pad SIS SUTRId iaT @

Correct Ans : A

Subject : Biology

Q.No: 306 In water logged soil, plant do not grow properly because-
2405059

il et wer § dhd st ok A gfg et a §

due to excessive water

A

IARP 5 F PRI

due to shortage of water
B

o F HH F RO

because the soil is physiologically wet
c

Fiife a1 P T A et St

because the soil is physiologically dry
D

Hiify ga1 ST F0 & gE gt ¥
Correct Ans : D

Subject : Biology

Q.No: 307 Which one of the following chemicals serves as an anti-transpirant in plants?
2405060

9 7 Qo 1 W et A wfdarsiideie & w0 H B il 82

Phenyl mercuric acetate

frsa awifve Thiee



Mercurry

B
Rt
Cobalt chloride
c
PHIETE FARTES
Potassium
D
IR

Correct Ans : A

Subject : Biology

Q.No: 308 1In Isobilaterial leaves stomata are-

2407511
Tufgufie ol & v 2 §-
absent
A
SrgufRya
epistomatic
B
s
hypostomatic
c
SRS
amphistomatic
D

Iyash
Correct Ans : D

Subject : Biology

Q.No: 309 Bulliforms cell are found on the upper Epidermis of-
2407512

7 fpget ST erfied W amadas ik url S 2-

cladodes
A
qurtHTd B
most monocot leaves
B
954 & Rt ufmt &
all dicot leaves
C
at fedfteradt ufral 9
phylloclade
D
TUIPHREH B

Correct Ans : B

Subject : Biology



Q.No: 310 Man and the Biosphere programme (MAB) was launched by which organisation
2408722

B9 U8 ¢ IRINGIR YR (MAB) e T gRT Y& faam T ur?

Government of India

A
YRA TR
IUCN

B
STEQRTeT
UNESCO

c
AT
WWF

D
SSYSTIEP

Correct Ans : C

Subject : Biology

Q.No: 311 Father of plant embryology in India is:-

2409121
HRA ¥ UIeY YOTTa™ & o §:-
J. C. Bose
A
o, . 9
H. G. Khorana
B
. it @R
R. Mishra
c
3R, faan
Panchanan Maheshwari
D

T ARy
Correct Ans : D

Subject : Biology

Q.No: 312 Perisperm is?

2570478
R &2
Remains of nuclleus
A
dievs®T BT sady
Outer part of embryo sac
B

YUY T A6 UIT

C Degenerated synergids



o

Degenerated secondary nucleus

3efyd fgdiae Fsw

Correct Ans : A

Subject : Biology

Q.No: 313 Hormone responsible for senescence is?

2570480
Shofen & forg STRarRR g &2
Abscisic acid
A
TS o
Auxin
B
Siffea
Gibberellins
c
fravfem
Cytokinin
D

G IECCIEEE

Correct Ans : A

Subject : Biology

Q.No: 314 The water available to plants is?

2570482
el BT Iuas g aTel o 82
Run off water
A
3uared 9@
Gravitational water
B
T o
Hygroscopic water
Cc
SHTEATIATEY STt
Capillary water
D

PP

Correct Ans : D

Subject : Biology

Q.No: 315 The water potential and osmotic potential of pure water are respectively:
2570483

Y& T $T 9 faHT 3R TRIRT Ava e g 8



100 and zero

A
100 3R
Zero and zero
B
T 4R
100 and 100
C
100 3R 100
Zero and 100
D

3 3R 100
Correct Ans : B

Subject : Biology

Q.No: 316 A taxonomic category refers to:

2570720

Fiffet Soft wrafa 7

Concrete biological objects in group
A

T & Sfae e @

A rank or level in a taxonomic hierarchy
B

Tiffe UergeHH # TP W A UG

A group of related organism able to interbreed
c

FIfRId Toldl BT T Wl 3r:Fer= § WaH g

A group of related organism but unable to interbreed freely
D

TR Folal BT THE & -0 & W& 7 g
Correct Ans : B

Subject : Biology

Q.No: 317 1In soil, water that is readily available to plant roots is?
2570851

TeT & IuRYT f5d PR &1 9Id UIey Sel & Iua ¥edl 32

Gravitational water

A
Ty
Capillary water
B
FRe@ 5
Hygroscopic water
C

TEURBINS oTd

D Bound water



YT gaiT STaT
Correct Ans : B

Subject : Biology

Q.No: 318 Where does the fertilization in human females take place?
2572224

A Arerelt & FiEa wel g 82

Fallopian tube

Jsarfeit

Uterus

U

Cervix

Wfdw

Blastocoel

SR AT

Correct Ans : A

Subject : Biology

Q.No: 319 Which of the following is caused by Entamoeba histolytica?
2572226

frafafed § & o1 teiften Reififes & R g 82

Amoebiasis

A

st

Ascariasis
B

TR

Peptic ulcers
c

Mw s

Kala-azar
D

DIAT-3OR

Correct Ans : A

Subject : Biology

Q.No: 320 Which of the following is transmitted by the female Culex mosquito?
2572227

frafafed & & S A wgae TR 9 had 32

Malaria

wafar



Dengue

B
Filariasis
C
BrEARETR
Congo fever
D

PN @R
Correct Ans : C

Subject : Biology

Q.No: 321 Which of the following choices make a bad impact on our energy consumption patterns?
2572254

ffied & ¥ 9 I e gAR SHoil @ud Jed IR T UHT STadT 82
Using LED bulbs

A
TASS! god BT SUUNT
Taking the stairs
B
Hifeat a
Wearing a normal shirt on cold days and using a heating device to stay warm
(¢
33 ¥ a1 & W = ven ofR i o @R F fore @i @ @1 Sy SR
Cycling
D
rafeT

Correct Ans : C

Subject : Biology

Q.No: 322 A traditional technology is helped by India’s “waterman” , to save thousands of parched villages and transform the lives of thousands of
2572255 villagers in one of India’s most arid regions.

TP URURS dh-id URd & "qTexi- BRI, S §IRT Y@ AT &Y T 3R URA & God [ &5 7 I T H goIR! Aol & g ot 9ge o Heg &R @ 8l

Mr. Udynath Chauhan
A

ot IagaTy e

Dr. Rajendra Singh
B

37 i g

Dr. Shivaji Raut
C

37 Rrarsit wea

Mr. Vinayak Goswami
D

ot faAmae e

Correct Ans : B

Subject : Biology



Q.No: 323 Which of the following is the information source for making proteins in the cell?
2572256

fofafad & T $F ST § W M &1 ga-1 Hid 82

Cellular DNA
A

SR SeY

Cellular RNA
B

PN IRTAT

Nucleus
c

BlRICY

Mitochondria
D

CIELCaI L

Correct Ans : A

Subject : Biology

Q.No: 324 Which of the following statements is correct regarding embryogenesis?

2573987
1. The chances of survival of young ones is greater in viviparous organisms rather than in oviparous organisms.
2. In flowering plants, the zygote is formed inside the ovule.

Choose the correct code -

Yoihea & Ty & Pofifed 3 § $9 9 o I8 @2
1. S & oifad I8 B! JHIET {SSfY Sital & oIg ollg Uwies sidl § 3ifdies gl g1
2. quft Gt & dfivie & SR gl ST B

el BIS Y-
Only 1
A
Faa 1
Only 2
B
Fad 2
Both 1 and 2
C
1 9k 2
Neither 1 nor 2
D

dd@r1iRaId2

Correct Ans : C

Subject : Biology

Q.No: 325 Which of the following fungi is responsible for ringworm which is one of the most common infectious disease in humans?
2573989

Fofifed & 3 BF W Fa% ale & o FeR § S 79wl § 9e9 o IwHe A7 82



Aspergillus

A
TSt
Candida
B
Frer
Tricophyton
C
TRBIBIEEA
Fusarium
D
wEiad

Correct Ans : C

Subject : Biology

Q.No: 326 Nitrogen gas makes up
2573990

of our atmosphere.

TECI T AR argHSd BRG]

90-95 percent

A
90-95 yfa=a
85-90 percent
B
85-90 yfawa
80-85 percent
Cc
80-85 ufawa
75-80 percent
D

75-80 wfa=ra

Correct Ans : D

Subject : Biology

Q.No: 327 Which of the following statements is correct?

2573991
1. The body of Periplaneta americana is covered by chitinous exoskeleton.
2. The mucous glands of Rana tigrina are present in the skin.

Choose the correct code -

Frofafed & @ S $uT 98 87

1. RS SARBTT FT IR Frarfe P, a8 Hora I gobT &
2. I fedieT & @ W < A o o ©

e BIS -

only 1

Faa 1
B Only 2



Fad 2

Both 1 and 2
C
1 3R 2
Neither 1 nor 2
D

Ad1eRTE2

Correct Ans : C

Subject : Biology

Q.No: 328 Which of the following is present at the growing tips of stems and roots and increases the length of the stem and the root?
2573992

Fofafteaa & ¥ 59 1RIg S Wl vd a1 &1 3 ard Ui H e g1 § 9uT 98 39! @ § gig aar 92

Apical meristem

A
e favsaas
Vacuoles
B
R IEi]
Cambium
C
Ffgw
Intercalary meristem
D

Safdy favsaas
Correct Ans : A

Subject : Biology

Q.No: 329 tissue is composed of dead cells.
2573993
S Hd BIRBIST § &1 gl B
Collenchymatous
A
FAAPIEHCH
Sclerenchymatous
B
TWAPpIgHeT
Parenchymatous
C
Werghea
Aerenchymatous
D
WHIgHeH

Correct Ans : B

Subject : Biology



Q.No: 330 Which of the following organisms do not have a defined nucleus or organelles, nor do any of them show multi-cellular body designs?
2573994

Frofafed & @ fea St & 7 dF I1fed I iR PRGN F1d § 3R 7 & I7P WK T[HIRS T 37

Protista
A

uifezer

Fungi
B

PSR (PaP)

Monera
C

TR

Animalia
D

TR

Correct Ans : C

Subject : Biology

Q.No: 331 The diameter of the pupil in a human eye is controlled by the

2573996
g e A qaet sream __ gRi Fafa fosan oman 81
Cornea
A
wifrar
Retina
B
=M vew
Iris
(o]
afarferet

Optic nerve

T dfe (2R afceT)
Correct Ans : C

Subject : Biology

Q.No: 332 For a young adult with normal vision, the near point is about
2573997

g 2P a1 gar aas & fo, e fig amr BT 81

40 mm
A

40 et

25 cm
B

25 3t

C 35m



35 Hiex

40 cm

40 I

Correct Ans : B

Subject : Biology

Q.No: 333 The change in the of the eye lens can thus change its focal length.
2573998

R g B & o dwnsit 9 veAmh AR gRT FuiaRor far S G 31

Curvature
A
qshdl
Fluidity
B
sadr
Opacity
Cc
SEEdr
Musculature
D

Higedr
Correct Ans : A

Subject : Biology

Q.No: 334 Which of the following organisms engulfs food to form food vacuoles?
2574000

fafifEd & ¥ Har ofig HivH & HUl &1 3R 3 § 99T Ird gieR [T RigqeT s 872

Amoeba
A

arftar

Paramecium
B

RrfifRrm

Plasmodium sporozoite
Cc

WSHIETH WRIsge

Plasmodium merozoite
D

WSHISTH ARwise
Correct Ans : A

Subject : Biology

Q.No: 335 When the terminal phosphate linkage in ATP is broken using water, the energy released is equivalent to
2574001

ST 1 IUANT R & a1 T H S Sid® Bidhe Feaudl Tidd it § % geg Sel Aifd gt B



89 k3/mol

A

89 kJ/mol

1.8 kJ/mol
B

1.8 kJ/mol

30.5 kJ/mol
C

30.5 kJ/mol

111 kJ/mol
D

111 kJ/mol

Correct Ans : C

Subject : Biology

Q.No: 336 In which of the following tissue, vessels and tracheids of the roots, stems and leaves are interconnected to form a continuous system of water-conducting
2574002 (pannels reaching all parts of the plant?

i o ¥ 59 Saw & e, o ok uRml &) aiFe aut TIiRe e H Jeor wid Yag- dliedisi &1 Ue Tdd oTd §1a § S urey & v yii & Ta gar 32

Xylem
A

SigaH

Phloem
B

e

Amylase
c

EEE]

Stomata
D

i}

Correct Ans : A

Subject : Biology

Q.No: 337 When growing plants detect light, a hormone called
2574005

, synthesised at the shoot tip, helps the cells to grow longer.

Td i FRAT UIGT THTRI BT WY BT 8, b g O ____ PEd 8, TS IRIE F SHIUET (Rw) H et g § a1 SifRiapraii 3t darg # g & were g g

Abscisic acid

A
ol s
Cytokinin

B
GIEGICIEE
Auxin

C
iR

D Insulin



Correct Ans : C

Subject : Biology

Q.No: 338 Which of the following hormones promote cell division and are present in greater concentration in areas of rapid cell division, such as in fruits and seeds?
2574006

fafifEd & ¥ S A Bk fausH o1 IRd Brar ¢ 3R e g S+ &5t 7 o5l Sk faueH &g g 7, fRy w0 3wl 3R sl & sifiie Iigar & o s
22

Cytokinins

CIEGCIEEE]

Gibberellins

e

Ascorbic Acid

TwpIe® TS

Insulin

Correct Ans : A

Subject : Biology

Q.No: 339 Which of the following vitamins’ deficiency causes Beriberi?
2574023

frafafed # 3 forg faofim o ot 3 5898 ar 32

Vitamin D
A

ferfm €t

Vitamin C
B

ferfem <

Vitamin B1
C

faerfia &t

Vitamin A
D

fefm g

Correct Ans : C

Subject : Biology

Q.No: 340 Peripheral nervous system consists of-
2574027

Refy T fred o1 g 82

Brain, nerve cord



uferss, dfier ol

Cranial nerve, Spinal nerve

B
HUTE T, A% T
Brain, cranial nerve
Cc
Ai&Tsh, HUTA dfFeT
Spine, Spinal nerve
D

{eg, A% dfer

Correct Ans : B

Subject : Biology

Q.No: 341 Which of the following statements is NOT true?
2574031
1. In animals like sponges, the budding form of reproduction takes place.
2. The cytoplasm and nucleus of algae such as Chlamydomonas divide successively to form 4 to 8 spores in spore-formation.

Choose the correct code -

Profaf@d syl § § Sa g 78 82
1. S O Siqeft & UsH 1 geper U gl 2
2. a1 S TSI BT HIRAbT Fod Tl Bsieh AU Bl TR 313 SIoy] &+ d B

QI PIS A -
Only 1
A
Fad 1
Only 2
B
Fad 2
Both 1 and 2
Cc
I 1 3R 2
Neither 1 nor 2
D

Ad1eRTE2

Correct Ans : D

Subject : Biology

Q.No: 342 The term gene was coined by-

2574034
S e febdras gy far man -
Newton
A
e
Mendel
B
Hsd

(o} Johannsen



BIHEEE]

Lamarck

AuTH

Correct Ans : C

Subject : Biology

Q.No: 343 A gene is a relatively short length of DNA that codes for a
2574035

T Wi ST B 3rdaiTehd B e § o B HIS BT 3

Protein

mwa=T
Lipid

fafrs

Carbohydrates

PEleRIT

Fats

qdr
Correct Ans : A

Subject : Biology

Q.No: 344 The light sensitive screen of eye is known as
2574037

W F USTRI-YIRE WL P HT HEd 82

Optic nerve

T dfe (2R afeT)

Retina

THuea

Aqueous humour

REI

Pupil

gaeht

Correct Ans : B

Subject : Biology

Q.No: 345 Light enters the eye through a thin membrane called .
2574038

BT T Teelt f3reett & S 75 H Uaw el 8, I o1 Bed o7



Retina

A

THuea

Cornea
B

wifar

Aqueous humour
c

REL

Vitreous humour
D

DA d
Correct Ans : B

Subject : Biology

Q.No: 346 Which of the following are sources of sulphur oxides?
2574041

1. Combustion of coal

2. Combustion of petroleum

3. Volcanoes

Choose the correct code.

frofafed & @ S e siiaarss & 9d 82
1. BIA $T a5

2. Ui &1 g8

3. S

TE FIS T

Only 1 and 2

Fad 1 3R 2
Only 2 and 3

Fad 2 3R 3
Only 1 and 3

Pad 1 3R 3
1,2and 3

1,23R3

Correct Ans : D

Subject : Biology

Q.No: 347 Which of the following effects is not covered in the term water-pollution?
2574043

1. The addition of undesirable substances to bodies.

2. A change in temperature of water bodies.

Choose the correct code.

fofafed & T $F 91 Jud S-Ugu Wee § AT & 82



1. S9-femt § srfese uerd e
2. 9 el & aroEE § aiad- |

TG BIS IHI
Only 1
A
Fad 1
Only 2
B
Fad 2
Both 1 and 2
Cc
I 1 3R 2
Neither 1 nor 2
D

a1 eRTE2

Correct Ans : D

Subject : Biology

Q.No: 348 Out of the 36 Biodiversity Hotspots in the world, how many are there in India as of January 2021?
2574045

SHEd 2021 6 3y b 36 Sa fAfyar giewie § A b WRa § &2

3
A

a4
B

a4

5
Cc

5

6
D

6

Correct Ans : B

Subject : Biology

Q.No: 349 Which of the features is NOT correct about Monera?
2574048
1. These organisms do not have a defined nucleus or organelles.

2. They are all autotrophic.

TR & SR & HF I faRdwar aet 72 82

1. 39 <fial 7 9 o) Sfed P 9IR SR T 31
2. 3 qff wod 7

Only 1

Fad 1
B Only 2



Fad 2

Both 1 and 2
Cc
g 1 3R 2
Neither 1 nor 2
D

TJar1eiRaTd 2

Correct Ans : B

Subject : Biology

Q.No: 350 Consider the following statements about a kingdom -
2574049

1. These are heterotrophic eukaryotic organisms.

2. An example of this kingdom is mushroom.

Which kingdom is being talked about?

T& o & R B Fafafed F3 = R & -
1. 3 fywmoh gHiae o g1

2. 9 WA &I U el HIeH B

o T Y a1l | % R?

Protista

Hifewer

Fungi

Cca

Plantae

it

Animalia

wfaferan

Correct Ans : B

Subject : Biology

Q.No: 351 Which of the following is a water-soluble vitamin?
2574052

fafifed & & o @1 oa & gaqsia fFerfde 82

Vitamin A

faefm v

Vitamin B

faerfim <t

Vitamin K



fefm &

Vitamin D

faerfa $t

Correct Ans : B

Subject : Biology

Q.No: 352 Which of the following statements is correct?

2574056

Frofiid el § 4 B wd &2

21 pairs of spinal nerves emerge from the spinal cord.
A

TP-TS & 21 WIS WigHa a3b FHwad §1

12 pairs of cranial nerves emerge from the brain.
B

AfErs | 12 NS Fivaa dien Fead §

42 pairs of spinal nerves emerge from the spinal cord.
c

TV | 42 S WIS df3be Hpedt 81

32 pairs of cranial nerves emerge from the brain.
D

af&Ts & 32 SIS hivga dene Fead g1

Correct Ans : B

Subject : Biology

Q.No: 353 How many types of myofilaments are there in our muscle cells?
2574070

BRI U= Bifreprait & fba UBR & Arfthanic (Afdg) gia &2

1
A

1

2
B

2

3
C

3

4
D

a4

Correct Ans : B

Subject : Biology

Q.No: 354 Which of the following is an example of Ex-situ conservation of biodiversity?
2574072

i & ¥ B9 Sa fAfiudr & a1 M TR0 BT U e 82

A National Park



e FEH

Gene Bank
B

i ¥

Biosphere Reserve
c

Mavsa frad

Wildlife sanctuary
D

TN SRTY

Correct Ans : B

Subject : Biology

Q.No: 355 Which of the following is an example of conventional non-renewable energy sources?
2574075

Fofafed & ¥ o IRuRe TR-Tde<oi S Al $T TP I 82

Natural gases

A
WIpta® =
Biogas
B
I
Solar energy
c
R et
Geothermal energy
D

YaTiig SHef
Correct Ans : A

Subject : Biology

Q.No: 356 Glycine Max is the botanical name of -

2574079
AT Ay {HgeT amwafae 9 87
Pea

A
TR

Green gram

B
B 9T
Soyabean
(o]
GICICIES
Groundnut
D

HEdt

Correct Ans : C



Subject : Biology

Q.No: 357 Which of the following is not a part of neuron?
2574083

fafifEd & ¥ SH-T1 dEer SRS &1 YT 6 32

Cell body

A
HIRABT M (Cell body)
Axon

B
dfeTer (Axon)
Dendrite

c
gf®T (Dendrite)
Pons

D
Urg (Pons)

Correct Ans : D

Subject : Biology

Q.No: 358 Fusion of gametes is not involved in —
2574087

g & Yearg fobg & witrer e g 87

sexual reproduction

O o=

asexual reproduction

SARIE S

amphimixis

THITAfRTT (SHY-TANT)

isogamy

HHGHDAT
Correct Ans : B

Subject : Biology

Q.No: 359 Okazaki fragments are synthesised on
2574730

NPEH HTHS RGN 8 8
Leading strands of DNA only
A
Faa e # sproft fre
Lagging strands of DNA only
B

Fad SieT o1 e g5 vt

C Both leading and lagging strands of DNA



ST #Y aoft ok e g SNl il
Complementary DNA

P e
Correct Ans : B

Subject : Biology

Q.No: 360 It has not escaped our notice that the specific pairing we have postulated immediately suggests a possible copying mechanism for genetic material. This
2574731 g yritten by

I8 AR & & Te1 591 § i g o ol St &) ¥ ke fovan & a7 orrgafies wnelht & forg v wwifaa vfaferf o o1 gema &1 31 @ R foran T B
Meselson and Stahl
A
T IR wEd
Archibold Garrod
B
rdfates W
Severo Ochoa
Cc
HRY Sitaram
Watson and Crick
D

qrew 3R e
Correct Ans : D

Subject : Biology

Q.No: 361 Eukaryotic RNA polymerase III catalyse the synthesis of

2574733
THRAH SRUAT TIehwRY 111 F URATU BT IR FAT §
m RNA
A
m RNA
t RNA
B
t RNA
18.5 rRNA
c
18.5 rRNA
Introns
D
o

Correct Ans : B

Subject : Biology

Q.No: 362 Given below are four methods (A-D) and their modes of action (a-d) in achieving contraception. Select their correct matching from the four options that
2574749 f5)10w

Method Mode of Action

(A) The pill (i) Prevents sperms reaching cervix
(B) Condom (ii) Prevents implantation

(C) Vasectomy (iii) Prevents ovulation

(D) Copper T (iv) Semen contains no sperms



MiFRIY®S U B ) IR IRl (A-D) 3R 37 fbar & a8 (a-d) 719 o 7w B Fufifad IR el # § 39 98 fBrdm &1 997 &

fomam Grical

(a) TRt (i) gep1uaht Bt THferg far ab ugE J Adpar B

(b) bW (i) 3R B Achal ¥

(c) I/t (iii) ST BT JApaT &

()BTRS (iv) & § ooy 78 8 §

A - (iii) , B - (iv), C - (i), D - (ii)

A
A - (iii) , B - (iv), C - (i), D - (ii)
A - (ii) , B - (iii), C - (i), D - (iv)
B
A - (ii) , B - (iii), C - (i), D - (iv)
A - (iii) , B - (i), C - (iv), D - (ii)
C
A - (iii) , B - (i), C - (iv), D - (ii)
A - (iv) , B - (i), C - (i), D - (iii)
D

A - (iv) , B - (i), C - (ii), D - (iii)
Correct Ans : C

Subject : Biology

Q.No: 363 Chiasma shows the sites of

2574750
ferare F gel B g™ B
Spindle formation
A
¢ T
Synapsis
B
Rt
Crossing over
(o]
PIRAT 3faR
None of these
D

T A P T
Correct Ans : C

Subject : Biology

Q.No: 364 Incomplete dominance is shown by
2574751

SERT YA SR feamar m g1

Primrose

gad WA [ BT



Mirabilis

B
farifafere
Helianthus
c
HEEUE
China rose
D

CIERIGIC]
Correct Ans : B

Subject : Biology

Q.No: 365 Maximum biomass and variable organism are found in
2574867

RIHaH SR 3R aRad==id sia o gy I €1

River

L1

Pond

Lake

Eic

Estuary

Her T

Correct Ans : B

Subject : Biology

Q.No: 366 The major characteristics of the vegetation of a locality are controlled by
2574868

TH 3AP $I I DI Y@ faQrwaredt o g1 fafya fasar ST 81
Man only
A
Faa st
Mainly by climate
B
T w9 ¥ Jaarg gRT
Animals only
C
P ug
Altitude of place only
D

Fad R P HaTS
Correct Ans : B

Subject : Biology

Q.No: 367 Ozone layer depletion or hole in ozone layer is being found in
2574869

3T W § &t a1 3ol R & ¢ o urar T B

A North pole



I ya

South pole
B

aferoft ya

Russia
c

=4

None of the above
D

T P o T8
Correct Ans : B

Subject : Biology

Q.No: 368 In which crops is the method of mass selection applied?
2574870

S IH R T 31 Y v waw & anp g 82

Cross-pollinated

A
PIE WRRTOT
Self-pollinated
B
H-TRTTOT
Both self and cross-pollinated
(o]
W 3R WR-WRRTOT G
Potato and sugarcane
D

3T, 3R T
Correct Ans : C

Subject : Biology

Q.No: 369 Plants having similar genotypes produced plant breeding are called
2574871

FHM SiHersy arel Gl § ured goe Bl EZESIGI]

Clone

T
Haploid

[ CIER]

Autopolyploid
sferfiaigs
Genome

sfiHm

Correct Ans : A

Subject : Biology

Q.No: 370 Spread of cancerous cells to distant sites is termed as
2574876

R & WH R W R F B B T Il B



Metastasis

A
SUTITY (Metastasis)
Oncogenes

B
3if®IsiF (Oncogenes)
Proto-oncogenes

c
mel-3ieeiT (Proto-oncogenes)
Malignant neoplasm

D

Phe AT (Malignant neoplasm)
Correct Ans : A

Subject : Biology

Q.No: 371 Error catastrophe theory was propounded by
2574877

e oo Rrgid g7 it e i
B. Pal
A
ot ure
Orgel
B
sififer
Strechler
c
VIR
None of the above
D

T 3 oIS i 7
Correct Ans : B

Subject : Biology

Q.No: 372 Ageing is process which takes place in ?
2574878

U UH YA S HEK &l
Non-living
A
fffa
Dead
B
d
Living
C
Sifaa
None of the above
D

8 9 P15 R 76
Correct Ans : C

Subject : Biology

Q.No: 373 In monocots, male gametophyte is
2574902



AT A RguSfEe_ daral

Microspore
A
eFdteTy
Megaspore
B
AR
Tetrad
c
"
Nucellus
D
B!GE

Correct Ans : A

Subject : Biology

Q.No: 374 The odd one is -

2574903
ST BT TG BifoTT-
Micropyle
A
IghuTS
Embryo sac
B
w95
Nucellus
C
Pollen grain
D

LICERE]

Correct Ans : D

Subject : Biology

Q.No: 375 Which of the following is normally not an atmospheric pollutant?
2574904

frofafad & ¥ B9 amIe: argHe Ueue e 82

Carbon monoxide

A
FTE HHISTTES
Carbon dioxide
B
P STZITTAES
Sulphur dioxide
C
TP STSAHTRITZS
Hydrocarbons
D
TSP

Correct Ans : B

Subject : Biology

Q.No: 376 Which of the following disease is caused or aggravated by pollution?
2574906



Frafed & ¥ SH-71 T UguU & PR ¢ Sl 82

Bronchitis
A
Feprgied
Rheumatism
B
afear
Scurvy
c
wdf
Haemophilia
D

AR

Correct Ans : A

Subject : Biology

Q.No: 377 Generally speaking, the atmosphere in big cities is polluted most by
2574907

T, 99 WeRT H FTdERor Y g 3ifirep ugfid g g1

Radioactive fall out

A
Meauffar g
Household waste
B
T BT HAT
Automobile exhaust
(o)
sierwarsa e
Pesticide residues
D

PleAID! BT AT
Correct Ans : C

Subject : Biology

Q.No: 378 Which one among the following is likely to have the highest levels of DDT depositions in its body?
2574923

i & ¥ e TR T SIS o F I TR 8 B YU 82

Eel
A
W HOWt
Crab
B
bz
Sea gull
C
R
Phytoplankton
D

Ureq Wds
Correct Ans : C

Subject : Biology



Q.No: 379 Major drawback of DDT as a pesticide is that
2574924

FleA=F & ¥ A ST FT U AN T8 ¢ I

Organisms at once develop resistance to it

A
a gea T Wi TRy s RieRe 7T ad §
It is significantly less effective than other pesticides
B
g 3G PleARIS! B gaT & HTE! HH guTd 8
It''s cost of production is high
C
THPT ITEH AR HF ¥
It is not easily and rapidly degraded in nature
D

7 ypfa & omarh & ok Acht d TR 7 Fan @
Correct Ans : D

Subject : Biology

Q.No: 380 Which of the following show transverse Binary Fission?
2574925

ffifed 3§ @ B9 o sy SR s e 82

Euglena
A

Paramecium
B

RrfifRrm

Amoeba
C

3rftar

None
D

HYS ot T

Correct Ans : B

Subject : Biology

Q.No: 381 Ectopic pregnancies are caused by

2574935

RIS THRU & HRU G 3

Due to hormonal imbalance pregnancies get terminated
A

g erige & Hror mifura g W §

Implantation of the defective fallopian tube in the uterus
B

e & Srugef Hafiae @ 1 yaRgor

Implantation of the embryo at a site other than the uterus
(o)

U & Srerrar [Pl 3T R TR YT & YR

None of these
D

T A B T



Correct Ans : C

Subject : Biology

Q.No: 382 Which of the following is NOT a sexually transmitted disease?

2574936
frafafed & @ SiF-u1 dF Faid 7 T8 32
Acquired immunodeficiency syndrome
A
siftrgta ggfswiRiam Rigw
Encephalitis
B
Npargied
Syphilis
C
TR
Hepatitis B
D
Flersfen &t

Correct Ans : B

Subject : Biology

Q.No: 383 Which one of the following is true about mating in Interspecific hybridization?
2574947

RIMpe gRfiemoRE & W & aR & Rufifed § o4 @ g8 82

Two different related species

A
&Y 3reT-3reT wafira wemferai
Animals within the same breed without having common ancestors
B
U St & o1 o € A & wioft
Superior males and females of different breeds
c
5 T 3R AT A fafte
None of these
D

T8 A B T
Correct Ans : A

Subject : Biology

Q.No: 384 To get a virus-free healthy plant from a diseased one by the tissue culture technique, which part of the diseased plant will be taken?
2574948

Fa% Yo aH-id GRT ARG W18 | AT Tod WY e U R AT ARG 0 T i |1 U v e

Apical meristem only

A

Faa MifRua Rwsdas

lateral meristem only
B

Faa uref fav=aae

Both apical and axillary meristem
[¢]

tfiea ok gfdradt Afeew gt

D Epidermis only



e thishfa

Correct Ans : C

Subject : Biology

Q.No: 385
2574949

Monascus purpureus yeast is used in the production of

ATy WRERTy g ¥ Sare # vanT fohar e 31

Methanol

DyATd

Streptokinase for removing clots from the blood vessels

T AifePTal § YFH! B e b g REifead

Acetic acid

Ror o

Blood cholesterol-lowering statins

I PIARCId B HI a1 Rfe

Correct Ans : B

Subject : Biology

Q.No: 386
2574950

Which of the following pairs is wrongly matched?

Fafdfad & 3 SH-a1 g Tod gaferd 82

Acetobacter aceti - Acetic acid

TRreeeR whife - chifes s

Streptomycetes - Antibiotic

REHTEICH - (hamdifes

Coliforms - Vinegar

Pifewd - RRPT

Methanogens - Gobar gas

R - R A9

Correct Ans : C

Subject : Biology

Q.No: 387
2575215

The human sperm releases a substance to dissolve egg membrane, called-

TG OTY 313 BT Reeht &Y 1 H & e 1 verd sisd 7, o #sd §-

Hyaluronidase

TR

Hyaluronic acid

TR TS

Fertilizin



LURINICE]

Antifertilizin

Correct Ans : A
Subject : Biology

Q.No: 388 Which of the following is a unisexual organism?
2575221

¢
i
R
i
0
(



D
Correct Ans : D

Subject : Biology

Q.No: 389 In which of the following plants, sepals do not fall off after fertilisation and remain attached to the fruit?
2575231

frafafed & 3 fog 0 & e & a1g deed fiRd 18 § ok %a 9 93 /4 82

Brinjal
A
=
Cucumber
B
ECin|
Papaya
C
ofar
Bitter gourd
D

e

Correct Ans : A

Subject : Biology

Q.No: 390 Which of the labelled parts in the transverse section of tomato fruit, is/are diploid?
2575232

g

THICR & el & SR YT & P-91 AHifpd 1T o &/82



g

X
A
B
Y
Both X and Y
C
X 3R Y gt
None of the given option
D

fou e fowent A @ P T8¢
Correct Ans : C

Subject : Biology

Q.No: 391 The wall of the ovary forms

2575233
i # R T B
pericarp
A
wer (pericarp)
fruit wall
B
Td dHaR (fruit wall)
fruit
c
Bd (fruit)
both pericarp and fruit wall.
D

Belt R B &R ST (both pericarp and fruit wall)
Correct Ans : D

Subject : Biology

Q.No: 392 The term ‘clone’ cannot be applied to offspring formed by sexual reproduction because-
2575234

FA' Jeg ARTP S GRT T ATE YT R AL el e o Tebar aifes-

offspring do not possess exact copies of parental DNA

Ha™ & I Aral-far & dee # wde ufaar T8 et €



DNA of only one parent is copied and passed on to the offspring

B
Faa g Aa1-Rar o1 Siee St frar sar § ok Har o1 far s @
offspring are formed at different times
c
HAT SHEATT-3ERT THY W T1 3
DNA of parent and offspring are completely different
D

ATaT-faT SR T BT ST Ot oRE F SreT giaT §

Correct Ans : A

Subject : Biology

Q.No: 393 Spirogyra is a sexually reproducing alga in which vegetative thallus is haploid. In Spirogyra, meiosis
2575254

TTRERT T e T e e ST & R w1fie dor Srfrd S 31 WS §, srefphfree

never occurs

A
ot 78 e
occurs at time of gamete production
B
TS IS & TG §aT ¥
occurs after fertilisation
(¢
¥ & ag g @
occurs during vegetative growth.
D

Tl P  RA g &

Correct Ans : C

Subject : Biology

Q.No: 394 Major fuel component of biogas is—

2575255
O BT UE SUT e § -
Co
A
Co
Coy
B
Coy
CH,
C
CH,
CH3
D
CH3

Correct Ans : C

Subject : Biology



Q.No: 395 Which bacteria is helpful in making curd from milk?
2575256

gy § <€ 9 § B 41 ST Tee gl 87

Yeast
A
FCLing
Mycobacterium
B
AEPIaeIRgH
Lactobacillus
[¢]
LECIR K
StaphlioCoccus
D

wiraeew

Correct Ans : C

Subject : Biology

Q.No: 396 Deposition of calcareous shell around zygote occurs in
2575257

QIS & IRT R =T B R BT S BRG]
birds and reptiles
A
ueht 3R wdiv
birds and mammals
B
veft 3R WUt
mammals and reptiles
c
AU 3R Wiy
All of the given option
D

fow T @aft fawew

Correct Ans : A

Subject : Biology

Q.No: 397 Select the option which shows viviparous animals only-
2575258

TG ey 1 90 B S bae Sifdd Siqei @) gufdr 8-

Lizard, Turtile

fSuwmdl, FQam (Lizard, Turtile)

Platypus, Crocodile

wWfeud, WA (Platypus, Crocodile)

C Cow, Crocodile



Y, ARAw (Cow, Crocodile)

Whale, Mouse

2, IgT (Whale, Mouse)
Correct Ans : D

Subject : Biology

Q.No: 398 Fertilization in flowering plants was discovered by in the year 1884.
2575266
Tal & Wt F ¥ Bt @ gr1a¥ 1884 & &1 TS Rt
Barbara McClintock
A
IRERT ABIFAEI®
George Carver
B
Sifef TR
Ralph B. Strasburger
(¢
AP o). TR
Thomas Alva Edison
D

YT 37T TS
Correct Ans : C

Subject : Biology

Q.No: 399 Fertilization in flowering plants was discovered by Ralph B. Strasburger in the year
2575267

Fal & Wl & e Bt @ ew ot TR T g il
1869

1869
1884

1884
1799

1799
1898

1898
Correct Ans : B

Subject : Biology

Q.No: 400 Which of the following is a viviparous arthropod ?
2575268

fofafad & ¥ $F 91 e shavig e (Rfgt smifats) 82



Millipede

A
firefids
Scorpion
B
fasg
centipede
c
dds
Millipede & Centipede
D

firefids o ddUs

Correct Ans : B

Subject : Biology
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Submit

Q.No: 1 Botanical name of jowar is

2403992
R $T TP T §
Sorghum helpanse
A
T Fe
Vigna radiata
B
fam Yf¥aer
Sorghum bicolor
Cc
TR ISR
Eleusine corcana
D

TG BRBHT
Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 2 Indian Institute of Maize Research is located at

2403993
HYRAG HerebT Y TR R §
Hyaderabad
A
LEAEIC
Nagpur
B
AR
Ludhiyana
C
ERIE
Jaipur
D

SRR
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Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 3 Root rot of cotton disease is caused by

2403995
PUN b oIS T A7 BT HRU §
Virus
A
feramyy
Funj
B
Cca
Bacteria
C
Sitaryy
Pink boll worm
D

et Y&
Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 4  S.R.I. Concept is increasing productivity of rice by changing management of?
2403996

A. Water

B. Plant

C. Soil and nutrient

TH 3R TS STYRUN fFEF YeEA $ SR I19d F JAGH Ig1 61 32
A. T

B. e

C. a1 T4 UIv® ad

Only A

Had A
Only B

$ad B

Only Aand C

Pad A 3R C
All A,BandC

I A, B3R C

Correct Ans : D



Subject : Agriculture Two & Three

Q.No: 5 Maximum soybean producing state is-

2403997
T 1 Ga Sifi ITe FRA el I -
Punjab
A
L)
Madhya Pradesh
B
AT
Maharashtra
C
HERTY
Karnataka
D
g

Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 6  Which is not a advantage of crop rotation?

2404070
g & A P11 wud 9% &1 Ay T 82
Control of weeds
A
TRUAIR] BT g
Control of insect and diseases
B
Fie Td fwial o1 s
Decrease soil fertility
(o
a1 Jadvar ¥ wit
Increase in crop yield
D

Bl B Iue § G
Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 7  Growing of two or more crops together by mixing on a piece of land is known as:
2404071

Th 8 @/ Th Gy & a1 3 Y 34fe Bl & dlil Bl AR ST B g

A Intercropping



SR A

Intensive cropping

B
GCE RIS
Mixed cropping
(o
[LIECRIE]
Crop rotation
D

PId dsh
Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 8  Til + Bajra - Fallow - Fallow crop rotation is a example of:
2404072

faet + ToRT - IR - IR T IR &

Inter cropping

A
ST A
Mixed cropping
B
[LIECRIE]
Relay cropping
c
SHfRT T
Paira cropping
D

IR I

Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 9 Which of the following crop is different from the other three on the basis of cropping season?
2404073

A & Hg b AUR R FEfeidd # ¥ B9 @ waa o 9 3 g 82

Wheat
A

Mustard
B

It

C Chickpea



Bajra

dToRT
Correct Ans : D

Subject : Agriculture Two & Three

Q.No: 10 Crop grown to protect the main crop from vagaries of nature and also to render support to the crop is known as:
2404074

T HUd B UPid &1 Afafaarst ¥ sam ok I8 BUd &1 GeRT & & oY IS 9 dTelt Boet FHgand &

Inter crop
A

3R B

Nurse crop
B

CER

Alley crop
C

Tt waw

Trap crop
D

Fle AHYs Had

Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 11 Which of the following is not a soil cover crop?

2404075
19 & A H a7 3Red BUd T §
Black gram
A
L)
Soybean
B
e
Guar
C
TqR
Maize
D
HIPT

Correct Ans : D

Subject : Agriculture Two & Three



Q.No: 12 Major objectives of surveying is-
2404094
1. To prepare map

2. To prepare irrigation channel and canal

eI H UHE S -
1. TR §9H &g

2. R et Td 6% M 7
Only 1

Had 1
Only 2

Had 2

Both 1 and 2

AT 1 9T 2

Neither 1 and 2

T 1 eRTE 2

Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 13 Largest length of the line prepared during survey
2404097

-G b THY T vl 3@ SIS STl ©
Base line
A
YR T
Check line
B
ST Yl
Tie line
C
s
General line
D

T 3@l

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 14 Frost and low temperature are controlled in orchard by-
2404122



A. By smoke-screen
B. By Irrigation

C. By Fertilizer

a1 uren $iR e g FafRid o s 2-
A. 4T & 3RO

B. REE ¥

C. IR ¥

Both B and C

B3R CaHI d
Both A and C

AR CIATNA

Both A and B

AR BT A
Only C

*ad C

Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 15 Major function of mulching in orchard is
2404125

A. Reduced weed problems

B. Protect high temp and light

C. Conserve soil moisture

i § UoraR M @1 goT o1 §
A. TRUGAR! B! THET B HH HRAl
B. i/ AT Ud T § TR

C. &I THt T TReU

Only A
A

Fad A

Only B
B

Fad B

Only Aand C
C

Faa A SR C

D AllA,Band C



Tt A, B3R C

Correct Ans : D

Subject : Agriculture Two & Three

Q.No: 16 Application of liquid fertilizer with irrigation water is called-
2404126

RiaTg o1 & QY o IaRb] b G0N B HEd 8-

Chemigation

A

FHRRE

Fertigation
B

R

Micro irrigation
C

e Riarg

Drip Irrigation
D

U s
Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 17 Top working is mostly used for rejuvenation of-
2404127

Yrgfa-ieRr ¥ RRaR vt yr: Iuaih §

Mango

Papaya

Grape

R

Pomegranate

AR
Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 18 Rejuvenation in unproductive orchard can be done by-
2404128



STEH T B GH: IATGH ST S Gl § -

Proper pruning

A
3fd Pre-vic d
Proper nutrition
B
Ifa oo §
ProperIrrigation and Drainage
c
Ifra Riarg vd wa e 9
All of above
D

Suge it

Correct Ans : D

Subject : Agriculture Two & Three

Q.No: 19 The Indian Institute of Vegetable Research is situated at-
2404129

Varanasi

TRTORAT

Bengaluru

TG

New Delhi

7% faeeit

Hyderabad

FeRTETE

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 20 Optimum area required for a normal kitchen garden-
2404130

TP A &S W & Y 3gd &md B SATaged 8-

100 — 150 m?

100150 #HI?

B 200 - 250 m?



200 -250 H®

300 — 400 m?
C
300 - 400 #HI*
None of the above
D

Iudaa # B T
Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 21 Optimum seed rate of radish per hectare-
2404131

ot B Tead i &R Ui J9R §-
5-8kg

5 - 8 f&m
7 -8kg

7 -8 fem

20 - 25 kg

20 - 25 f&ur

10 - 12 kg

10 - 12 f&mr

Correct Ans : D

Subject : Agriculture Two & Three

Q.No: 22 Botanical name of carrot is-

2404132
TSR &7 I AT §-
Daucus carota L.
A
STHY HRIel ga.
Capsicum annum L.
B
FiRrew T Ta.
Raphanus sativas L
c

YIBY deEad T,

D Brassica rapa L.



ST 3T T

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 23 “Pusa Kesar” belongs to which species?
2404133

T HER 59 7@ ueii @1
Brinjal
A
CUE]
Tomato
B
THICR
Carrot
(o
MR
Cauliflower
D

pammit
Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 24 Pungency is chilli is due to

2404140
ford & i 8 &1 BRUT ®
Thaimeine
A
YTIHA
Curcunim
B

PR

Capsaicin
C

FRRE

Alyle Propyle disulphide
D

TRre viuTsa SIEHePTSS

Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 25 Solanum tuberosum is the botanical name of -
2404144



G0 gErgd adfad AT §-

Tomato
A

cHICR

Potato
B

1]

Chilli
c

ford

Radish
D

it

Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 26 How many grams of fruit does a person need per day?
2404145

ufafea sfe &) fbds UH Bdl &) STaeaedl gt 82

100
A

100

200
B

200

300
C

300

400
D

400

Correct Ans : D

Subject : Agriculture Two & Three

Q.No: 27 What plants use budding propagation?
2404146

DI Y Y TAId TR BT IUGNT BT &

Ash
A

migst

Black gum
B

el TG



Golden Chain

MesT o

All of the given options

few T Tt fawea

Correct Ans : D

Subject : Agriculture Two & Three

Q.No: 28 Mango is mostly propagated by
2404147

3T UIg: g b ofrar @

Inarching
A

ERlEUl

Cutting
B

FaT

Budding
c

FfeTa

Layering
D

grar fafdr

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 29 Optimum length of stem cutting is-
2404149

T B BT Sfad T el B-
5-10cm
A
5 - 10 9+t
30-45cm
B
30 - 45 ¥4t
10-30cm
Cc
10 - 30 9
None of the given options
D

e me e § @ 91 78

Correct Ans : C



Subject : Agriculture Two & Three

Q.No: 30 Kagaji lime is mostly propagated by
2404151

PN =g TgATTd ¥ § UG fpar S &
Grafting

TR

Hard stem cutting

HSR I Ha
Budding

qf$T

Air layering

TR AR

Correct Ans : D

Subject : Agriculture Two & Three

Q.No: 31 Example of monocotyledon fruit is
2404163

THEISTE B BT ISR |

Guava

Mango

3H

Banana

Fan

Lemon

Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 32 Training method of grape is-
2404165

SR H Wt 1 fAfYy 3-

A Head System



gs fRfy

Arbour or Pergola

B
USTE T W
Kniffen system
C
e fafr
All of above
D

IR gft

Correct Ans : D

Subject : Agriculture Two & Three

Q.No: 33 Alternate bearing is major problem of-
2404177

TBIR B U Ui 0 6-

Guava

G |

Mango

3 H

Lemon

Hq d

Banana

Far d
Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 34 ‘Amarapali’ is an important variety of-
2404178

STTe Ueb Hewaqul el g-
Mango
A
S
Pomegranate
B
SHR

C Grape



Papaya

LLic

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 35 Kinnow is an important variety of-
2404180

bl U g i &-
Lemon
A
GLE|
Lime
B
g
Mandarin
C
qRT
None of above
D

IWRIFd § B Ef
Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 36 Fruit Product order was started in India-
2404267

HRA H Bd IUTE SAIGR ARL G UT-
1920

1920
1945

1945
1950

1950
1955

1955
Correct Ans : D

Subject : Agriculture Two & Three



Q.No: 37 Which vegetable is used in canning?

2404283
fEsamadl § o1 Toolt WM H W 72
Pea
A
AR
Cauliflower
B
e
Carrot
c
MR
All of the above
D

IR gft

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 38 During bottling the optimum concentration of sugar syrup is
2404288

Rachiaur F T H I F ohed Frsar et ®

5 - 10 percent

A

5 - 10 yfa=e

10 - 20 percent
B

10 - 20 wfo=a

20 - 25 percent
C

20 - 25 yfowa

25 - 50 percent
D

25 - 50 yfa=E

Correct Ans : D

Subject : Agriculture Two & Three

Q.No: 39 Who gives informations regarding agricultural and processed food export in India?
2404297

UYRA H PV Td TR T ITe Fafd G SHeRt B Te B 82
A ICAR



3rs. /.. 3.

APEDA
B

|

NHB
C

LEACEA

NABARD
D

AmETS

Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 40 For refrigeration the optimum range of temperature is-
2404461

Wit % g Iuged araH g 8-
0—5°C

0-5°C
-1-0°C

-1-0°C
5-10C

5-10C
-1-1°C

—-1-1°C
Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 41 Where is the head quarter of NABARD?
2404525

RIS T T Fal (T 82
New Delhi
A
7§ faeeht
Mumbai
B
i E

C Nagpur



AR

Bangluru

TIgE
Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 42 National Institute of Agricultural Marketing (NIAM) is located at-
2404552

TSt PR RUA Hei R 3

Jaipur

SR

Raipur

AR
Nagpur

ARTYRY
Ahmadabad

G

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 43 Which of the following pathotypes is the most pathogenic?
2405720

ol & § HH-91 0deRy (MREs) a9 3ifis ATeHs 82

Neurotropic velogenic

A
RIS JaSi-s
Mesogenic
B
ELIEIECY
Lentogenic
C
CEEIEEd
Viscerotropic velogenic
D

RN Jeefe
Correct Ans : D

Subject : Agriculture Two & Three



Q.No: 44 Maize is a major source of for poultry.

2405737
gifueT & U AedT &1 U 7 Hid 8
Energy
A
St
Disease
B
[T
Toxin
C
faw
Pesticide
D
Plears

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 45 Birds over 18 weeks of age are reared in-
2405738

18 ITg ¥ e Mg & uferdl & e ol 8-

Brooder House

A
ESHCE]
Grower House
B
TI3R FTH
Layer House
C
AR BT
Broiler House
D

AR e
Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 46 The long axis of the poultry house should bein ___ direction.
2405739

Ol eeu Bl ddl gt fomn & @F =l

East-West
A

d-ufm

B North-south



IWR-glaor

South-East
c

aféror-gd

North-West
D

IR-ufgw

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 47 Which of the following is not an advantage of deep litter system?
2405740

Fafafed & ¥ o1 v e feq &1 a1y 761 82

Vitamin B; and Bi; are available in the litter material due to bacterial actior

A
mmﬁwﬁaﬁrmﬁﬁt@ﬂ@mﬂ?@ﬁumﬁ%
The deep litter manure is a useful fertilizer
B
< fRex &t @Ie Te Syt 3RS §
Faults in ventilation is not a big concern in deep litter system
(o
Sy frex Rvew # dfedwm & wvrd #1E ot R =€ &
Lesser nuisance from the flies as compared to cage system
D

i worreft $t germ § afReal § $9 Susa
Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 48 What should be the optimal level of ammonia for rearing broilers?
2405741

TR UTe & fore S &1 gyad R fava g1 =nfgu?

Less than 25 ppm

A
25 difign & $0
More than 25 ppm
B
25 didien & siftre
Less than 50 ppm
C

50 iy @ &0

D More than 50 ppm



50 idiew F aiftre

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 49 A product made from curd by coagulating the casein with the help of rennet or similar enzymes in the presence of lactic acid produced
2405769 by added or adventitious microorganisms, from which part of the moisture has been removed by cutting, cooking and/or pressing, which
has been shaped in a mould and then ripened by holding it for some time at suitable temperature and humidity is called as:

PRI F TR EE Y T TH IATE e T S R F T BI Aeg J et a1 sifaikad geAshal gRT Sanfed dfdes e @t Sufufd & s9mn 9 §,
s @ 71t & R A $1eq, TbM 3R <o I ger faar o 8, Bt 9w § 3o foar Siiar 8 iR i S8 Suged | 8iR gl R $9 999 &
oY uFHSHR U ST §, F1 Heard §:

Cheese
A

CiE|

Paneer
B

TR

Butter
C

HRGT

Ghee
D

il

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 50 What is the milk Fat percentage in cream?

2405770
P § gU b a9 BT UATd 1 8?
20-93%
A
20-93%
15 - 88%
B
15 -88%
10-30%
c
10-30%
99%
D
99%

Correct Ans : C



Subject : Agriculture Two & Three

Q.No: 51 The percentage of water in cream is:
2405772

Tars § grt &1 wfoRrd &
4545-68.2%
A
4545 -68.2%
4042 -78%
B
4042 -78%
8%
C
58%
68%
D
68%

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 52 Butter is principally composed of milk
2405773

TRIT T U § g , ,

and

Fat, Moisture, Sugar and Cream

A
T4, 7, R 3R T
Fat, Moisture, Salt and Cream
B
T, TR, T IR waré
Milk, Moisture, Lipid and Cream
C
gy, T, fafis ok ward
Fat, Moisture, Salt and Curd
D

91, T, THE R &
Correct Ans : D

Subject : Agriculture Two & Three

Q.No: 53 Milk powder containing moisture in percentage is:

2405775

TreeR gy o = ufawrd §:

J & e B



5 percent or more than 5

A

5 ufo=ra a1 5 @ siftre

5 percent or less than 5
B

5 yfo=ra a1 5 4 $H

8 percent or less than 8
C

8 yferra a1 8 § HH

8 percent or more than 8
D

8 ufo=ra a1 8 9 3ife

Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 54 Fat percentage in commercial Butter is:

2405778
RIS TReT & a1 Ui §:
Approx 80%
A
TITHT 80%
Approx 90%
B
TTHIT 90%
Approx 60%
c
TITHIT 60%
Approx 70%
D

TTHIT 70%
Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 55

. - o .
3405770 The chemical composition of fat% in cream is:

e T I BT UiaEd @1 e IRE 8
50 - 60%



80%
C

80%

80%
D

90%

Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 56 SNF % of cream is:

2405780

HeTS &1 TH.T.0%. Ui g

455 - 6.80%
A

455 - 6.80%

5.55 - 6.60%
B

5.55 - 6.60%

6.60 — 7.68%
C

6.60 — 7.68%

8.8.— 7.88%
D

8.8.— 7.88%

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 57 Ankaleshwar is a famous breed of-
2405813

SfeperR fpge! faeTd 7% §-
Fish

Tt
Chicken

gt

Goose

D Duck



CSLGH
Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 58 Which of the following is not a part of poultry farming?
2405814

fufafea & § o il urem o1 fewr 78t 82

Goose

Duck

CELGH
Chicken

ot

Goat

FHA

Correct Ans : D

Subject : Agriculture Two & Three

Q.No: 59 What is the last step of commercial hatchery operation?
2405815

FaRfad T8 iR @1 sifqw =Ror 7 82
Incubation
A
Sogd
Storage
B
HSRU
Grading
C
Fofieor
Vaccination
D

AFTHI0

Correct Ans : D

Subject : Agriculture Two & Three

Q.No: 60 Which of the following is the first stock in a Poultry Breeding Organization?
2405816



i urem e B Fufafad & @ 19 91 ugen ©ie 82

Pureline Stock

A

WRATEA wid

Grand Parent Stock
B

s We wie

Parent Stock
c

e wie

Commercials Stock
D

HURT Tie
Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 61 Which of the following form of feed is exposed to heat treatment during preparation?
2405817

Fafifed & § S 91 Ble IR a HY ST IUER & Gud § 37T 87

Mash feed
A

i wis

Pellet feed
B

Tde B

Mince feed
C

fora wis

Crumbles
D

E2o IS

Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 62 Which of the following factors is not important in hatching?
2405824

frofafed & ¥ o1 W $Re 3R (33 ) & meaygyf 7 32

Turning
A

e

Position
B

fufa



Temperature

GIEEIE]

Relative humidity

[T ket

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 63 Milk is a complex chemical substance in which fat is present in the form of an , and matter in the colloidal state and
2405870 |actose with some minerals and soluble proteins in the form of a true solution.

3y U i i verd @ ol e ue__,
W TF = 9id & &0 & 81 7

Amino acid, Protein, and Fat

3R F w0 ¥ Hrsed R ¥ Hivg 8T 8 R A & WY $ Tl iR geia

= Tfrs, WA iR

Emulsion, protein, and some mineral

TR (TN), W R $o @

Lactose, mineral, and Sucrose

AR, @, iR g

Fat, Protein, and Lactose

91, WA 3R A

Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 64 What is the full form of SNF?

2405871
TH.UA.U%. (SNF) @1 qof &g &1 87
Solid Nitrogen Fluid
A
HIfers ATEEIoH WIFS
Skimmed Nitrogen Fat
B
fRprs 3o e
Solids Not Fat
C

wifrgy fe ¥e

Skimmed Not Fat



fRprs ATe Be
Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 65 What is the minimum percentage of SNF in Buffalo milk?
2405872

Vg % gy B THTIUH (SNF) &1 aH Ui fba gar @

7
A

7

8
B

8

9
C

9

6
D

6

Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 66 Principal protein in milk is?

2405873

Ty ¥ U W 82

Casein
A

Caiin]

Lysine
B

CIEEIE]

Leucine
C

G|

Sucrose
D

ican)

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 67 Which is a primary carbohydrate of milk?
2405874

Y BT UIfie FrefgrRge FIF W 82



Lactose

A

AT

Sucrose
B

g

Fructose
C

waere

Arginine
D

Snff=

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 68 Factors affecting Composition of Milk are?
2405875

Y BT TIAT B GHITAT B a0 HRP 32
Environmental and Physiological
A
afaRor R RS
Climatic and animal
B
STy S Uy
Climatic and Environmental
C
Sarg 3R yafawor
Physical and Physiological
D

Hifow ik TRk

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 69 How long is the gestation period of a cow.
2405886

g a1 MiebTet fba AT T gl 8-
310 days
A
310 fa
300 days
B
300 a1

C 283 days



283 fgq
292 days

292 f&q

Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 70 A lactometer is used to test:
2406006

T% AdeiHieR fhgeT Tierr - & forg o far o §:

Milk
A

Y

Water
B

it

Colour of Milk
C

TU S [T

Milk protein
D

Y F WA

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 71 Anthrax is caused by bacteria:

2406030
whter SRR & HRUT e B
Pasteurella haemolytica
A
grger gHte®T
Clostridium chauvoei
B
FaRglfeaw atars
Bacillus anthracis
C
e g3l
Sphaerophorus necrophorus
D

TRIE Fpiwe

Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 72 The National Bureau of Animal Genetic Resources (NBAGR) is located at:
2407003



T U SFARP THIeH S (NBAGR) Fgt R g:

Hissar, Haryana

R, sfwamon

Avikanagar, Rajasthan

fAFTIR, IS

Karnal, Haryana

w1, g

Jansi, UP

e, gt

Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 73
2407005

Camel has chambered rumen.

e d Peflg T B 31

Four

Three

Two

Single

s

Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 74
2407007

The beak of Duck is called as:

TG P T B el oIl 8
Clutch

Cull



Bill
c

foa

Dubbing
D

gfe

Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 75 What is the stomach of a bird/chick called?
2407011

Te&ft o1 & U< B R HET AT 82

Vent

e

Gizzard

firems

Rumen

Belly

et

Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 76 What is the name of the world’s second buffalo calf?
2407019

Ty @1 gt O &1 o A B-
Dolly
A
Steft
Pratham
B
oYy
Garima
Cc
T
Karan
D



Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 77 World first stin-vitro fertilized, What is the name of a buffalo calf .
2407020

a1 &1 Uger 39 e BidarEeR & SBe & 1 AH §

Banni
A
EEil
Karan
B
A
Pratham
C
uyq
Swagatam
D
WRTdH

Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 78 What to feed cows after calving?

2407021
M & F1& MG B T REAT?
Feed Carbohydrate-rich fodder
A
FalgIsse gad IRT @y
Meat and bone meal
B
i 3R g BT WS
Oilseed press cake
C
foere 09 S
Green maize
D

B HIDT
Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 79 Which acid is required for the cattle to maintain their regular milk fat percentage?
2407022

TRt &Y s Fafa gy o ufaRd &1 S9N TR & O 5 e @t siravadar gt 82

A Citric Acid



wrsfew ufrs

Sulphuric Acid

B
e efrs
Acetic Acid
(o
fifew efrs
Formic Acid
D

Bift® TS

Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 80 Which of the following is not a common plant grown exclusively for fodder?
2407023

fFRefifed # § S Sad IR & Y I S arer IErg g T8 872

Rye grass
A

I TN

Wheat loftovers
B

g & divesiar

Grass or lawn Clipping Waste
C

U AT @ HeR SRy

Oilseeds press cake
D

foaga N P

Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 81 What to feed a calf after weaning?

2407024
Y TSH & 91¢ IO DI 1 fEamg?
Hay
A
qdt o
Silage
B
Rerst

C High protein oil meals



I U a9 Hie

Grass or lawn clipping waste

U 9T |9 $av Uy
Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 82 What is a good source of protein for cows?

2407025
TR % o WEH &1 33T Hid 1 57
Corn cattle feed
A
HHE Y AN
Feed molasses
B
T3 fang
Alfalfa Hay
(o
SERTEPT I T
Paddy straws
D

°= & 4R

Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 83 Under which of the following animal feeds, cereal grains and their by-products are classified?
2407026

(A) Concentrate foods

(B) High protein meals

(C) By product of sugar beets

frofefad & | g uy) 3MER, 3N 3R 3% Iu-Iadre) ol aiffepd fobar mar 82
(A) &9 S @ yard

(B) 3= UIEH HieH

(C) gdhex & IdIE gRI

Only (A)

Had (A)
Only (B)

*ad (B)
C Both (A) and (B)



T (A) 3R (B)
Both (B) and (C)

3T (B) 3R (C)
Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 84 Which of the following is produced by drying grasses or legumes to feed the animals?

2407027
FHR! B Ream & forg g an wierat gaes Fufifed # 9 o1F 91 Jdred foar s g2
Pasture
A
IRNME
Hay
B
s
Silage
C
e
Pasture & Silage
D

IRTTE 3R Rds

Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 85 Which of the following roughage is made by packing immature plants in an airtight storage container and allowing them to ferment?
2407032

(A) Silage

(B) Hay

(C) Straw and Hulls

e # F B9 & A sroRue Nl &) we argdeh HSRU $eR § 0o B3 R I U B AR B S S 82
(A) Rt

(B) il oy

(C) ¥ 3R @&

Only (A)

Had (A)
Only (B)

*ad (B)
C Both (A) and (B)



T (A) 3R (B)
Both (B) and (C)

3T (B) 3R (C)
Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 86 For economic reasons, which of the following is utilised as animal feed less frequently than in the past?
2407033

e HRoN @, Fafafed & 3 frue Suah ugd &1 ga § &8 aR Uy 3MER & ¥ § far ST 82

Hay
A
qdt o
Straw and hulls
B
I ok 7o
Silage
C
e
Root crops
D
S wad

Correct Ans : D

Subject : Agriculture Two & Three

Q.No: 87 Which of the following statement(s) is/are incorrect regarding straw?
2407034

A. They are low in protein and very high in fiber.

B. Digestive capacity is low.

C. It is very high in nutrition.

1R Tay § i § § S 91/ FYF 7o 8787
A. 3 U & $9 9IR BIRR & 9gd o4 g

B. UTE & &1 g

C. g uu # g4 ofde g1

Only A
A

Fad A

Only A and B
B

Faa A R B

Cc Only Aand C



Fad A 3R C
Only C

¥ad C

Correct Ans : D

Subject : Agriculture Two & Three

Q.No: 88 Which of the following is necessary for maintenance, growth, pregnancy and lactation in adult cattle?
2407035

Jop HafRET B TeR@E, g, Tuiawn ok gg e & fou Fufafea & 9 o9 @1 srawas 32

Fat
A
a1
Carbohydrate
B
Pratersse
Protein
(o
A
Water
D
LGl

Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 89 Beets (mangles), rutabagas, cassava, turnips, and sometimes surplus potatoes are associated with which of the following?
2407036

dieg (ATT), SIGNTE, HYTEl, oo 3R Heit-waft sifafvaa e FofifEa o & feue Iy 98 gu 72

Root crop
A
»c A
Straw
B
wT
Silage
C
e
Hay
D
I o

Correct Ans : A
Subject : Agriculture Two & Three



Q.No: 90 Rations for milch cows are generally designed to meet their and caloric needs.
2407037

Y 37 el TR % oY IR o AR W 3 IR FAR B TR B I FRA & o IR o s 31

Protein
A

IGE

Vitamins
B

faerfim

Lipid
C

fafrs

Calcium
D

Ffexraw

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 91  Which types of soil are not found in Madhya Pradesh?

2407090

T YR ¥ 59 vR @f gt e urs e 82

Black Soil
A

et gt

Red Soil
B

ara figt

Arid Soil
Cc

= fargh

Peaty Soil
D

e forgt

Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 92 Which city is known as 'Rice Bowl of India'?
2407091

(A) Andhra Pradesh

(B) Madhya Pradesh

(C) Uttar Pradesh



59 WER F1 "URA FT AMGA BT HERT' HeT A 62
(A) 3y wo=T

(B) THA W&W

(C) IR wew

Only (A)

Had (A)
Only (B)

*ad (B)
Both (A) and (B)

T (A) 3R (B)

Both (B) and (C)

3T (B) 3R (C)
Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 93 Which state is home to the world famous Ongole cattle breed?
2407092

sy ufrg SiiicT U] T T TR B9 A1 I 22

Haryana
A

gheamon

Andhra Pradesh
B

TS TS

Madhya Pradesh
C

AY TSN

Uttar Pradesh
D

IR U

Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 94 Which state has won the Special Interest Group on e-Government Awards 20207?
2407094

g =g 7 $-TTaiHe 3ATSY 2020 WR IR 3y Tg Sfar 82

Punjab



Lic)

Andhra Pradesh

B

3isr weT

Madhya Pradesh
c

e Yo

Uttar Pradesh
D

IR W™

Correct Ans : B

Subject : Agriculture Two & Three

Q.No: 95 Which of the following method is typically used to pasteurize the packed milk distributed in the market?
2407096

frofofad & 9 fra fafyr &1 Wi smdR R TR § f3aikd I gy & uRgdied aA & o o s g2

UHT system
A

UHT Yorrett

LTLT system
B

LTLT Yorrelt

HTST system
C

HTST YorTelt

Sterilization
D

FEHTHROT
Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 96 Which of the following is irrelevant to clean milk production?
2407097

(A) Washing udder with iodophore

(B) Discarding foremilk

(C) Not using hooded milking pail

frafifed & § o W= gu Ided & g suRifie 82
(A) ¥ DI ITASIHR I T

(B) BRI Bl TR

(C) TS QY & aTel STt BT SUANT 7 AT

Only (A)



Had (A)

Only (B)
B

Fad (B)

Both (B) and (C)
C

3 (B) 3R (C)

Both (A) and (B)
D

3T (A) 3R (B)
Correct Ans : D

Subject : Agriculture Two & Three

Q.No: 97 The idyllic culling percentage per annum per cow should be;
2407098

ufa g ufa of Yae Shae &1 SRt ufewrd g1 IRy,

5%
A

5%

10%
B

10%

20%
Cc

20%

30%
D

30%

Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 98 As we know, milk is produced by the female cale(cattle). What is the other name used to represent the “milk-producing female cale”?
2407112

ST 3 &1 WA §, U T Il HIcT d gk fbar Wil 81 "y Uar - areht [ieT e ol ufafifiig o & g sxiara fbar S ara gaRT 1 7 82

Cale husbandry

TR T[T

B Draught animal



HHler SR

Milch animal

[FARE

Animal husbandry

LRILIGE]
Correct Ans : C

Subject : Agriculture Two & Three

Q.No: 99 The average life span of Tharparkar cow is:

2407113

YRURHR TG HT A SHia BT gl

25 years
A

25 9

23 years
B

23 9

27 years
C

27 af

20 years
D

20 99

Correct Ans : A

Subject : Agriculture Two & Three

Q.No: 100 The Perfect environment temperature to achieve maximum yield from dairy cows can be:
2407117
3 T Sifman IuW U B & T et wafaRuig IUAM 8 ThaT §
30-35°C
A
30-35°C
5-16°C
B
5-16°C
17-24°C
C
17-24°C
25-29°C
D
25-29°C

Correct Ans : B



Subject : Agriculture Two & Three

Q.No: 101 Which enzymatic reaction(s) are highly relevant to the efficiency of nitrogen-based fertilizers?
2404489

Teeio STRd IdRb! &1 gerdT F o HH I tereafes ufafsran srafies urifie g2

Urea
A
g
Ammonia oxidation
B
SHfar sifqfiameor
Urea and Ammonia oxidation
C
i 3R sEfran sifwfiaor
Ammonia reduction
D

ST e

Correct Ans : C

Subject : Agriculture One

Q.No: 102 Which of the following is a multinutrient fertilizer?

2404491
PR 3 § B 1P Sgiive IR § ?
Superphosphate
A
R IEhe
Muriate of potash
B
e S der
Monoammonium phosphate
Cc
HAISHIEH Biebe
Ammonia
D
ST

Correct Ans : C

Subject : Agriculture One

Q.No: 103 Foliar fertilizers are directly applied to:
2404493

quf I&e! Bl A TR T STl B

A Leaves of plants



Hei 3t ufwi

Stem of plants

B

aret &1 a

Roots of plants
C

et B o

It can be applied anywhere
D

3Q ®el ot @ e o wear @
Correct Ans : A

Subject : Agriculture One

Q.No: 104 Which of the following statement(s) is/are not correct with reference to fertigation?

2404497

BiENRH & Feuf § Fafiied § § 1 1/ due a8 T8 8/82

It is inferior to conventional or drop-fertilizing methods.
A

Tg URUR® a1 giu-witahim faftat d fra 21

It is injection of fertilizers
B

g ITP! BT §oIaH &

It reduces leaching of chemicals into the water supply.
Cc

g U Ft g & YarE Ft AR B FH B 2

It is related to chemigation.
D

g T A et 21

Correct Ans : A

Subject : Agriculture One

Q.No: 105 Which unstable compound is formed in the first step of the hydrolysis of urea using urease and how much ammonia is produced after
2404498 complete hydrolysis?

T & RSy & Ugd TR B gRAT 1 TN R B AT SRR A1 a9a1 § IR quf gz & arg fsamn srfan I giar 32

Acetic acid, 2

ufufes o, 2

Carbamic acid, 2

PIEAP 3, 2



Formic acid, 1

Bif® 3, 1

Acetic acid, 1

TRufe® ama, 1
Correct Ans : B

Subject : Agriculture One

Q.No: 106 Number of the oxygen atom(s) present in Pyran is/are-
2404515

URRM(Pyran) & Aeg Sifefiei wamsi @ g 8/8-

One
A

TH

Two
B

@

Three
c

@

Four
D

IR

Correct Ans : A

Subject : Agriculture One

Q.No: 107 Lecithin is found in

2404517
NSRERCIRCICI
Vacuole
A
Rfeaet
Mitochondria
B
gDl
Cell membrane
Cc
PP frett
Cytoplasm
D
G

Correct Ans : C



Subject : Agriculture One

Q.No: 108 Muscular weakness is associated with the deficiency of-
2404519

Uity gefer fham! St § Tsfid 82

Vitamin A

faerfm A

Vitamin D

feerf= D

Vitamin E

faef= E

Vitamin K

faerfa K

Correct Ans : C

Subject : Agriculture One

Q.No: 109 Amino acid is basic in nature when-

2404520

SfiFt st et Ul T e B Wfa-

Number of amino and carboxyl groups are equal
A

S SR FraifeRTe T Bt HET RIS Tt 8

Number of amino group more than humber of carboxyl group
B

HraifeTe T B GO A e it g # Wen ad §

Number of carboxyl group more than humber of amino group
c

i e ) HEn A it SreifRTa TUE B T gt ¥

It does not depend on the number of amino and carboxyl group
D

Tg S ok Fraifeud Tqg @1 gEn W Rk 98 s @

Correct Ans : B

Subject : Agriculture One

Q.No: 110 What is the chemical formula of ethyl alcohol?
2404536

AT 3ehigd BT ARG G T 82
A Ci:H,OH



C:H,OH

C4H,OH
B

C4H,OH

C:Hs0H
C

C:Hs0H

C:H:OH
D

C:H;OH

Correct Ans : C

Subject : Agriculture One

Q.No: 111 What is another name of urea?

2404538
TRAT BT IR W &1 82
Propellants
A
LIy
Carbamide
B
Pratuss
Graphite
C
ELgEr
Nitric Acid
D
Efew Thrs

Correct Ans : B

Subject : Agriculture One

Q.No: 112 What are the major important component of fermentation process?
2404539

e ufthar & Wi Ae@yul gew a1 82
Sugar
A
Cici|
Nitrogen
B

EIEGEE]



Carbon

C
PTE
Urea
D
g

Correct Ans : A

Subject : Agriculture One

Q.No: 113 Which of the following acid does not form anhydride?
2404541

fufeiad & § S99 3 TSRS gl ST 82

Formic acid

A
wiki® TR
Acetic acid
B
s Thrs
Propionic acid
C
e oire
n-butyric acid
D

-fefk® s
Correct Ans : A

Subject : Agriculture One

Q.No: 114 OQils and fats are bad conductors of-

2404557
A9 SR T forads Faa® &-
Only Heat
A
Fad S
Only Electricity
B
Faa fagya
Heat and Electricity both
(o
ST ST 3R fagga
Neither Electricity nor Heat
D

AT ot A o fagya

Correct Ans : C



Subject : Agriculture One

Q.No: 115 P
. . . Fec.
2404718 what is the simplified value of || ?
4 secA-1

[secd+1

&1 Oeigd I a1 82

cosecA — cotA

*\Jlsgc.é—l

cosecA — cotA

cosecZA

cosecZA

cosecA + cotA

cosecA + cotA

sec?A

sec?A

Correct Ans : C

Subject : Agriculture One

(22"1'\:)(:7111: Ifsin B + cosec 8 = /3. then the value of sin® 8 + cosec®8 is-

TfE sin 6 + cosec B = /3, dl sin® B + cosec?8 BITHM %:

0
A
0
V3
B
V3
3 \."'5
C
3 \."'5
-1
D



Correct Ans : A

Subject : Agriculture One

Q.No: 117 2., 2 ) — =7
2404720 Iftan® @ =1 4 2 tan” [, then v 2 cos e — cos [§ =7

TG tan? @ = 1 + 2tan? B,Eﬁ\.@cosa—cosﬁ =7

0
A

0

-1
B

-1

oo
C

(ee]

1
D

1

Correct Ans : A

Subject : Agriculture One

Q.No: 118 gjp 750° =

2404724
sin 750° =
1
A
1
-1
B
-1
1
2
C
1
2
1
T2
D
1
2

Correct Ans : C

Subject : Agriculture One



Q.No: 119 gjp 25% + cos115° =
2404725

sin 25% + cosll3® =

0

IS

-

(3]

Correct Ans : A

Subject : Agriculture One

Q.No: 120 Tf A =5in17°5in37° B =3 cos73%cos33°, then.
2404726

qﬁ: A =s5inl17°sin37% B =73 cos73".cosd3”®, f‘ﬁ—

2A=8B
A

2A=8B

3A=8B
B

3A=8B

A =2B
C

A =2B

3B=A
D

3B=A

Correct Ans : B

Subject : Agriculture One

Q.No: 121

tan48® +tan12°
2404727 The value of

—————is:
1-tan48® +tan12°



tan48° + tan 12°
1-tan48® +tan 12°

HIAHE:

1
A3
A
1
A3
V3
B
V3
24/3
C
24/3
1
D
1

Correct Ans : B

Subject : Agriculture One

Q.No: 122 cosec23+sec677)(cos67 +5in23),
2404728 The value of ( X ]15:

sec36” sin534°+cos3 3% cosecs7”

(cosec23+sect7 )(cos6 7" +5in23%) & O T i‘g

sec36” sin54°+cos33° cosecs 7"

(SR

e |

1
4
Correct Ans : A

Subject : Agriculture One



Q.No: 123 yyha¢ is the value of cot(58° + ) — tan(32° — 8) — sec?77° + cot® 13°7
2404729

cot(58° + 8) — tan(32° — ) — sec?77° + cot? 13° B A &1 &7

0
A

0

1
B

1

2
C

2

-1
D

-1

Correct Ans : D

Subject : Agriculture One

Q.No: 124 1 o330 = A/B. then find the value of cosec33° - cos57°
2404730

e cos33e =A/B, Tl cosec33® - cos3T° ] HIH Fld G HQI

AE
BVE® — A7

J"-'LE
BVE® — A7

BZ
AVBT A7

BZ
AVBT A7

BE
AVAT _BF

E 2
AVAT_BE

D A®
B+/AZ — B




Az
BVA? _B?

Correct Ans : A

Subject : Agriculture One

Q.No: 125 The mean of 22 observations is 35. It was later discovered that 16 and 24 are misread as 31 and 42. Find the correct mean.
2404737

22 3l Bl AR ATEd 35 §1 ST § U8 UdT el fb 16 3R 24 &1 31 3R 42 & U H Tdd JHS SIdT &1 &l 7ed 71 DI |

32
A
32
33.5
B
33.5
31.5
C
31.5
34
D
34

Correct Ans : B

Subject : Agriculture One

Q.No: 126 The mean monthly salary of 15 workers at TCP is Rs. 18000 and the mean monthly salary of 25 workers of HCR is Rs. 12000. Find the
2404738 mean of the combined monthly salaries of all 40 workers

R & 15 FaiRal 37 oid AIRIE 399 3. 18000 3R TIRHSIR & 25 HHARE! HT 3d Wi a1 31 12000. T 40 TG F Tgad AS Ja-
BT HIEH 1A BT

Rs. 14250

%.14250
Rs. 16500

%.16500
Rs. 17750

%.17750
Rs. 12250

%. 12250
Correct Ans : A

Subject : Agriculture One



Q.No: 127 The range of 11, 9, 18, 35, 42, 26, 4, 19, and 31 is?

2404739
11,9, 18, 35, 42, 26, 4, 19 3R 31 3 W@ T 8?2
42
A
42
a4
B
a4
26
c
26
38
D
38

Correct Ans : D

Subject : Agriculture One

Q.No: 128 Average of present age of A, B, C and D is 15.5 years and the ratio of the sum of present ages of B and C together to that of A and D
2404742 together is 14:17. If D is 4 years older to A, then what is the average present age of A, B and C?

A, B, C 3R D @1 adH 31 &1 3M¥d 15.5 99 § 3R TS T B T C Bt WM 3R BT AT qUT A 3R D P GodH 31 S TN BT 30T 14: 17 813 D,
AR 4TfTEI], a9 A, B 3R C B 3T IdAH o et 82

10 G) years

A
10(3) o
14 {3} years
B
14(;) o
17 G) years
C
17 ()7
9{%} years
D

Correct Ans : B

Subject : Agriculture One



Q.No: 129 The average of 37 consecutive odd numbers is 63. What is the fourth largest number?
2404743

37 AN fIvH Tl &7 3i9d 63 §1 Tl gad 9} Tem 1 3?

93
A

93

95
B

95

97
C

97

99
D

99

Correct Ans : A

Subject : Agriculture One

Q.No: 130 Find the Mode of the following data:

2404744
X 32 14 59 a 28 7 |34 20
Fix) | 8 4 12 8 10 16 | 15 9
frafifad veu s1agas @rg?
X 32 14 59 41 28 7 |34 20
Fix) | 8 4 12 8 10 16 | 15 9
59
A
59
28
B
28
14
C
14
7
D
7

Correct Ans : D

Subject : Agriculture One



Q.No: 131 Sapna has 30 notes of ten rupees, 16 notes of twenty rupees, 39 notes of fifty rupees, 22 notes of a hundred rupees and 10 notes of five
2404745 npyndred rupees. Find the mode of the number of notes.

U F U 9 ¥UU & 30 e, HF IUT F 16 AT, AN $UT F 39 e, T U F 22 e 3R uig I IUY F 10 Al g1 el 3T e FT 95 1
Fifor|

500

500
117

117
50

50
39

39
Correct Ans : D

Subject : Agriculture One

Q.No: 132 The empirical relation between mean, median and mode is:
2404746

e, TfereT 3R Sgad & o AUfas ey §

mean + median = mode

A
mean + median = mode
mean = 3 median - 2 mode
B
mean = 3 median - 2 mode
mode = 3 median - 2 mean
(o
mode = 3 median - 2 mean
mode = 2 median — mean
D

mode = 2 median - mean

Correct Ans : C

Subject : Agriculture One

Q.No: 133 The runs scored by Sachin in 11 matches are as follows :
2404747

12, 98, 46, 132, 54, 50, 74, 99, 111, 36, 62.

Find the Median of his score.



T gRT 11 B & §1¢ 77U 39 39 UHR §:

12, 98, 46, 132, 54, 50, 74, 99, 111, 36, 62.
IG® I BT AIfAHT J1d DI

62

62
132

132
50

50
12

12
Correct Ans : A

Subject : Agriculture One

Q.No: 134 The mean of 6 observations is 6.5. If five of the observations are 8, 9, 7, 11 and 6, then find the sum of median and standard deviation of
2404756 the observations.

6 DUl &7 AT 6.5 §1 A Uia Yeur 8, 9, 7, 11 3R 6 8, d Vel F AfADT iR AFS rga &1 anT J1d Fifvm|

8.5
A

8.5

10.4
B

10.4

11.2
C

11.2

9.6
D

9.6

Correct Ans : B

Subject : Agriculture One

Q.No: 135 The quartile deviation of 2, 12, 19, 17, 52, 11, 32, 23, 25, 12 and 39 is:
2404758

2,12, 19, 17, 52, 11, 32, 23, 25, 12 3R 39 &7 Igd® G- §1
11

11



12

B
12
10
C
10
14
D
14

Correct Ans : C

Subject : Agriculture One

Q.No: 136 The numerical value of mean deviation about the median for the numbers 12, 13, 16, 10, 8 is how much less than median of the
2404759 nympers.

gwEmait 12, 13, 16, 10, 8 & foIT AT $ IMie A1 faeH &1 TBIHS TN B8 & H1ead 4§ foba1 oA g1

9.8
A

9.8

12
B

12

11.4
C

11.4

12.2
D

12.2

Correct Ans : A

Subject : Agriculture One

Q.No: 137 |gg (cot 19) (cot 29)..... cot 899 is equal to:
Yoo A )M Jone { Jiseq

log (cot 19) (cot 29)..... (cot 892) DI HIH %e:

oo
A

(ee]

1
B

1



-1
Correct Ans : C

Subject : Agriculture One

Q.No: 138 Tf 3¢y 8 =2 and ‘0" is in II quadrant, then tan 0 =
2404764

oG 3sin 0 =2 AR 0 GO TqUM A8, Aean0=

-2
V5
A
-2
5
2
5
B
2
V5
2
3
C
2
3
-2
3
D
-2
5

Correct Ans : A

Subject : Agriculture One

%"\(‘)‘2717319 If 180° < 8 < 270° and tanf = 15—2 then cot + sinf =
TfE 180° <6 < 270° AR tand =15—2= Tl cotd + sind =
181
65

A
191
65

B 131

63



131
65

125
63

125
65

108
63

108

63

Correct Ans : B

Subject : Agriculture One

Q.No: 140 The force which holds various constituents (atoms, ions, etc) together in different chemical species known as chemical bonds are
2405049 i, pature

I8 g0 of I e quif # fafts gewt (e, e, onfE) @i ue Wy T@dr €, N I\ §Y & =9 | S o 7, Ufa | gl

Attractive

pYH

Repulsive

yfaeR®

Detaching

ST

Stagnant

far

Correct Ans : A

Subject : Agriculture One

Q.No: 141 Choose correct statement regarding electro-valency in electro-valent bond?
2405050

(A) Numbers of electrons gain

(B) Numbers of electrons lost

(C) Numbers of electrons shared



oy Wi s # dgg Gaismdl & Ay 6 B T
(A) 3AFCH Al F F=m
(B) 39 BN &1 G&A

(C) WrET fbT T SaeR BT e
Only (A)

Fad (A)
Only (B)

*ad (B)
Both (B) and (C)

1 (B) 3R (C)
Both (A) and (B)

3 (A) 3R (B)
Correct Ans : D

Subject : Agriculture One

Q.No: 142 Which types of solvent are capable of dissolving ionic solids?
2405051

A: polar solvent

B: solvent with high dielectric constant

C: non polar solvent

D: solvent with low dielectric constant

59 TR & foame smafe 36l ® gien & 96 81 62
A: ya faare

B: 3 WRI4gyd RS F Y [Jamas

C: yd faemas

D: 9 Wdgga RRIw & w1y faars

(A) and (D)

(A) 3R (D)
(B) and (C)

(B) 3R (C)
(B) and (A)

(B) 3R (A)
(D) and (C)

(D) 3R (C)

Correct Ans : C



Subject : Agriculture One

Q.No: 143 Which of the following are not part of electrovalent bond-

2405052
frafifed & 3 o1 sawiade dis 1w Tel &-
Cations
A
CEICE)
Anions
B
EIEE]

Compounds with very high melting point

g4 3w TS 9T DS

Bonds in carbon-tetrachloride

PIA-CCTaARISS H T
Correct Ans : D

Subject : Agriculture One

QNo: 144 1, (1 bond formedis

2405053
While in C;HCI, bond formed between both carbon atomsis
HC1 & ST aTeT ae7 I
STafeh CHCL #, Bl eel WA & I aeerarenayg @
Single covalent bond, electrovalent bond
A
THd SN aY, fAggaudiee au
Single covalent bond, double covalent bond
B
THd Heude a4, f§ weHaes a9y
Coordinate bond, electrovalent bond
c
Uy §Y (SfEAe dv), fagga Jaieh sy
Coordinate bond, double covalent bond
D

U §Y (HIfEAe dv), 7§ Teiaeie dy
Correct Ans : B

Subject : Agriculture One

Q.No: 145 Formation of ionic bond takes place when a atom transfers one or more electrons to a
2405054

atom



TR Y BT 0 a9 gl § o9 T TRENY TH A1 TF & 1 sdAaeii & RATY F RIFIART FaT &

Metal, non-metal

A
UTd, 3ruTd
Non-metal, metal
B
S1YTg, UTd
Metal, metal
C
g, Ug
Non-metal, non-metal
D

STYTq, SMUTq
Correct Ans : A

Subject : Agriculture One

Q.No: 146 A distance between the nuclei of two ____ atoms in a molecule, is turned as bond length
2405055
A AR & el & oi" B g B 9y das b wU F ged a1 oar 8
equilibrium, unstable
A
g, ARR
equivalent, unstable
B
TUDRE, TR
equilibrium, bonded
Cc
wge, 9y
equivalent, equivalent
D

HHADE, THPE
Correct Ans : C

Subject : Agriculture One

Q.No: 147 Two elements A and B have electronic configurations as A= 21, B = 27, What type of bond will form between them?
2405056

3 ddl A 3R B & Soac-e [T A = 21, B = 27 §, 37 s b9 UHR BT §¢ F?

Covalent bond

YeIUIoP §Y

B Coordinate bond



Iy §Y (PfIAe 94)

Electrovalent bond

faqgawaish dy

Covalent bond and coordinate bond

eI aY IR TGy §Y (FIfEAe du)

Correct Ans : C

Subject : Agriculture One

Q.No: 148 prapen following-

2405057

1) H.O (a) electrovalent bond
(1) NH.Cl (b) covalent bond
(1ii) NaCl (c) coordinate bond

(iv) Carbon tetra chloride (d) covalent bond

TAFTeITad &1 &

(i) H.O (2) faegawarsi e

(i) NHsC1 (b) TG g

(iii) NaCl (c) GHeET I (RIS I

(iv) Carbon tetra chloride (TSe CCIFaRISS)  (d) HEadTsid geT

(@) | () | (i) | ()
a b c d

(1) | (@) | (i) | (iv)

W | G | G| o)

@ | G | G| o)

@ | G | G| o)

(i) | Gi) | Gi) | (iv)




(i)

(i)

(iii)

(iv)

d c a b
D

(@ | (i) | () | (i)

d c a b

Correct Ans : D

Subject : Agriculture One

Q.No: 149 Find odd one out.

2405058
e @ fawm 3ma #ifsm)
Carbon-tetrachloride
A
P STTRINTES
Nitrogen
B
Ego
NacCl
C
LEEI
Carbon-dioxide
D

P SZATRIZS

Correct Ans : C

Subject : Agriculture One

Q.No: 150 Which of the following is not a physical property?
2405425 fgfafea & § HH9-91 te Hifaw 1o 6t 82

Melting Point

A

AR

B Boiling Point
BYAD

C Solubility
fadgar

D Reactivity

Correct Ans : D

Subject : Agriculture One

Q.No: 151 Which of the following is the early stage of stem branching?

2406202

Fofafad & § o9 a1 Irarsi § deq o1 IRfYS TR0 82

A Exogenous




T

Endogenous
B

et

Superficial
C

weet

Party superficial and partly endogenous
D

It Fag SR 3 +u & Siawita

Correct Ans : B

Subject : Agriculture One

Q.No: 152 What is the quickest method of breeding a plant?
2407164

UGy Yo B e ao fafy o 82
Introduction
A
=
Selection
B
g
Hybridisation
C
GEZL|
Mutation Breeding
D

IAfkad= =T

Correct Ans : D

Subject : Agriculture One

Q.No: 153 Somatic hybridization is accomplished through
2407165

I YehUT b HIEH I U fpar el &

Grafting
A
TR
Conjugation
B

g

C Protoplast fusion



MR RS

Recombinant DNA technology

TH: TUiei e Wit
Correct Ans : C

Subject : Agriculture One

Q.No: 154 Where is Sugarcane breeding research institute is located?
2407166

T S SHYT SR Fel fRud 82

Uttar Pradesh

A
il il
New Delhi
B
% feeeht
Tamil Nadu
(o
aftrerrg
Madhya Pradesh
D

T Y

Correct Ans : C

Subject : Agriculture One

Q.No: 155 What is the Control unit of the cell is -

2407167
HIRHT P 07 3PT% © -
Nucleus

A
EURED
Cell wall

B
JAd ara (ST fufa)
Cytoplasm

C
PIHRIBT 530
Ribosomes

D
e

Correct Ans : A

Subject : Agriculture One



Q.No: 156 Which of the following are the two basic phases of the cell cycle?
2407168

fofafea & § B9 HRET 96 F 3 ghTE! R g2

Mitosis and meiosis

A
TR fyuTer SR sl favrer
Mitosis and Interkinesis
B
IR ok gerargARe
M phase and interphase
(o
TH W7 3R $eXbd
Phases DG1 and G2
D

RO DG1 3R G2

Correct Ans : C

Subject : Agriculture One

Q.No: 157 Where Anemophily type of pollination is found?
2407171

T UBR BT WRATU gl Urdm Srdl 82

Vallisneria
A
EUREEIS
Salvia
B
wnferar
Coconut
Cc
e
Bottle brush
D

EIGRER

Correct Ans : C

Subject : Agriculture One

Q.No: 158 Where does wind pollination happen most easily?
2407172

Y& TR el S 9 Bel gl 87

A Lilies



Legumes
B

st

Grasses
(o

u™

Orchids
D

ifds

Correct Ans : C

Subject : Agriculture One

Q.No: 159 Which of the following is not correctly related to plant breeding?
2407173

fraffed & & o urey yore § e 78 §2

Helped to increase the yield of crops
A

Hadl Bl SUS 9eH | HG DI

Purposeful manipulation of plant species
B

Het #t yenfral #1 IgRagel B

Gives disease-resistant plants
C

T wferyeh e e B

Not suited for cultivation
D

@t F forg Suge a8t

Correct Ans : D

Subject : Agriculture One

Q.No: 160 What is the technique of micropropagation?

2407174
geq yad Bt a1 82
Multiple root production
A
TS &€ e
Somatic embryogenesis
B

AT Yoo

C Growth of micro organisms on culture medium



Tepfa ATEd W ged ofial @ g

Multiple shoot production and embryo rescue

THIIF ¢ I AR YU F919
Correct Ans : B

Subject : Agriculture One

Q.No: 161 Which of the following is undecided in classical plant breeding practices?
2407175

fafofad & § S IR Uy gor yuteh # =i T8 82

The hybridisation of pure lines

A
5 @137 BT HHI0T
Artificial selection of plants
B
qieif a1 Hw =
Desirable traits of higher yield
C
YT IuS & qrE-g AL
Molecular biology
D

e sia fag=

Correct Ans : D

Subject : Agriculture One

Q.No: 162 Where can Haploid plantlets be produced?
2407176

FISS Wieaed &1 JdTe- Hel [l ol qabdl 82

Pollen culture

A
WRIT HPf
Cotyledon culture
B
e depfa
Embryo culture
C
YOI Hpher
Meristem culture
D

afveew wwpfa
Correct Ans : A

Subject : Agriculture One



Q.No: 163 What are the repeating units of nucleic acids?
2407177

ke TRIS 3 AT o e g €2
Phosphate molecules
A
Wiehe Y]
Nucleotides
B
YfFmdterss
Bases
c
argf
Sugar molecules
D

i+t F 3rp
Correct Ans : B

Subject : Agriculture One

Q.No: 164 What is the name of outermost boundary of the cell?
2407178

FIRHT B Y T AT BT AH R F?
Plasma membrane
A
T foreett
Cytoplasm
B
DI 51
Nuclear membrane
C
Smurfa fareedt
Mitochondria
D

HIgtPIgar

Correct Ans : A

Subject : Agriculture One

Q.No: 165 What is the second law is of law of Mendel?
2407180

Tl BT g1 1| B & 82

A Segregation



YYFHIT

Dominance

B

HHTq

Independent assortment
(o

RECERGEANE]

Polygenic inheritance
D

TS .
Correct Ans : C

Subject : Agriculture One

Q.No: 166 What is the transmission of characters from one generation to the next, that is from parents to offspring is known as-
2407181

TP Ui ¥ g8 Nt &, ol mrar-far S Jam F deo & =Ro1 B Bl S 8-

Genetics
A

SrgafRrast

Heredity
B

RIS

Mutation
C

Jafad=

Recombination
D

PERRIEE]

Correct Ans : B

Subject : Agriculture One

Q.No: 167 Pollen from one flower is carried to the stigma of another flower of the same plant or a different plant of the same species in:
2407182

TP Bl ¥ WA 61 I TN & R Bl 1 I S & T 31erT QY F afdfep™ dep & wrm S @

Self Pollination

H URTT0T

Cross Pollination

UR UIRTTOT

C Fertilization



ICLER]

Diffusion

TR
Correct Ans : B

Subject : Agriculture One

Q.No: 168 Intine of pollen grain composed of:

2407183
TGO BT 3 HU I &1 BIehl &
Lipid and protein
A
faftrs oiiv W=
Cellulose and Pectin
B
et SR Afde
Pectin and Lignin
C
AT ok o
Lignin and cutin
D

fafm ofik e

Correct Ans : B

Subject : Agriculture One

Q.No: 169 The process of transfer of hereditary character from one generation to another is known as
2407184

IR TR & T Nl A o) N A AR S ubm deardis. 2
Genes
A
i
Mutation
B
Iafadd
Variation
C
QAR - derd
Genetics
D

Correct Ans : D

Subject : Agriculture One



Q.No: 170 Breeding crops for improved nutritional quality is referred as:

2407185
YgR TINUT UM & o TST Hal o el Sl &
Biomining
A
SrarATE T
Biomagnification
B
g smata
Biofortification
(o
TG B H
Bioremediation
D

Sifee SR

Correct Ans : C

Subject : Agriculture One

Q.No: 171 A stem nodulating green manure crop, sesbania rostrata is photoperiod sensitive crop, to overcome this BARC, mumbai developed which
2407186 mytant variety?

T TR 3 B, ISR AT T a1 AT BleiRars FaGTid HId §, 39 Bl g2 B & o7 LR, T8 A $H A IaRad v TR 12

Yghu
A

g

TSR-1
B

EITHeR-1

BAR-II
C

dR-I1

APJ-1
D

TiS-1

Correct Ans : B

Subject : Agriculture One

Q.No: 172 The process by which genetic variation are created through changes in the base sequences within genes is-
2407187

I8 Tfspar SR gRT ST & fidR SMUR 3gepdl H URacH & A1 ¥ Tafie firmd SO gl 3-

A Plant breeding



YT BT UTe= Ty

Interspecific hybridisation

B
3id: fafdry d&=ur
Outcrossing

C
STSTHIRT
Mutation

D
IaRad

Correct Ans : D

Subject : Agriculture One

Q.No: 173 Type of cell division takes place in apomixis is:
2407188

TOARTE # g UBR &1 IR fIHTSH gt 872

Reductional

A
BUMTHD
Meiosis
B
SfRpAfaveH
Reductional and Meiosis
C
BUTHS 3R G faureq
Mitosis
D
i

Correct Ans : D

Subject : Agriculture One

Q.No: 174 Which of the following components provides sticky character to the bacterial cell?
2407189

Frafifad # § S 1 Ues Sia1y] ST S Rt aiE e i 82

Cell wall
A

I 9

Nuclear membrane
B

3murfas fareedt

C Plasma membrane



e fareett

Glycocalyx

TATSHIBITRT

Correct Ans : D

Subject : Agriculture One

Q.No: 175 The law of dominance is applicable in inheritance of:

2407190
Yy &1 99 F1 farrad & arg giar 3:
Seed colour in pea
A
TeR § e &1 9
Flower colour in Mirabilis jalapa
B
frfafera srara & wat &1 @
Starch grain size in pea
C
TeX § W A T ATFR
Roan coat colour in cattles
D

TR # A3 Pl BT [
Correct Ans : A

Subject : Agriculture One

Q.No: 176 Among the following character, which one was not considered by Mendel in his experiments on pea?
2407191

fFoafifad & § fbg aie W dsd 7 7ex R 3o wait § faur =€l fabar ur?

Stem - Tall or Dwarf

A
T - T gt T
Trichomes - Glandular or Non-glandular
B
TR - TG 1 AH-TAgaT
Seed - Green or Yellow
C
ot - g A dien
Pod - Inflated or Constricted
D

TS - GarT a1 GHid
Correct Ans : B

Subject : Agriculture One



Q.No: 177 Magnetic flux associated with coil is directly proportional to:
2408221

PUST U TG YIPIT Ui febdeh FHRIUTC Ehefl &
Current flow in it
A
T yaifed 4RT %
Length of coil
B
Fs 9 g ¥
Resistance of coil
C
FusHh & vRRY F
All of the given option
D

feu @ Mt fawe

Correct Ans : A

Subject : Agriculture One

Q.No: 178 In the given circuit the current through the battery is:
2408223

302

7.202

fau e ooy & §e& § ToRA ITen U4 §:

8Q

7.2Q

0.5A
A

0.5A

1.0A
B

1.0A

C 1.5A



1.5A
20A

20A
Correct Ans : A

Subject : Agriculture One

(224'\(]')082;779 Four resistance are connected in circuit as shown. The electric current
through the 40 and 6 Q resistance are respectively:
10 ]
o] a2
20 v
e aw FER dfdhe 7 AR 9fekia 53 §U 81 4Q AR 6Q & gfog &
HAregd ¥ fdedd vds &AM b
40 e
i1 9]
20v
2A and 4A
A
2A 3R 4A
1A and 2A
B
1A 3R 2A
1A and 1A
C
1A 3R 1A
2A and 2A
D
2A 3R 2A

Correct Ans : D

Subject : Agriculture One

Q.No: 180 The SI unit of magnetic flux is the
2408236

4SBT Yalg F SI 3T Bl

A Mhow



Weber
B
IR
Tesla
c
&l
Coulomb
D
e

Correct Ans : B

Subject : Agriculture One

Q.No: 181 Who among the following gave the proof of light being an electromagnetic wave due to the combination of magnetism and light?
2408238

9 & P T 3R UBT & TUISH | UHT & fAgYd Trab g axT - BT T f&ar?

Newton
A
e
James Maxwell
B
ST AgEdd
Faraday
C
L3ic]
Fleming
D
AT

Correct Ans : B

Subject : Agriculture One

Q.No: 182 According to Fleming's left hand rule, "When we arrange the thumb, middle and index finger of our left hand perpendicular to each other,
2408247 \hich direction will the index finger represent?

AT & 910 BT & FOHIER 7 59 89 8UR §1¢ §1Y & ALY, WEIDT quT doi! &I Uh GER & Tadd oaieud B 8 dF qo! 1w T BT {32 o gwiwde

Force on the conducting wire

AP IR W T 918 9

Current flowing in the conductor wire

Irdad aR o vared 4RI

Cc Magnetic Field



Ecieior

Magnetic Flux

TEDIY FI
Correct Ans : C

Subject : Agriculture One

Q.No: 183 Which of the following statements is not correct?

2408341

9 & o 1 FYT 9 T 72

Minimum distance of clear vision is 25 cm
A

Ty =} &t graw gt 25 I R

The image/jpg of the object in the eye is formed on the Cornea
B

A7 § gvg &1 wfafera Si-ar ® aa §

The human eye has a convex lens.
C

Hra 3 § S99 g

The image/jpg of the object in the eye is formed on the retina
D

A ¥ g @1 wfafee YT W e @

Correct Ans : B

Subject : Agriculture One

Q.No: 184 A person uses -2 diopter glasses, what type of visual impairment does he have?
2408342

T AT -2 STNPR BT I<HT TN Bl 8, 39 58 YR o1 = 9w 872

Myopia
A
e = 3w
Presbyopia
B
ST 2R g
Cataract
C
Hifaanfae
Hypermetropia
D

Wy

Correct Ans : A

Subject : Agriculture One



(224'\(‘)08314835 When the final image of the astronomical telescope is formed at infinitv, what will be its magnifving

power if the focal lengths of the objective and the eve lens are f; and f,. respectively?

o @ae gyaslt &1 faw ufdfess seid W &t df sud wEde aHar F=&1r gl 3y
stEeras 3R AfFwr &7 & ww gl FAT:{, Ta £ 87

M=f,+f,
A
M=f,+f,
M=f,-f.
B
M=f,f.
= -(f,/ fo)
C
= (/£
= (f./fy)
D
M= - (f./f,)

Correct Ans : C

Subject : Agriculture One

Q.No: 186 Which of the following can be the cause of myopia?
2408344

g & @ @1 fwe =P AT BT HRU JoaT 872

Increase in thickness of eye lens

A

A7 A9 B HieTs g¢ ST

Increasing the focal length of the eye lens
B

37 3 B Biew g 9 @ S

Increase in radius of eyeball
C

A7 T Bt Brsar § 9fS & s

Reducing the focal length of the eye lens
D

A A P Bied gt § i & Wi
Correct Ans : B

Subject : Agriculture One



Q.No: 187 yrpih of the following can be/are the causes of farsightedness?

2408345
e & Sl @18 ¥ =T a9 FFRT T FRAR?
Decreased thickness of eye lens
A
4 o B Hiers B9 g 9
Increase the focal length of the eye lens
B
47 79 9 wiew gl # gfa
Increased diameter of the eyeball
C
A= MA® BT A | gie gt S
Decreased diameter of the eyeball
D

AT NP T A & H g A=
Correct Ans : C

Subject : Agriculture One

Q.No: 188 Which of the following statement is not correct about simple microscope?
2408346

9 & P W Fy W gemex & g ¥ udt 7 72

A convex lens is used in simple microscope.

A
T geresll § U Sud o wanT fear o @
The focal length of the convex lens used in simple microscope is very large.
B
TR Gere A wgad IWa A9 P Bler gt 9gq e gt €
The size of object in simple microscope depends on the angle of vision made by it on the eye.
C
TR GEAGRT § a¥g BT PR IUP §RT AT W 91 =04 $I0T R R war @
Magnification power of simple microscope =1 +D/f
D

Tl gaAcel 1 3l aAar 1+ D gl o

Correct Ans : B

Subject : Agriculture One

Q.No: 189 Which of the following statements is not true for a compound microscope?
2408347

g A 1 1 By UG geresl & Ry ad 78 82

A Compound microscope has two lenses



g geret A AW g1 B

Both lenses are convex lenses

B

Both lenses are concave lenses
(o

31 & oraad B 8

The focal length of the objective lens is lesser than that of the eye lens.
D

IMews o9 At Biew gl AP a9 A A A

Correct Ans : C

Subject : Agriculture One

Q.No: 190 Which of the following statements is not correct with respect to the telescope?
2408348

P & Yey § Fefafad § o9 @1 By 98 T8 82

Telescope has two lenses.

A
ety & @ A B9 B
Both lenses are concave lenses.
B
1 A 3aae A §1
The focal length of the objective lens is greater than that of the eye lens.
C
s AW Bt Biew gl A7 79 B Brew g § Sifie gl 31
When the light image is made in Infinity, the length of the telescope L =f; + fe
D

STd WehTel & Fiaidd 3ad & aeial g, of oudie @ sars L=1f; + fe

Correct Ans : B

Subject : Agriculture One

Q.No: 191 Which of the following statement is not true for the Human eye?

2408349

9 & o W HY= e A7 & o w8 T 8

All the image/jpgs of the eye are formed on the retina.
A

F7 & At wfafees e R aa B

The conical cells present in the retina are sensitive to colours.
B

IRAT F IJUTRA YPTHR HIRABIY i1 F g Fageher 1t B

C The circular-shaped cells present in the retina are sensitive to the intensity of light.



IR F SURRA §9 F IR BT PIRPTY UHT B g ¥ Rrg wdeT2hia gt 2

The ability of the eye to adjust the focal length is called the Accommodation of the eye.

A GRT BIHH gt B JUTEIRT B B GUal 77 Bt GHOH T Bgard! |

Correct Ans : C

Subject : Agriculture One

Q.No: 192 Which of the following statement is not correct?

2408350
9 & o o FUT 9 T 72
Myopia is corrected with the help of a concave lens.
A
e =¥ v &1 Farvr sraaa d #Y T I forar ST @
Farsightedness is corrected with the help of a convex lens.
B
W T IV BT AR 39d A9 B FergaT § fbar war §
Astigmatism is corrected with the help of a cylindrical lens.
C
gl &1 AR IeIPR o9 $t eraar | fFar wrar @
Presbyopia defect is corrected with the help of a Plano - convex lens.
D

SR Y I BT FaRu FHdaNT A9 $1 geaar 3 foear s @

Correct Ans : D

Subject : Agriculture One

Q.No: 193 Centrifugal pump transports liquids by converting ?
2408351
JUBET U uRafid 3R gt BT URaET FRaT 82
Hydrodynamic energy into kinetic energy
A
TS ISTANASE Sulf i Tferet St o
Potential energy into kinetic energy
B
fRufae St ot faw St o
Kinetic energy into hydrodynamic energy
C
RS Sl $) TSNS ol §
Mechanical energy into hydrodynamic energy
D

Tifye ol B eESSHAIE Hul A
Correct Ans : C

Subject : Agriculture One



Q.No: 194 Which of the following statement is not correct?

2408553

9 & o 1 FY e TE 72

Electric charge was discovered by Benjamin Franklin
A

Riged omaw 9} Tt Fohr R 3

There is a force of repulsion between the same charges
B

M I & S wfaesyor g T &

There is a force of attraction between opposite charges
c

faudta smaw @5t S smreyur a@ TR ¥

The force between two electric charges can be obtained by Ohm's law
D

3t & Frgm 3 & fagyd smazi &t dia @A aren aa wIe far o wwdar @

Correct Ans : D

Subject : Agriculture One

Q.No: 195 Which of the following statement is not correct?

2408554

19 & S T By I L 22

On increasing the temperature, the resistivity of the conductors increases and the conductivity decreases
A

17 92 W I P AfRIEdT gt @ 3R Araedr gedl &

On increasing the temperature, the resistivity of semiconductors decreases and the conductivity increases
B

9 e W iefaras! aferteudmar gedt § ok arasdr ggdt @

At 0°C all semiconductors are conductors
C

o°c Rt rared ared B &

Tungsten is used in the bulb because of its high melting point and low resistivity
D

I TP 3N FH UfRIYUPAT b PRI SIS T UGN ged | fh4T SITaT @
Correct Ans : C

Subject : Agriculture One

Q.No: 196 The resistance of a wire does not depend on which of the following?
2408555

fret aR 1 ufeRly g & forg R ARk =) a8

A Volume



Length
B
SEIES
Lateral Area
C
a1 garwa
Substance
D
werd

Correct Ans : A

Subject : Agriculture One

Q.No: 197 Which of the following statement is not correct?

2408556
frafefEa & @ H19 a1 Hu T 7 82
Ideal ammeter has zero resistance
A
et arfer BT wfeRy Xy g €
The resistance of an ideal voltmeter is infinite
B
T ey Qeeier BT uRRIY 3T BT §
The unit of resistance is Ohm
C
wfeRte A 518 oiF 7
The unit of capacitor is Henry
D

HuTRA @1 3318 8 T8

Correct Ans : D

Subject : Agriculture One

Q.No: 198

2408557 1o get 2 Q resistance using only 6 Q resistors, the number of them required is

el 6 UFORIT @ SUSHT eh 2 UToRIT UTH o & Torw, 3981 & 3aedd 8 &

2



6
Correct Ans : B

Subject : Agriculture One

Q.No: 199 Galvanometer can be converted into voltmeter:
2408558

AeTfieR 1 dredier § Sga o FavdT 82

High resistance wire in parallel order
A

P URRIY BT IR FAFR 59 |

Low resistance wire in parallel order
B

FH YRy T IR FAR H9 &

High resistance wire in series
C

i gfeRiy &1 arR Aofisea &

Low resistance coil in series
D

U gl T ar Jofiery &
Correct Ans : A

Subject : Agriculture One

Q.No: 200 Which of the following statement is not correct?
2408559

P & B o sy I T 82

The wiring in the houses is connected in series order
A

o # arafer doft mu A g @ R

The frequency of dc is zero
B

Ryt s g @

AC can be converted into DC with the help of rectifier
C

fep®r 31 "eTaar ¥ AC B DC & SEar 1 w1 &

The unit of conductivity is mho
D

TS HT WS T T R
Correct Ans : A

Subject : Agriculture One






